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YEAR 2004

Bhuvnesh has drawn an angle
of measure 45°27" when he was
asked to draw an angle of 45°. The
percentage error in his drawing is
e A 45° F RIH W 45° 27w
Fo7 g4 gfaee Ffe wma R

(a) 0.5% (b) 1.0%
(c) 1.5% (d) 2.0%
YEAR 2006

In a regular polygon, the
exterior and interior angles are
in the ratio 1 : 4. The number
of sides of the polygon is

et sges |, ey qe 3 HO H
FIE 1:4 B wEYS H S S H2
(@S (b)I0 (¢)3 (d)8

YEAR 2007

The sides of a triangle are in the
ratio 3 : 4 : 6. The triangle is :

ﬁq'mﬁgmaf}wq346zﬁaﬁqmﬂf)

F o 2

(a) acute -angled f o

(b) right- angled g, \
(c) obtuse- angled f"” =
(d) either acute- ang?gd br r1ght—

angled T
FAT

YEAR 2008

If the length of the three sides
of a triangle are 6 cm, 8 cm and
10 cm, then the length of the

median to its greatest side is
foredt fos =51 99 99 6 cm, 8 ecm
da 10cm &1 E#H Ta€ 92 951 W
ifereRt 1 o 91 w7

(b) 6 cm

(d) 4.8 cm

(a) 8 cm
(c) S cm

536 |
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If the circumradius of an equ-
lateral triangle be 10 cm, then the
measure of its in-radius 1s

afy fredt wmal Be =t awE-fen
10 cm ¥, 9 SO stiafe e 9 =67
(a) S em (b) 10 cm

() 20 cm (d) 15 cm

O and C are respectively the
orthocentre and the circumcenti
of an acute-angled triangle: P
The points P and O are joifié
produced to meet the si e QR at
S. If ~PQS=, 60° o

ZQCR=130° thé’g &RPS =

MWW@% APQR #fg 0
T{ECWW{@E’ a ufiFs &
ﬁﬁP@O#ﬁfﬂmwawr@aﬁ
ma@%@qgm OR fig 71 S ™
'rtraﬁm T Az ZPQS = 60° wom

T S

“@CR = 130° ®, W /RPS =?
(a) 30° (b) 35°

? |c) 100° (d) 60°

In AABC, AD is the internal bi-

sector of ~A , meeting the side
BCatD. IfBD=5cm,BC=75
cm, then AB : AC 1s

fFdt A ABC ®, ADFW LA H
aiafes fgris & qen g1 BC %1 5y
D w foern €1 4ff BD = 5cm , BC =
7.5cm @, 9 AB : AC 2

a)2:1 (b)1:2

(c)4:5 (d)3:5

1 is the incentre of AABC,
sABC =60° and ~AcCB = 50°.
Then ~BIC 1is

I, AABC  3fa: &% 2

/ ABC = 60° %17 £ ACB = 50°
&, @ ,BIC ®

and

11.

12.

13.
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(a) 55° (b) 125° (c) 70° (d) 65°
The in-radius of an equilateral
trianglesis of length 3 cm.
Then yﬁé }cng‘th of each of its
medians' is

ﬁ@mﬁ@ﬁgmﬁmﬁw 3cm

:--"T:rl g’l I T T = F

T .4‘(

(a) 12 em

Sl

(b) E cm

(c) 4 cm (d) 9ecm

Two medians AD and BE of
A ABC intersect G at right angle.
If AD =9 ¢cm and BE = 6 cm, then
the length of BD (in cm) is

f&dt AABC =t @ wifegamd AD ud
BE |, fig G W g9 W Tauifam sier
#1af* AD=9 cm 71 BE=6 cm &,
@9 BD & o cm ¥ A6 H1?2
@10 (b6 (95 (d)3
The difference between the
interior and exterior angles at a
vertex of a regular polygon is
150°. The number of sides of the
polygon is

TRET FgHs & T=iiE de 9
HIOT F =X 150° €1 wgEw w
Tl ® WEa 9 F 7

(a) 10 (b) 15 (c) 24 (d) 30
Each interior angle of a regular
polygon 1s 144°. The number of
sides of the polygon is

el SIS =1 v SMiafi For 144°
B WEYS 1 qWie F g F\ F:12
(2)8 (b)9 (o) 10 (d) 11

If the sum of the interior angles
of a regular polygon be 1080°, the
number of sides of the polygon is
frdt sgqe + oraits =0 H1 A
1080 21 =gqs #I e # dean
A FE?
(@) 6

(b) 8 () 10 (d) 12
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14.

15.

16.

17.

18.

19
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The number of sides in two
regular polygons are in the ratio
of 5 : 4. The difference between
their Interior angles of the
polygon is 6°. Then the number
of sides are

T g W el 1 HEemsi w1 S
5:4 % afs sgysl # o7afe i 5

3T 6° &, a1 e wt e 9| w7
(a) 15, 12 (b) 5, 4
(c) 10, 8 (d) 20, 16

Each internal angle of regular
polygon 1s two times its external
angle. Then the number of
sides of the polygon 1s :

feedt agyqs *1 Afafid w0 IHE
ard ®v 8 T PN B agEs w
oEaT w1 HEA WW w2

(@8 (b6 (S5 (d)7
Ratio of the number of sides of
two regular polygonsis 5: 6 and
the ratio of their each interior

angle 1s 24 : 25. Then the
number of sides of these two

polvgons are

Tl AL HI A F FE=A F A
5:6 a1 S99 iafieh Hvl w1 A
24:25 21 d ¥ AT agEs Hi
ATt T HEAr 9| w2

(a) 10,12 (b) 20,24

(c) 15,18 (d) 35,42
Measure of each interior angle of
a regular polygon can never be :
foredt seqa = a7aflis | H1 99 F
off T & Tk 2

(a) 150° (b) 105° (c) 108°(d) 144*",;»’*g

20.

29,

22

23.

,,,,,

The length of the diagonal D ) “"‘1

of the parallelogram ABC
18 cm. If Pand Q arethe ogﬁtt‘did

of the AABC and/;AADC
respec-tively then t }?{'{g‘th of
the line segment PQ%s

BD # #F 18 cm % afz fig P ud
Q,AABC @ AADC % 5%
(FE-#) @, 9 E-mme PQ Wi

g S HL?
(a) 4 em (b) 6cm
(c) 9 cm (d) 12 em

The side AB of a parallelogram
ABCD is produced to E mn such
way that BE = AB, DE intersects
BC at Q. The point Q divides BC
in the ratio

24.

AR =qdst ABCD #1 g1 AB #1 25. The ratio of the angles 4 and

fag E @& 79 o 9™ T ¥ BE =
AB, DE, BC =1 fag Q ® wfr=sfim
Frdt 21 fag Q, Yan BC = fipm arquma

¥ famifem wwt 2
a) 1:2 (b)1:1
(c)2:3 (d2:1

ABCD is a cyclic trapezium such
that AD[IBC, if +ABC =70°,
then the value of ~BCD is:

TF T e wqes T W €,
ADBC, 3f§ ABC =70°, @@
/BCD %1 WA I *{?

[a) 60° (b) 70° (c) 40° (d) 80°
ABCD is a cyclic trapezium whose
sides AD and BC are parallel to
each other. If ABC =72°, then

the measure of the ~BCD 1is
TF THE g 9q8d @ WER 8,

ot qemd AD @en BC ﬂ'qm-—dy%ﬁ
afs L ABC =72°@4 +BCBH a@}ﬁ
d F:L? f 4

a) 162°(b) 18° (c]“108° T‘d) 72°
If an exterior an e f.a cyclic
quadrilateral be 505 thén the in-
terior oppomgey angle is :

afe farell <A, mﬁa F1 AR HOT
50° & ‘-a@%ﬁwmmaﬁ?

(a) 1 Wg}?j":to“ (c) 50° (d) 90°
hrgt

.18 a rhombus. A straight
rough C cuts AD produced
{ {‘ and AB produced at Q. If DP

1
3= 5 AB, then the ratio of the

length of BQ and AB 1s
ABCD u# % wigdst @1 e fig C
| et  9en AD %1 fag Pasn AB #1

%Qmuﬁaﬁamﬁ%laﬁm:%

AB, 7@ BQ @1 AB &1 27U I Fi7
(a) 2:1 (b) 1:2 (c) 1:1 (d) 3:1
In a quadrilateral ABCD, with un-
equal sides 1f the diagonals AC and
BD mtersect at right angles then
et =qfs ABCD |, fomal <mi et
agaM ¥, % fawol AC7en BD U% 30t
# TE W fawfed w1 1 TE

(a) AB? + BC? = CD? +DA?

(b) AB2 + CD? = BC? +DA?

(c) AB? + AD? = BC? +CD?

(d) AB? + BC? = 2(CD? +DA?)

2B of anon-squarerhombus ABCD
is 4 : 5, then the value of /C 1s:
el wm-wgfs ABCD, =i = =8 €,
FHON 4 AW B F AT 4:5 71
T RO ,C FOAE TG FL?

() 50° (b) 45° (c) 80° (d) 95°

26. ABCD is a rhombus whose side

AB =4 cm and sABC =120°,
then the length of diagonal BD
is equal to :

ABCD t# gaugis ®, ool gqen
AB =4 cmd LABC =120° %,

= forgl BD %1 o @ #wie
(@) Dem/ (b) 2 cm
(c]{ae;;én (d) 4 cm

27g Thv; len.gth of a chord of a circle

O™

_is equal to the radius of the
“circle. The angle which this

’y”',é' chord subtends in the major

segment of the circle is equal to
foredt 30 =t Sitar suEt B & aua
21 39 F01 F1 UH T F, S JE S
4 gu-wvs W A €2

() 30° (b) 45° (c) 60° (d) 90°

28. AB =8 cm and CD = 6 cm are

two parallel chords on the
same side of the centre of a
circle. The distance between
them is 1 cm. The radius of
the circle is

AB =8 cm @2l CD = 6 cm &t 919
® HE F T AR 2 FAARR S gl
39 a9 # gt 1 em B g9 # G

A L7
(&) 5 em (b) 4 em
(€) 3 em (d) 2 em

29. The length of two chords AB and

AC of a circle are 8 cm and 6
sBAC = 90°, then the
radius of circle is

5 St AB den AC &+t @& 8 cm
q° 6 cm § 991 ,BAC = 90° |, 9
g9 =t e am w12

(@) 25 cm (b) 20 cm

(c) 4 cm (d) 5 cm

cm and

30. The distance between two par-

Copyright © All Rights Reserved | https://spardha.guru/

allel chords of length 8 cm each

in a circle of diameter 10 cm is
B FHARR 8 cm Jfel Siansl & &= wF
f 5 =%, fore g9 w1 == 10 cm B
(a) 6 cm (b) 7em

(c) 8 em (d) 5.5 cm
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31. The radius of two concentric 36. Two circles touch each other 40. The circumcentre of a triangle
circles are 9 cm and 15 cm. If externally at point A and PQ is ABC is O. If ,BAC = 85° and
the chord of the greater circle a direct common tangent which . B
be a tangent to the smaller touches the circles at P and Q £BCA= T5° then the walie of
circle, then the length of that respectively. Then PAQ = s 0AC 1s
chord 1is :
s " : = A A ABC # U@z 0% 2BAC=
3l gah=<g g9 Ft 5570 9 cm A= 15 ﬁ_ﬁ@@, a@mﬂi‘aﬁ
R A qw  ° W o0 0 POwE smim W g5e qen spca= 75° %, 7a
el T &, 79 e # T 9| w0 e &, S <l ol A1 fage Pawn Q T g
(c) 30 cm (d) 18 cm ’ . . . ) )
39. If chord of a cfcle of tadids 5 cm (a) 45° (b) 90° (c) 80° (d) 100 41. Let O be the in-centre of a tri-
is a tangent to another circle of 37. PR is tangent to a circle, with cen- angle ABC and D be a point on
radius 3 cm, both the circles tre O and radius 4 cm, at point Q. the side BC of AABC, such
being concentric, then the If _POR = 90°, OR= 5 cm and
length of the chord is = - ’ that O ;;_‘ Bc. If «BOD = 15°,
'ﬂmﬁﬂ,Scmfﬂwaﬁﬁﬂ 20 t]flel@ ,‘@C_
Ft SiEn, 3 cm e e gw W et OP = — cm, then ( in cm) the
e % Sftan # o | w12 8 qlﬂﬁﬁ‘*bfﬁﬁﬁABC?ﬂaﬁ % 2
(a) 10 cm (b) 12.5 cm length of PR 1s : ‘ 0w D 951 BC W ¥9 Wb oo 2,
a3 ’[1?1:]180m ldl?crg O %% @ 4 om Feal 919 99 % &5 4 OFF oD L BC 7k £BOD = 15° %,
: e two tangents are drawn at 71 PR -1 I | T e
the extermities of diameter AB Q= v e 2 < v/ @ zABC=?
of a circle with centre P. If a £POR =90°, OR=5 cm 'd&]ToQE (a) 75° (b) 45° (c) 1507 (d) 90°
ta{:lg';:e(rjlt‘ tto thi C:];"Clethat :‘l;e 20 w 3+ 42 The points D and E are taken
point C intersects the other two o R 3 .
tangents at O and R, then the 3 cm &, 7@ PR =f Eﬁ@jcm} on the sides AB and AC of
measure of the ~QPR is ¥ 9 F47 1
5 - ’ . such that AD = —AB,
P#% o/t gd & =9 AB & #faw f/w= AABC such tha 3
fagedi @ & vl Y EiE oAk @3 (b ]_(]_
==t 1
g Ca1 s el il e e, B ?{ ¥ AE = — AC. If the length of BC
Qo @e # Q N R W a=fid 38, Two chor‘d“;\ﬁﬁland CD of arcle 3
Fl €12 QPR H UF | F17 whosiyggnﬁ‘e is O, meet at the is 15 cm, then the length of DE
(a) 45° (b) 60° (c) 90° (d) 180° poin ﬁ and Aoc= 50°, is :
34. AB is a chord to a circle and PAT ;JQD 40°, Then the val ¢ AABC # g D@l E 51 AB qel
is the tangent to the circle at {'(‘“B SRR TENee
A.If /BAT =75° and ,BAC = CLBrp is a 1
45° and C being a point on the :& O #% =el gd &1 & Sfad AB a9 AC W 38 w#R ¢ f% AD = EAB’
circle, then ARC i1s equal to®_J D TF-T F g P W ufesfa 1
AB TF qﬁmjii;m%am PAT@&TWA” 7 € q91 2A0C = 50°, ~BOD =40° AE = gAC%,'-‘]ﬁBCEﬁmﬁ' 15
ﬁ%oA.q? l AT_ %I ~BPD sﬂaﬁ? ) )
75° qd \ZBAC 45° g;ﬁ » [ﬁ] 60° (b] 40° [C) 450 (d] 75° cm &I, ?ﬁ DEﬁ m A ﬁf
w g ¥ 24ABC X 39. A straight line parallel to BC of ] L0 oig (b) 8 cm
(a) 40° (b) 45° {c) 6@5 fd] 70° ; (c) 6 cm (d) 5 cm
35. The tangents at o,points A and AABC intersects ABand ACRE 45 'y any point on side AC of

info@spardha.guru

B on the circle wj'fh centre O mn-
tersects at P. If in quadrilateral

PAOB, ~AOB: APB =5 1,
then measure of ,APB 1s:

fret O = ol 9a W feum 51 forgat
A gen B 9 =it e wyl Y Pw
yfeesfeq et €1 aft =qds PAOB ¥,

points P and Q respectively.
AP = QC, PB =4 units and AQ =9
units, then the length of AP is :
BC #% ¥R TF @1, AABC #i
el ABA1 ACHI g Pwd Q @
whresfea =< €1 AP = QC, PB =4
= Fo AQ = 9 7fF2 ¥, 79 AP #i

AABC.If P, Q, X, Y are the
mid-point of AB, BC, AD and DC
respectively, then the ratio of
PX and QY is

AABC @ s AC W fag D feerg
#1 3 P,Q, X,Y %WI: 4= AB, BC,
AD, DC % 77 farg €1 79 PX @en QY

ZAOB: :APB= 3 1 9% e Fd H7 ;

” 3 ; EaRERR G A2
2APB ¥ &7 (a) 25 units (b) 3 units (@) 1:2 (b)1:1
(a) 30° (b) 60° (c) 45° (d) 15° [c) 6 units (d) 6.5 units €2 :1 (d)2:3

538 |
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44.

YEAR 2012

If the orthocentre and the cen-
troid of a triangle are the same,

AABC #, sBAC= 90° @ur

1 .
AB = BC#®,9 ZACB ¢l

(b) 4.5cm
(d) 24/3 em

(@) 343 cm
(c) 443. cm

then the triangle is; 56. ABC is a right an‘gled triar_lgled,
afe frdft Bye & o 3= 9 a5 (a) 60° (b) 30° (c)45° (d) 15° right angled at C and p 1s the
T £ 99 59 T\ F42 51. The length of the three sides of a length of the perpendicular from
(a) Scalene (b) Right angled right angled tnangle are (x-2)cm, 1C onhABf. tllrf A 3 anE(;I Cc SI}-\e thg
(c) Equilateral (Y cm and (x+2) cm respectively. ergtiy ot sices ’ =
(d) Obtu Thisi e valiae of 3 AB respectively , then
se angled en the value of x1s o
45. If in a tniangle, the orthocentre lies fret T e =t A9 qensti wr bk :ﬁ ABC , CTR WHh &, qe
on vertex, then the traingle is TR FEE: (=2)cm, (4 om T8 (e+2) feg CH “ﬂ'\ﬂ'l.AB T o A P
ot forge , o %, ¥ w feom 2 cm @, @ xF T TH T #1 afg «qweti BC, CA @ AB =i
GEREL ) @10 ()8 ()4 (d)0 TR HES: a, b A9l c 8,
(a) A.cute angled (b) Isos.celea 52. AABCbe a right-angled 1 _ )
(c) Right angled (d) Equilateral e o . 4 (a) T#_T
46. If the incentre of an equilateral ttiangle where £4.=00% ‘an LAY @
triangle lies inside the triangle AD 1 BC . If ar (AABC )= 40 ¢, f; '-g""jl i
and its radius 1s 3 cm, then the erf, o | Anep) = 10emf and (b}g}_%:—ng—g
side of the equilateral triangle is AC . o e this Hie Tength B g - a b
afy et wwmam ﬁ‘ﬁﬁi F S T, BC is o~ o’ . ;
ﬁammaﬁx&w%awmﬁm? AABC wH wERw Bt ﬁﬁ“’*lg (©) ?.Jr?-:_?_
e ¥, T8 BTG B ol W 2 £A=90° el AD L BC At )
(@) o3 ecm  (b) 643 cm same i e =4 ﬁ 1 _1 1
@272 2
(c) 343 em  (d) 6 cm AACD mm_] @?‘&W .
47 If ; : 57. The orthocentre of a right
i AABC 1s an isosceles AC=9 cm, 7 BC Flﬁﬁ'iﬂﬂ 7 oled triangle lics
ann. 5
triangle with ,C = 90° and AC (a) 12 cm ( &cm T e T
= 5 cm then AB is : (c) 4 cm f{dlﬁz 2 &) ;
AABC UF wafgarg faest 8, forer 53. In a triangly AB@’ <BAC = 90° (a) outside the triangle
F ,C —90° @M AC =5 cm $I and AD ig~ Rerpendlcular to BC. (b) at the right angular vertex
AB T 12 I;mfg?&ef{?nB%BD 4 cm then (c) on its hypotenuse
' the o 1s ¢ (d) within the triangle
o e (b} Lo A@?C #, sBAC =90° w4t 58. Each interior angle of a regular
(c) 542 cm (d) 2.5 cm {“Ap "l BE ¥ W AD = 6 cm T polygon is three times of its
48. If the circumcentre of a ];D=4 & 7 BC# e exterior angle, then the numb.er
triangle lies outside it, then the f 5 '& " crm el b 105! E e of sides of thg regular po}ygon is:
triangle is ~ ° ::}] g ‘;; {d} o ‘;frr:l forll A 1 e HT I A F
AABC %1 ufiE=, ﬁﬂaaﬂ“mﬁg; _ F1 3T B dE qgYS FI i w e
@ Frg 3 {., In a right angled AABC, W T
o = @ = =
(a) Equilateral (b) Acuteangled ZABG =90°,AB =3, BC =4, CA (@9 ()8 ()10 (d)7
(¢) Right angled s = 5; BN is perpendicular to AC, 59. The sum of all interior ang_les
[d] Obtuse angled jf AN : NC is olf1 a regulal; pcl)iy.gon is twice
49, 1 is the 1ncen§ﬁ »gﬂ‘a triangle TIHEUT AABC H, sABC = 90°, t Clsur{;ho = f;s c:;tc.rcllor
---- . angles. e number of sides
ABC. If ,AcB =(55°, zaBC = AB=3,BC=4,CA=5 & BN, I af tghe I
65° then the value of ~BIC is AC W &= 21 AN : NC 2 frdt wgae ® Safew FON w0 A,
I fiqs ABC %1 3fd: 3= #1 afg falgi“l‘ﬁ (zl?iiﬁ IUE @EA SN @ AN Hw; A [ B
+ACB = 55° @91 ABC =65° @, 19 2 _ ( ] ' TS FI S H T Fa FHL
55. For a triangle base is 6,/3 cmand (@ 10 (b)8 () 12 (d) 6
@ <BIC ¥ Hi7
= i ; . 5 two base angles are 30° and 60°. 60. The ratio between the number
(a) 130°(b) 120° (c) 140°(d) 110 . . . £t o 1 1
_ % Then height of the triangle is ol sides of two regular polygons
50. In AABC, <BAC= 90° and fedit ¥ i - is 1 : 2 and the ratio between
A 1 i & 3 on there interior angles is 2 : 3.
) BC, Then theimeasins SR HIM 30° q41 60° §l fags The number of sides of these
of LACB is: SR T L2 polygons is respectively
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61.

62.

63.

64.

65.
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ol ag *1 qensti & FEn F; A
1:2 qen 3 FHiafs =l % 37 2 : 3
Bl T WSl T NS I HEAT F F
(a) 6, 12 (b) 5,10

(c) 4, 8 (d) 7, 14

ABCD is a cyclic paralle-
logram.The angle B 1s equal to :
ABCD U& ®Hid =& =4 21 S0 B
FHA T FL2

(a) 30° (b) 60° (c) 45° (d) 90°
ABCD is a cyclic quadrilateral
and O is the centre of the

circle. If ~CcOD = 140° and
2#BAC = 40°, then the value of
+#BCD 1is equal to

ABCDUT# W& aqs{s & aa1 O 94
w1 &% € 4ft 2cop = 140° &,
/BAC=40° ¥, @ ,BCD ¥ ®{?
(a) 70° (b)90° (c) 60° (d) 8O°
ABCD 1s a trapezium whose
side AD 1is parallel to BC,
Diagonals AC and BD
intersect at 0. If AO = 3, CO =
x-3,BO=3x-19 and DO = x—
5, the value(s) of x will be :
ABCD U wHer &, fret s AD,
51 BC % oA 81 fl AC gen
BD fag O w wfissfea 2 €1 9f5 AO
=3, CO=x-3, BO =3x-19 7o
DO=x-5,d x = o T4 HL7?
(a) 7, 6 (b) 12, 6

() 7, 10 (d) 8,9

Two equal circles of radius 4

66.

67.

68.

{_’_‘1@"%]3.2 cm

The length of the chord of a
circle is 8 cm and perpen-
dicular distance between
centre and the chord is 3 cm.
Then the radius of the circle is
equal to :

UF g9 @ SffEl 8 cm ® T % 6
Stan % d@ @@-gi 3 cm B g9 #
o s+
(a) 4 cm (b) 5 cm

(d) 8 cm

The length of the common
chord intersecting
circles is 24 cm. If the diam-

(c) 6 em
of two

eter of the circles are 30 cm
26 cm, then the
distance between the centre
(in cm) is
< ufd=sfza gdl & 3Iwafas Siar &
=R 24 om B afg A 9= F=1 =y
30 cm T 26 cm ¥, T 3T HELE
4= g F\ #17 = l‘g;}» ,.»?
g,
(@) 13 (b) 14 (c) 15 Jgi,l\f’
In a circle of radiys %Iéﬁl and
arc subtends an ole of ' 72° at
the centre. The length 6f the arc
s /9
21 Cmﬁu_ﬂl"%ly% ¥ o =M,
L 7%: Eﬂ%’j}l AT T A FH e
RG]

and

! vt
a7 S
E’e}\kk%}.ﬁ cm (b) 26.4 cm
(d) 198.8 cm

cm intersect each other such 69&\ A unique circle can always be
that each passes through tlrleé‘!ﬁg5 \* drawn through x number of given

centre of the other. The lengt N

of the common chord 18 4 g
4 cm BN A/ q A THGE Eol
weesfa #@ € 9 R &) hw g

T 1 ST S '&_.J\ M F?
@ 243 em  fbpgy3 em

(c) Q.JE cm (d] 8 cm

One chord of a circle 1s known
to be 10.1 cmn. The radius of this
circle must be :

afs g9 & % SEr 10.1 cm ®, 7@
a9 =t B B =few)

(@) S cm

(b) greater than 5 cm

(c) greater than or equal to 5 cm
(d) less than 5 cm

540 |

70.

non-collinear points, then x must
be

afz v gu, xfaged ¥ ge e €,
S " e 21 a9 xw g T
@2 (b3 (4 (d1
Two parallel chords are drawn
in a circle of diameter 30 cm.
The length of one chord i1s 24
cm and the distance between
the two chords i1s 21 cm. The
length of the other chord is

30 cm = &t g9 § 2 GHERL Sfal
%1 af uF S # @=E 24 cm 99r
AT SEnEAl % | W g0 21 cm B,
T gEL ST g K A2

(b) 18 cm

(d) 16 cm

(a) 10 em
(c) 12 cm
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71. If two equal circles whose
centres are O and O' intersect
each other at the point A and
B, O0O' =12 cmand AB = 16 cm,
then the radius of the circle is
9 U g9 i #= O @ O €,
v fiz A i B W shrf
FW € 91 00 = 12 cm @1 AB =
16(:111%%,3’@[3’:[3%%!@3“33&?
(&) 10 cm (b) 8 cm
() 12 em (d) 14 cm
Chords AB and CD of a circle
intersect externally at P. If AB
=6 cm,£D=3 cm and PD =5
cm, thén’the length of PB is
@ N'ﬂﬁ“é’l Sfard AB @en CD uFH-35

@ SR e g PR Yt 81

- AB=6cm,CD=3cmdq PD =

& U5 em 9, 99 PB %1 v 5 #17

2.

£/ (@5cm (b) 7.35 cm
" (¢) 6 cm (d) 4 cm
73. Two circles touch each other

externally at P. AB is a direct
common tangent to the two
circles, A and B are point of

contact and ,pAB = 35°. Then
ZABP is

= g9 TH-gE 6y PR R w9 A
ot W B AB U sty swafie
ot YEn & 9o Aden B ol fag € qen
ZPAB =35°% 9 ~ABP W #?
(a) 35° (b) 55° (c) 65° (d) 75°
If the radii of two circles be 6
cm and 3 cm and the length the
transverse common tangent be 8
cm, then the distance between
the two centres is

afe 3 79 Ft B #9916 cm de 3
cm & e 3afTs vl e & overd
SCm%IﬁEﬁﬁ‘f?ﬁaﬁ?@Hﬁﬁ?

(8) Vias em (b) fa0 cm
() V150 em (d) i35 cm

The distance between the cen-
tre of two equal circles each of

74.

5

radius 3 cm, is 10 cm. The
length of a transverse common
tangent is

& e g foet et 3 em @ aen
TTF F & o9 gt 10 cm #1 AR
svafas vl o o oad w39 w17
(b) 10 em

(d) 6 cm

(a) 8 em
(c) 4 cm
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78.

i,

80.

info@spardha.guru

AC is the diameter of a circum-
circle of AABC . Chord ED is
parallel to the diameter AC. If
+CBE = 50°,
of ~DEC 1is
AABC % uftgw =1 =) AC 21 Sftar
ED, =™ AC % §AMR €1 afg
#CBE =50° , 9@ /DEC ¥W %7
(a) 50° (b)90° (c) 60° (d) 40°
The length of the two sides form-
ing the right angle of a right-
angled triangle are 6 cm and 8 cm.
The length of its circum-radius 1s:
et TaaRton FAys 1 FHE0T T Jrelt
el & TR 6 cm 91 8 cm ¥
Sus ufga =1 e 9a w17

(a) 5 ecm (b) 7 cm

(c) 6 cm (d) 10 cm

P and Q are centre of two circles
with radii 9 em and 2 cm

respectively, where PQ = 17 cm.
R is the centre of another circle

then the measure

of radius x cm, which touches
each of the above two circles

externally. If #PRQ =90°, then
the value of xis

Pau Q %% 911, 9 cm @1 2 cm e
T F9 % FF A9 gh 17 em 7R,
xcm B 9161 99 @ $ &, W e A
gat # @Ed Wyl & g1 afy

#PRQ =90° , @ x &1 5H T HL7
(a) 4 em (b) 6cm
() 7 cm (d) 8 cm

Two line segments PQ and RSf;

intersect at X in such a way

that XP = XR. If /PS’{—/R@r J

then one must have #

T f@r-@veg PQ @u1 RS Mg X W
T8 TR gfesfm wa g XP =

afe ,psx = /RQX & swdw §
Ta F9 2 P

(@ PR=QS  (b) PS=RQ

(c) 2XSQ = 2XRP
(d) ar (APXR) = ar (A QXS)
In a AABC, AB?: ac? - Bc?

and BC = f; op , then 2ABC is:
fedt AABC H, AB? + AC? = BC?

A9 BC = foAB €@ sABC #7
(a) 30° (b)45° (c) 60° (d) 90°

81.

82.

83.

84,

cAaps°

Two chords AB and CD of a
circle with centre O intersect
each other at the point P. If

/AOD = 20° and /BOC = 30°,
then ~BPC is equal to :

O &% =/l g9 & a1 sfta AB @l
CD wH-g® # fag P ® wfrssfed
Fwdt €1 aft ,aop = 20° T
/BOC =30° ,T@ /BPC W &7
(a) 50° (b) 20° (c) 25° (d) 30°
ABCD is a quadrilateral in-

scribed in a circle with centre
O. If ~coD = 120° and ~BAC =

30°, then ~BCD 1is:

O %% 9 99 § ABCD TF =%+ 2|
afg ,cop =120° @ . BAC =30°
%, @@ .BCD #?

(a) 75° (b) 90° (c) 120° (d) ggﬁ
AABC ,sB =605, \ma
,C=40°. If AD andfﬁE be

respectively the internal blsector

;dicglaronBC
then the meei?u‘@ of #DAE 1is

[ERIRELE] gégc H, «B=60%,
2 = 40 $1aR AD w1 AE Fw:
/Aﬂ%%% wHfgHEE qa BC W

-ﬁ%@%{ /DAE ¥ #%?
(b) 10° (c) 40° (d) 60°
the

In

of »A and perpen

The angle between

b external bisectors of two angles

of a triangle is 60°. Then the
third angle of the triangle is

it s & <1 o % 9 we-fReeEt
& 9 F F0 60° 71 T FI0T T\ FL?
[a) 40° (b) 50° (c) 60° (d) 80°
In AABC,draw BE | AC and
CF | AB and the perpendi-cular
BE and CF intersect at the
point O.If ~BAC =70° then the
value of #BOC 1s

AABC ¥, BELlAC @l
CF L AB a4 @4 BE wd CF T#-3W
F1 g O W dfdfa #Wd ak ~BAC =
70° @ ,BOC 1 HA F@ 7

la) 125°(b) 55° (c) 150°(d) 110°

86.

87.

O is the centre and arc ABC
subtends an angle of 130° at O.
AB 1is extended to P, then
ZPBC 1is

O %= /et g9 &1 919 ABC , %5 W
130° #1 = a9 g1 AB &1 P ad
el T, 96 2 PBC @6 &7

(a) 75° (b) 70° (c) 65° (d) 80°
In triangle PQR, points A, B and
C are taken on PQ, PR and QR
respectively such that QC= AC

and CR = CB. If ZQPR = 40° ,
then LACB is equal to :
A POR 1%@ A, Bawm C FH9:

W?Q\E’Ram OR W 39 &R fomm
mi%oc AC @41 CR =CB, #f%

©7XQPR = 40°%, @@ LACB ¥W H?

O™\ C‘E(é{) 140° (b) 40° () 70° (d) 100°

.'?'38'?

89,

90.

91.
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AD is the median of a triangle
ABC and O 1s the centroid such
that AO = 10 cm. The length of
OD (in cm) is
AD fagsr ABC =t @feast 21 O =8
TR F5 ¢, fF AO = 10 cm &1 OD
I T A
(a) 4 (b) 5 c) 6 (d) 8
The equidistant point from
the vertices of a triangle is
called its:
foret e = =il ® w9 30 W feem
farg FEea 1
(a) Centroid (b) Incentre
(c) Circumcentre
(d] Orthocentre
In a triangle ABC, AB+ BC =12
cm, BC + CA=14 c¢cm and CA+AB=
18 cm. Find the radius of the
circle (in cm) which has the same
perimeter as the triangle
A ABC #H, AB+BC=12cm, BC
+CA=149cm, a1 CA+ AB =18
cm B1 39 g9 1 e wa w5 fawe
ufi figs & ufta & aua 2

7
®

5 o i
@ ©, @

In AABC, D and E are points
on AB and AC respectively such
that DE[I BC and DE divides

the AABC into two parts of

equal areas. Then ratio of AD
and BD is

|541

www.spardha.guru



A ABC ¥ fag D E |, =1 AB
79 AC TR 39 ¥R & f DE [ BC 7
DE, A ABC % &A%l &l 3 aUat
qri H sfem #1 AD 9e1 BD #1 3Fd
Bl
(@1l:1

() 1:\(5

97.
(b) 1:42-1
(d] 1:1/5+1

YEAR 2013

In a triangle, if three altitudes
are equal, then the triangle is
fordt fas & 1 v el At e
A B s 2

(a) obtuse

92.

(b) Equilateral
(c) Right (d) Isosceles

If ABC 1is an equilateral
triangle and D 1s a point on BC

such that AD | BC. then

A ABC u% mwarg faww & fag D
w1 BC W @ wFR fem €, fF
AD 1 BC %, I
@AB:BD=1:1

(b)AB: BD=1:2

(c)AB: BD=2:1

() AB: BD=3:2

The side QR of an equilateral
triangle PQR is produced to the
point S in such a way that QR =
RS and P is joined to S. Then

the measure of /PSR 1s

e A PQR #1951 QR %1 fag S

T T 9ER aern o €, fF QR=RS
g P % S¥ faemn s € /PSRf
I HH J FL2 " -\

() 30° (b) 15° (c) 60° (d) f N/

98.
93.

99,

94.

95. Let ABC be an equil }er“al
traingle and AX, BY, e the
altitudes. Then rlght 100.

statement out of theﬁ)ur given
responses is f \

A ABC mwﬁgﬁﬁlm BY
Ao CZ fid-or 81wt famew w1
(a) AX=BY =CZ

(b) AX == BY = CZ

() AX = BY = CZ

(d) AX == BY == CZ

ABC is an isosceles triangle
such that AB = AC and B =
35°, AD is the median to the
base BC. Then .BAD is

96.

542 |
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A ABC UF wufzarg s € i AB
= AC 99 2B =35° 81 AD, &1 BC
T Wit €1 2BAD T H7

(a) 70° (b) 35° (c) 110° (d)55°
ABC is an isosceles triangle
with AB = AC , A circle through
B touching AC at the middle
point of Q, intersects AB at P.
Then AP : AB is:

T gAfgAE A ABC 39 WK ¥
AB = AC, T% 99 B § T € @
AC =1 7oy fag Q W Tl Fw & wen
AB % fag P W ufr=sfd s 2

AP : AB @ {7
(a) 4:1 (b)2:3
() 3:5 (d)1:4

In an isosceles triangle, if the
unequal angle is twice the sum

of the equal angles, then each ¢

equal angle is

forddt gufzare fqw o, af dw
mmmaﬁmﬂmm@gﬁ
Wmmﬁmaﬁﬁ}
(@) 120°(b) 60° () 30° (@90

AABC 1is an iso el‘e&‘tnangle

and Ap - AC = \20 {elmt,BC
unit. Draw,,,ew “ﬁ BC , and find
the lengtﬁg}r AD -

fzac 199 A ABC H AB =
%G 7/2 a unit 71 BC = a unit |

.ﬁ. BC @ AD F o ST HY

15
ta] Jis aunit (b) g a unit

[c) 17 aunit (d) g a unit

An isosceles triangle ABC is
right-angled at B.D 1s a point
inside the triangle ABC. P and
Q are the feet of the perpen-
diculars drawn from D on the
side AB and AC respectively of

AABC . If AP=acm , AQ =5
cm and sBAD =15°, sin 75° =
T THigaE s A ABC , B WUEHEM
#l fag D, A ABC =% =1 fagmm 2
fag D9 =1 AB 91 AC W =/l T
o % 9% Pud Q ¥ 4 AP=a cm,
AQ =bcm M ~BAD -15°, sin
75°= 7

J5a
(@ T_ B o @~ - @ 7—-

2b

101.ABC is an 1sosceles triangle

102.In a

\

with AB = AC. The side BA is
produced to D such that AB =

AD.If ~ABC =30°, then ~BCD
is equal to

wafgdE A ABC 39 R 2 f%
AB = AC, BA #i fag D 9% 30 UFR
=g T fm AB=AD AR cABC =
30° , 7@ ~BCD W F1?

(@) 45° [b] 90° (o) 30° (d) 60°
gle ABC, AB = AC,
2 BA. 40“ then the external

i

L\AB‘C #, AB=AC, »BAC =40°

% = / B 1 983 HI0 TG FLY
“fa) 90° (b) 70° (c) 110° (d) 80°

"1}35 Taking any three of the line

segments out of segments of
length 2 cm, 3 cm, 5 cm and 6
cm, the number of triangles that
can be formed is :

TamEuEl 2 cm, 3 em, 5 cm A9 6
cm ¥ ¥ F1§ o 3 W@mEve # @
e Fgs 918 = g% §7

@3 (M2 (1 (44

104.1f the length of the sides of a

triangle are in the ratio 4 : 5: 6
and the inradius of the triangle
is 3 cm, then the altitude of
the triangle corresponding to
the largest side as base is :
foredt foget it senatl &1 eIE 4:5:6
21 e B 3 om &, 99 Ha9 @E
g W Ve S e T HiY

() 7.5 cm (b) 6cm

(c) 10 cm (d) 8 em

105.ABC i1s a triangle. The bisectors

of the internal angle 1B and ex-
ternal angle ,C intersect at D.
If ~BDC=50° then ~A is

AABC & <B  #idfis da1 2C
=+ AE gigaees frg D W o
#a 819k . BDC=50°%, T .a?
(a) 100° (b) 90° (c) 120° (d) 60°

106.In a triangle ABC, the side BC

Copyright © All Rights Reserved | https://spardha.guru/

is extended up to D such that
CD = AC. If +BAD = 109° and
+ACB = 72° then the value of

+#ABC 18
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108.

109.

116:

111.
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fF5t A ABC # o1 BC % Dd=%
Fg191 191 f CD = AC) =fy
/BAD=109° £, 3 ,ACB=72°

@ ,ABC I °M dd #{7

(a) 35° (b) 60° (c) 40° (d) 45°

The sum of three altitudes of a

triangle is

el foqst & ol el =1 4m 2

(a) equal to the sum of three
sides

(b) less than the sum of sides

(c) greater than the sum of
sides

(d) twice the sum of sides

In AABC #A=90°and AD 1 BC

where D lies on BC. f BC =8 cm

, AD = 6 cm , then ar AABC: ar

AACD=7?

51y ABC ®', ,A-—9p° del

AD 1Bc % W& a5 D, ¥ BC®

frerd €1 9f§ BC= 8 cm, AD =6 cm

%, ar AABC: ar AACD= ?

(a)4:3 (b) 25 : 16

(c) 16 : 9 (d)25:9

If the median drawn on the

base of a triangle is half of its

base the triangle will be

afe fedt Bigs 9 snam 1w =
Tl wifegs IEE s wosed 2
a4 fags 21

(a) right-angled /gusior 99

(b) acute-angled /=& Hefs

(c) obtuse-angled/sfu= i1

(d) equilateral /@9amg s

In a right-angle AABC, zABC
90°, AB = scmandBc—lzﬁn J

The radius of the circuméirele
of the triangle ABC is
wawm fagsw ABC ¥ _se= 90°,

AB =5 cm @1 BC =/12 cm 2
AABCH® &4 qa»’%‘} o | FE2
(a) 7.5 cm (b) 6 cm

(c) 6.5 em (d) 7 em

In a right-angled triangle, the
product of two sides is equal to
half of the square of the third
side i.e., hypotenuse. One of
the acute angle must be

feret TRl B , ) qs] 1 OATHe
SHHRT JAT N A F1 F T FT 2
21 UF FFAFO F UA € AMfeu
(a) 60° (b) 30° (c) 45° (d) 15°

112.

113.

114

A point D is taken on the
side BC of a right-angled tri-
angle ABC, where AB is hy-
potenuse. Then
frdt "R Biga A ABC HOE
BC W fag D famn a1, & AB &%
*of ¥1
(a) AB?*+ CD? =BC2+AD?

(b) CD?*+ BD? =2AD?
(c) AB*+ AC? =2AD?
(d) AB*= AD?*+B(?
D and E are two points on the
sides AC and BC respectively of
AABC such that DE = 18 cm,
CE=5cmand pECc=90° If tan
2ABC=3.6,then AC:CD =
AABC ® sl AC 991 BC W a1
fog D a1 E 39 7&K € f& DE =18
cm , CE =5 cm 39 -DEC= 90°
M 3R tan .ABC= 3.6 ¥, 7@ AC:
Ch=?
[a) BC:2CE (b) 2CE: BCf’j
() 2BC: CE  (d)CE M}@(iﬁ '
BL and CM are medians of
AABC right- angled aE A, _z_md BC
e\
3
= 5 cm. If BL =“\—“-'§— fcm, then

the length_;t’a'ﬁ;:cﬂl is

T ﬁ“lfﬂ}{BC AT FEROT E

B BE’?@CM iz € qon BC =
{ \.,J

“’*@rﬂ‘(%'ﬂﬁBL—

cm'é', GES

cor

,,,,,

“ﬁj

115.

116.

CM Ft o= 7 ﬁ?
(a) o5 em  (b) 50 cm
(¢) 102 em  (d) 445 em

In aABc and ADEF, AB = DE
and BC = EF, then one can in-
fer that AABC = ADEF, when
AABC T ADEF H, AB = DE @11
BC = EF %, 7% w19 gan &
AABC = ADEF, @

(a) ~BAC = 2EFD

(b) ~ACB = /EDF

(c) £ ABC =2 DEF

|[d) zABC = #DEF

Q is a point in the interior of a
rectangle ABCD, if QA = 3 cm,
QB =4 cm and QC = 5 c¢m then
the length of QD (in cm) is

117,

118,

@ma ABCD & o7 fag Q #1 af
QA=3cm,QOB=4cmam QC=5
cm B T QD it oFE cm ¥ T F?

(@) 342 (b) 542
(©) 32 (d) Va1

ABCD 1is a rectangle where
the ratio of the length of AB and
BCis 3: 2 . If Pis the mid-
point of AB, then the value of

Z4CPB 1s
ABCD U 21774 21 9ot AB @en BC
a7 3:2 ¥ A fag P 41 AB 1 7oA

fﬁ%lﬁé{n £ CPB ¥ A S %7

sin

} 2
(a}sg (bl = (C} 5 (dl

Inside a square ABCD,BEClsan

oG Jequilateral triangle. If CE and BD

& fg

11:9:

120.

121
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intersect at O, then ~BOC 1s

=t ABCD % 37=g, ¥ £ A BEC
#19fe CE e BD, fag, O W wfa=sfaa
R #1 9@ 2BOC F@ 2

(@) 60° (b) 75° (c) 90° (d) 120°
ABCD is a cyclic trapezium
with AB 1 DC and AB is a di-
of the If
ZCAB = 30°, then +ADC is
T% A THerE wqs ABCD &t gemd
AB[IDC wen AB 5« %1 =9/ ®1 afg
ZCAB = 30° %, @ LADC

(a) 60° (b) 120° (c) 150° (d) 30°
ABCD is a cyclic quadrilateral.
AB and DC are produced to

If ~Abc= 70°
the

ameter circle.

meet at P.

and ~DAB = 60°, then

ZPBC +PCB is
ABCD u% =#i4 wgys 81 AB @en
DC =1 s 71 a1 & fag P o faerd

21 afe  LApc= 70° aden
/DAB =60° ®d, /PBC +
/PCB =?

(a) 130° (b) 150°

(c) 155° (d) 180°

_A cyclic quadrilateral ABCD is

such that AB = BC , AD = DC,
AC 1 BD, sCAD = @, then the
angle ~ABC =

|543
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122.

123.

124.

125.

126.

=% Jqd9 ABCD @ wan &, fF
AB=BC,AD=DC, AC L BDw
/CAD =6 &, -ABC=7?

o4
(@ ¢ ()5 (9 20 (d) 30
The diagonals AC and BD of a
cyclic quadrilateral ABCD in-
tersect each other at the point
P. Then, it is always true that
fordt w#a 9q4s ABCD & fasvf AC
den BD fag P R yfrafed & & o«
fameq | s
(a) BP. AB=CD. CP
(b) AP.CP= BP .DP
(c) AP. BP= CP .DP
() AP.CD = AB . CP
A quadrilateral ABCD circum-
scribes a circle and AB = 6 cm,
CD =5 cm and AD =7 cm. The
length of side BC is
=P ABCD # 3itt @ 99 @1 S &
dar AB = 6 cm, CD = 5 cm 9941
AD = 7 cm #1 %51 BC 1 =i 31 %47
(a) 4 cm (b) 5 cm
() 3 cm (d) 6 cm
In a cyclic quadrilateral ABCD,
A+ B+:CH+sD=?
fegt =%ia =wqaas ABCD #
LA+ sB+isC+sD=?
(a) 90° (b) 360° (c) 180°(d) 120°
AB and CD are two parallel
chords of a circle such that AB =
10 cm and CD = 24 cm . If the

chords are on the opposite sides
of the centre and distance be- ,

tween them 1s 17 cm, then the f

I\H;“,f 130.AD 1s the chord of a circle with

radius of the circle is :
fordt ga =1 & FEERR Sar
CD =@ =R &, & AB = 10
CD =24 cm #1 af G 3if __"'zﬁaa:
forrira feem f feord & aefl 39% 4 @
T 17 cm &, m?ﬁﬁﬁm w7
(@) 11 cm [13‘]‘;12 cm

(c) 13 em (d) 10 cm

A chord AB of a circle C, of radius
(2+1) om touches a circle C,
which is concentric to C,. If the ra-
dius of C, is (3 -1) cm. The length
of ABis :

< dE=a 9w C aen C, 76 v £, R
W3+1) cm B 5@ g9 C, 4 S
AB (fZ-ljcm = At g9 C2 1
oyl 5t 21 AB # orarg I Hi2

544 |
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(a) o3 cm

(c) 4%3 cm

(b) gfa cm
(d) 44/3 cm

127.The length of the common

chord of two circles of radii 30
cm and 40 cm whose centres
are 50 cm apart 1s (in cm)

30 cm @ 40 cm i T & Wl
Fi swafs sfen FowEE J9OH,
o #=i & o= Ft 30 50 cm
(@ 12 (b)24 (c) 36 (d)48

128.Chords AB and CD of a circle

intersect at E and are perpen-

17 cm 51 3@ 99 § &1 99FRR
HiEd 30 cm 91 16 cm o= &t @it
g AR S S, g9 F F T SR
& a Al Sfenedi & 9= gt s s
(@) 9 em (b) 7 em

(c) 23 em (d) 11 cm

132.Two circles touch each other

internally. Their radii are 2 cm
and 3 cm. The biggest chord of
the greater circle which is out-
side the inner circle is of length
3 99 TH-ZEL I AARE T G w9
F €1 =91 e FEe: 2 cmoaen 3

dicular to each other. Segments cm #1 92 o = 9gl § 5l e F
AE, EB and ED are of lengths 2 +i, =it T4 | @R 2
cm, 6 cm and 3 cm respectively.
Then the length of the diameter () gf -ém (b) 3\/E St
of the arcle (in em) 1s d
) @5 em @ a3 em

gd \aﬁ a1 S AB i CD‘ &"’13 ,Txvo circles touch each other
TH-gE F fag E"N Tfreafed el € ; % “externally. The distance between
A9 TWOR ovaaq €1 ereve AE,EB, ¥/ their centre is 7 cm. If the radius

wien ED &1 o 2 cm, 6cmﬁﬁ
cm 21 I9 H AW Fd HY o Lc-‘

(@) VG5 )

(c) 65

(b) 5 Vs

@S)”

129.Two circlesg& sarne radius 5
ez

,,,,,

cm, inters cfch other at A

and B. ILA “"‘: 8 cm, then the
dLStance izebtween the centre 1is ;

{ 39l 5 cm et 99 Th-g
aﬁgﬁ;*‘aﬁ B W wafe we §1 %

(-ﬁﬁ;:=8 em W F F A9 F ol

(b) 8 cm
[c] 10 ecm (d) 4 ecm

centre O and DOC is a line
segment orginating from a point
D on the circle and intersecting
AB produced at C such that BC =
OD. If .pcp=20°, then ~A0D=7?
O #=% @l g9 #1 Sar AD © @
DOC T# T@r@ws & st D § g
Tt @ AB #1 fag C W figeren & aer
BC = OD| aff .pcp=20° %, 7@
£AOD=7?

(a) 20° (b) 30° (c) 40° (d) 60°

131.In a circle of radms 17 cm, two

parallel chords of length 30 cm
and 16 cm are drawn. If both
chords are on the same side of
the centre. then the distance
between the chords 1s

of one circle is 4 cm, then the
radius of the other circle 1s

= I Th-E FI G €9 9 o w
F3F P2 FFH W 7 em B
4% uw 99 &t 51 4 cm 7, T 5=
9= ®t e 3w w1

(a) 3.5 cm (b) 3cm

(€) 4 em (d) 2 em

134.A, B and C are the three points

on a circle such that the angles
subtended by the chords AB and
AC at the centre O are 90° and

110° respectively. ~BAC1s equal to
A, Baw C 39 W di7 fag 36 R
oo €, i Sften AB 79 AC 311 %% O
T & &9 90° @ 110° #1 ~BAC
I 2

(a) 70° (b) 80° (c) 90° (d) 100°

135.N is the foot of the perpendicu-
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lar from a point P of a circle with
radius 7 cm, on a diameter AB
of the circle. If the length of the
chord PB is 12 cm , the distance of
the point N from the point B is

7 cm 51 =t 39 W fem g P,
=M W T T e H UR N # AR
Sitan PB &t oé 12 cm @l @ fag N
s fag B # =9 gt 9 7

2
6— 12 —
(a) - cm (b) - cm

35 d102
(c) 7 o (d) =g
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137.

138.

139.

140.
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A, B, C, D are four points on a
circle, AC and BD intersect at
a point E such that »BEc= 130°
and ECD= 20°. /BAC 1is

A B, C, DR fag 99 W =W TFR
fega € & AC 7en BD fag E W 3@
v sfreafen e ¥, fF 2BEC = 130°
99 EcD= 20° 39 BAC=?

(a) 120° (b) 90°

(c) 100° (d) 110°

If two concentric circles are of
radii 5 cm and 3 cm, then the
length of the chord of the larger
circle which touches the
smaller circle 1is :

3 cm @ 5 cm a1 §h5E g0 § 98
g9 ¥ aE 7 3 99 7w,
B a9 H wE w87

(a) 6 cm (b) 7 cm

(c) 10 em (d) 8 cm

If the chord of a circle is equal
to the radius of the circle, then

the angle subtended by the
chord on centre is

afe fREl g9 & Sftar, 3% Gow %
H G HL?

(a) 150°(b) 60° (c) 120° (d) 30°
P and Q are two points on a
circle with centre at O. R i1s a
point on the minor arc of the
circle, between the points P and

Q. The tangents to the circle at
the points P and Q meet each

other at the point S. If -PSO= .

20°, then <PRQ=?

P qe Qqama‘rﬁrgfwa%aenﬁa;
O % 94 & oy 91 W fag Riﬁeﬁ
fag P aw Q W =it
forg S W firerdt 1 3f% 2 q, 20° &,
dd ,PRQ=? W

(@) 80° (b) 200‘-’"’# Lc]""?lféowd] 100°
Two circles intersect at A and B,
P is a point on produced BA. PT

and PQ are tangents to the circles.
The relation of PT and PQ 1s

% g9 A 9 B W wfmefa en g
BA = fag P % agmn wam PT ao
PQ T T@m € PT @@ PQ & ™
a2
(a) PT = 2PQ
(c) PT > PQ

(b) PT < PQ
(d) PT = PQ

141.

142.

143.

The length of the tangent
drawn to a circle of radius 4 cm
from a point 5 cm away from
the centre of the circle is
4em P aR TAF FZ ¥ S5cm T
feord g | ga we wii=f Wl w99l ven
FI T A" HL7

&) 3 em (b) 4\/2__ cm
(c) 5\{5 cm (d) 3\/5 cm

From a point P, two tangents PA
and PB are drawn to a circle with
centre O. If OP is equal to diam-

eter of the circle, then - APBis
f&et P fag 9, O =% arat g7 W PA
du1 PB 31 vyl tend et Wt 2
afg OP 3 % =9@ % =R 2,
. APB F AF |

(@) 45° (b) 90° (c) 30° (d) 60°
The radii of two concentric
circles are 13 cm and 8 cm.

is a diameter of the bigger Ie
and BD is a tangengﬁoiﬁ:}le

smaller circle touching”/it at D

and the bigger c1rcle at E.Point A
is joined to D. The I¢ 1 WEAD is
R FaE ge # B3 cm e 8
cm ¥ AB %€ g5 #) =19 a1 BD B
79 % farg DAR i T vt T & S
a3 94 # E of foadt &1 farg A forg
D @ il P AD %1 w6 H7

[a]ggq\@‘m (b) 19 cm
}@}\18 cm (d) 17 cm

144 F?Q is a chord of length 8 cm of

,,,,,

\w?

145.

a circle with centre O and ra-
dius 5 cm. The tangents at P
and Q intersect at a point T. The
length of TP 1s

5 cm 550 991 O = &t g4 #1 S
8 cm ¥ fag PAen Q W &=t
w9l @, fag T W yfa=sfed 2t 2
TP =1 &= I <2

(a) % cm (b) 2741 cm

(d) % cm

The maximum number of com-
mon tangents drawn to two
circles when both the circles
touch each other externally is
< gal Wi W, st 9 e vl
TH-gE H WEd WY W B

(a) 1 (b) 2 (€3 (40

10
[c) 3 cm
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oG
’yfw,e" the triangle.

146.1 and O are respectively the in-

centre and circumcentre of a

triangle ABC. The line AI

produced intersects the

circumcircle of AABC at the point

D. If saBc= x°, “BD = y° and
Z+X

#BOD = 2°, then —_— ?

19 O AABC & 3fd: a9 ufias &1

@ Al et T 99 AABC & Ui

# fag D W wfesfia & 21 afg

ZABC= X°, «BID=Y° a1 sBOD=
Zt X

zﬂ%aa% =9

(a) 3%. M1 @2 (@4

147. Thg “r’adms of the circumcircle

i

@\1: ;.;,1 rlght angled triangle is 15

cm and the radius of its in-
circle is 6 cm. Find the sides of

fret wm frqw % g qan o
99 =i 55 F991: 15 em @01 6 cm
& e =1 gemd S| 2

(a) 30, 40,41 (b) 18, 24, 30

(c) 30, 24, 25 (d) 24, 36, 20

148.1f the AABC is right angled at

B, find its circumradius if the
sides AB and BC are 15 cm and

20 cm respectively.

TR AABC, F FU B =90° |
AABC % 9fgd #t e 5 & afg
91 AB @1 BC #f @@k 15 cm 201

20 cm €l
(a) 25 em (b) 20 em
(€) 15 em (d) 12.5 cm

149.1f the circumradms of an equi-

lateral triangle ABC be 8 cm, then
the height of the triangle 1s

et wwarg Bys & wftga =t B 8
cm &1 e #1 FAE F4 FH2

(&) 16 em (b) 6 cm

(c) 8 em (d) 12 cm

150.Triangle PQR circumscribes a

circle with centre O and radius
remsuch that ~POR=90°. if PQ=

3 cm , QR = 4 cm, then the
value of ris;

O &= ael gd % «f i 519 PQR
21 9fz 39 3 50 r cm 991 _POR=
90° g PQ=3cm, QR=4cm =,
T+ HE AW HL2

(a) 2 (b) 1.5 (¢) 2.5 (d) 1

|545
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154.Ina AABC +A:

155. In triangle ABQ ~BAC

info@spardha.guru

151. The radius of two concentric

circles are 17 cm and 10 cm. A
straight line ABCD intersects
the larger circle at the point A
and D and intersects the
smaller circle at the points B
and C. If BC = 12 cm, then the
length of AD (in cm) is

3 &g g9 # Y 17 cm e
10 cm ¥ T& %1 ABCD |, 5 97 &l
forg A wen D W wen B2 99 =1 forg Baan
C T yfr=sfed et 81 afk BC= 12 cm
g, 7@ AD =i oram W § 5@ H
(@) 20 (b)24 (c) 30 (d) 34

152. P and Q are centre of two circles

with radii 9 cm and 2 cm
respectively, where PQ =17 cm,
R is the centre of another circle
of radius x cm, which touches
each of the above two circles
externally. If 2PRO= 90°, then
the value of x is

Pael Q, 9 cm @01 2 cm 5= & gt
% %% #1 el PQ= 17 cm 7 R, T%
mxcmﬁmmﬁﬂﬁﬁﬁ%,ﬁ
<l el 1 Al B9 § Tl ww g A
ZPRQO=90° %, d9 X % HF 7d Hi7
(b) 6 em

(d) 8 cm

(a) 4 em
(c) 7 cm

153. Two chords AB , CD of a circle

with centre O intersect each
other at P. ~App = 23° and
zAPC = 70° then the -BCD is
O #= =t 99 #I F SiEmd AB, CD
ww-g #1 fag P W ka1 #
ZADP =23° 1 -APC =70° &, T
2/BCD FW {7
(a) 45° (b)47° (c) 57° (d) 67°
ZB:2C =2:3:4.
A line CD drawn [ to AB, t;?ag“,;
the zACD 1s : {4‘ hY
AABC ¥, zA:Bisc =284
%1 t% Y@ CD, AB & gt i«
T, 9 ACDF WA %ﬂ;%f?
(a) 40° (b) 60° A%}.‘.,,_S.Op (d) 20°
= 75°,

2ABC =45°, p¢ is produced to D.

If ACD =x°, then %/ of 60° is
AABC ¥, :BAC=75°, +ABC =45°,

Bc %I D da Fgran 7wAn 4fg

JACD = x° 2, @@ 60° =1 %%
A FL?

(a) 30° (b)48° (c) 15° (d) 24°

546 |
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156.

157.

158.

159.

160.

,,,,,

161.

Ina AABC , AB = AC and BA is
produced to D such that AC =
AD. Then the :BcDis

AABC ®, AB=ACTa BA® D&
qg@ T 99 AC = AD| ABCD

E FJd HE7
(a) 100°(b) 60° (c) 80° (d) 90°
In AABc, sA+:B= 65°,

s,B+.c= 140° then find .B.
AABC H, A+:B= 65°, - B+.C
=140° %, 99 B TA TH F1?
(a) 40° (b) 25° (c) 35° (d) 20°
In a triangle ABC, A=
90°, ,C = 55°, AD L BC. what is
the value of ~pap ?

A ABC H, £1A=90° ,C=55,
ADLBC &, @ /BAD ¥ WM
A w2

(@) 35° (b) 60° (c) 45° (d) 55°
If O be the circumcentre of a
triangle PQR and 2QOR =1 10,
Z/OPR = 25° , then the N_;

P # 1

sure of #PRQis f N
A PQR #, O fagt 1 mém
ZQOR =110° fg,.w"R 25° 3w
#PRQ 1 ¥H

(a) 65° (b) &) 55° (d) 60°
In the fo]lo&:rﬂg figure, AB is the
dlametergof & circle whose cen-
ﬁ-ﬁ"}A OE = 150°, ~DAO =
of

tre1
alf JtHen the measure
@BE s
Gféh arl 91§, AB 94 %1 o 2
/AOE =150°, - DAO =51°%,
79 sCBE w1 U 3 2

(@) 115°(b) 110° (c) 105°(d) 120°
In a triangle ABC , BC is
produced to D so that CD = AC.

If ~.BAD=111°and ~ACB =8(0°,
then the measure of ~ABC is:

A ABC ¥, BC %1 D w% =gm@l 7,
g CD = AC =ff -pap =111°
A ~ACB =80° %, @@

qH T FL2
(a) 31° (b) 33° (c) 35° (d) 29°

ZABC 1

162.

163.

e)

164.

165.

166.

167.
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All sides of a quadrilateral
ABCD touch a circle, If AB = 6
cm, BC =75 cm, CD =3 cm,
then DA is

ferdt =St ABCD =1 =/ =g, fahdt
%Eﬁwm%‘lﬂﬁm=6cm,
BC=75cm, CD =3 cm &, @@
DA &1 91 Fd &{?

(a) 3.5 ecm (b) 4.5 cm

(c) 2.5 cm (d) 1.5 cm

D is a point on the side BC of
a triangle ABC such that
AD 1 BC , E is a point on AD for

whtchAE\. ED=5:1.If -BAD=
30° apd-tan AcB= 6. tan
/D% ‘t,l;an ZACB =

&iﬁﬁ % 9 BC W fag D @
{2 fF AD L Bc ADW fig E

o3 -\_Ci»%"ﬂm‘%ﬁi?AE:ED=5:1 | afg

2BAD = 30° ¥ tan 2ACB*= 6.
tan .DBE ¥, ¥ /ACB =?

(a) 30° (b) 45° (c) 60° (d) 15°
The perpendiculars drawn from
the vertices to the opposite sides
of a triangle, meet at the point
whose name is

Pt Froe & v @ fovda sl W
o wie T sl w1 freska g e
(a] incentre

(b) circumecentre

(c) centroid

(d] orthocentre

Ifin AABC, :ABC =5 -ACB and
#BAC=3 sACB , then sABC=7?
AABC H, sABC= 5 -ACBUl
/BAC=3 ACB %@ ,ABC=?
(a) 130° (b) 80° (c) 100°(d) 120°
The exterior angles obtained on
producing the base BC of a
triangle ABC in both ways are
120°and 105°, then the vertical
2 A of the triangle 1is

A ABC 7 3R BC & W 183 Hivi

F1HE 120° 921 105° %1 A F 9H
I w7
(a) 36° (b) 40° (c) 45° (d) 55°

If AD, BE and CF are medi-
ans of AABC , then which
one of the following state-
ments is correct ?

AD, BE 721 CF , AABC &1
Tiferad €1 79 e FoF T HEY
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169.

170.

171.

172.
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(a) (AD + BE +CF) <AB + BC + CA
(b) AD + BE +CF > AB + BC + CA
(c) AD + BE + CF = AB + BC + CA
(d) AD +BE + CF

= JZ (AB+BC+CA)

Inside a triangle ABC, a
straight line parallel to BC in-

tersects AB and AC at the point
P and Q respectively. If AB = 3
PB, then PQ : BC is

A ABC ¥ BC & wAF=# @ AB aer
AC Fi fag Pawr Q © wfa=sfea Fedt
%19k AB=3PB %, @ PQ: BC?
(@) 1:3 (b) 3:4

() 1:2 (d)2:3

In AABC, DENAC, D and E are

two points on AB and CB respec-
tively. If AB = 10 cmm and AD = 4
cm, then BE : CE is

AABC H, DELAC ,Da= E, 91
AB @ BC™ 91 fag 21 3f% AB =10
cm a9 AD =4 cm &, 74 BE : CE §I
(a)2:3 (b)2:5

(c)5:2 (d)3:2

For a triangle ABC, D and E are
two points on AB and AC such

1 1
thatAD=Z AB, AE = 7 AC. If

BC = 12 cm, then DE is
AABC #H, AB 71 AC W = fag D aen

1
EW R g ffF AD= —AB AE= —

44,/

AC | =5 BC = 12 cm% e D@él
(a) 5 ecm (b) 4 cm {” N
(c) 3 cm (d) 6c

For a triangle ABC, f? F are
the mid - points, of 11:3 “sides. if
AABC = 24 z/“uxnts then
A DEF is

AABC ¥ D, E 91 F 413 & 554
fifg & 2k A ABC =24 =i 3fe =,
da A DEF =2

(a) 4 sq. units (b) 6 sq. units
(c) 8 sq. units (d) 12 sq. units
The angle in a semi-circle is
¥ o W F B R

(a) a reflex angle/wwEfida o
(b) an obtuse angle/#f¥s @M

173.

174.

175.

177.1£K ;;BC

178.

(c) an acute angle/==®01

([d) a right angle/@H =0

Angle between the internal bi-
sectors of two angles of a tri-

angle /B and -2C 1s120° then

LA 18

Towat ﬁ“ﬁx_ﬂ Eau ZB ¥ -C E

g R S HO 120° 1 a9

ZA F TOF TG FL7

(a) 20° (b) 30° (c) 60° (d) 90°

In a AABC, AB = BC,2B = x°

(2x-20)°, Then B is

AABC H, AB = BC, B = x* @l
= (2x-20)° 8, W9 B

(a) 54° (b) 30° (c) 40° (d) 44°

If AD is the median of the

traingle ABC and G be the

centroid, then the ratio of AG :

AD is

AABC #t mifers AD & a1 fag G,

AABC #1 55% &, 99 AG : AD’%

W%I . Lc-“
(@) 1:3(Mb)2:1(c)3: 2{5}2 3

and A=

176.In a triangle ABC, gledlarf' 1s AD

Q=10om

and centroid is O

The length of O {:‘_ﬁl cm ) is
AABC ¥ AD a9 O s el

AO = 10cné%u@Dmawr£3naai?
(@) 6 ©5 (d)3.3

,,,,,

'
: jEAR 2014

is an equilateral
(Tp‘r!mgle and P, Q, R respectively
dénote the rmddle points of AB,

« .4 BC, CA, then

AABC wm@ﬁ*ﬂa%am = P, Q,
R 951 AB, BC, CA & w1 fag ¥, @@
(a) POR must be an equilateral
triangle

(b) PQ+ QR = PgR+AB

(c) PQ+QR = PR+2AB

(d) POR must be a right angled
Let ABC be an equilateral triangle
and AX, BY,CZ be the altitude.
Then the right statement out of
the four given responses is

AABC T# T9ag fqw ¥ o1 AX,
BY, CZ viidera 21 =mi faspedi § @
el fashed 1 Hi

(a) AX = BY = CZ

(b) AX = BY =CZ

[c) AX = BY =CZ

(d) AX = BY = CZ

179

180.

182.

183.

184.
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.ABC is an equilateral triangle

arnd CD is the internal bisector
of ~c. If DC 1s produced to E
such that AC = CE, then
is equal to

A ABC % WA fags & @en CD
®:M ,C W Al fuwm g Ak
DC =1 E a& @z w1 f& AC =CE
%,d@@ LCAE %1 WH %

(a) 45° (b) 75° (c) 30° (d) 15°
G is the centroid of the

equilateral AABC. If AB = 10
cm then ﬁhgth of AG is

m{ﬁgﬁ AABC &1 %5% ¢l
'qﬁg:z‘.kﬁé— 10 cm, 78 AG #I @

2 CAE

"‘{tﬁﬂl

10\/_

cm  (b)

cim

(€) 543 cm  (d) 1043 cm

.The radius of the incircle of the

equilateral triangle having each
side 6 cm is

6 cm 91 9 9961E, A & #3199
=1 o 3@ F4?

(&) 2\/3_ cm (b) .\/3_ cm

() 6+4f3 cem (d) 2 em

If the three medians of a triangle
are same, then the triangle 1s
HEL %. GE) ﬁ"’fﬁl BAT:

(a) equilateral /T warg

(b] isosceles /Twfgarg

(c) right- angled /5w

(d] obtuse-angle /3fy® =T

If A FGH is isosceles and FG <
3 cm, GH = 8 cm, then of the
following the true relation is.
A FGH & 9igarg fys & @1 FG <3
cm,GH=8c:m%‘,?ﬁ'H‘5"Tﬁﬁﬁﬁslﬁﬁ?
(a) GH = FH (b) GF = GH

(c) FH > GH (d) GH < GF

If angle bisector of a triangle bi-
sects the opposite side, then
what type of triangle 1s it ?
fodt fBAgs =1 F0 gAEHEE "/
arelt qe R AN A e €, @ W
vER F s wm

(a) Right angled/®maTo

(b) Equilateral /&H=g

|547
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185.

186.

187.

188.

189.

(c) Isosceles or equilateral/
HAfGETg 91 HHEE

(d) Isosceles/wmfgarg

If two angles of a triangle are 21°

and 38°, then the triangle 1s

af e f9s & 1 1o 21° d2n 38°

g, @ fagw &1

(a) Right- angled triangle/Tme T

(b} Acute- angled triangle/
AR

(c) Obtuse-angled triangle/ #fée =m

(d) Isosceles triangle/@mfzarg

In AABC, 2C
angle. The bisectors of the ex-
terior angles at A and B meet
BC and AC produced at D and E
respectively. If AB = AD = BE,
then #ACB =

AABC ¥ sC afa® =0 g1 00
A 3% B % @1ed guigae, 1 BC
0 AC %! fag D 9o E W fiaer €
aft AB=AD =BE%, @@ ~ACB=?
(a) 105°(b) 108° (c) 110°(d) 135°
A man goes 24 m due west and
then 10 m due north. Then the
distance of him from the start-
g pomt 1s

U =AfF ufvem f{Gyn ¥ 24 mtr. 9en
s f@n ¥ 10 mtr. w1 ¥ sEE
Rt fag 9 adme g FE #2
()17 m (b) 26 m

(c) 28 m (d) 34 m

If the measures of the sides of
triangle are (xX*—
cm, then the triangle would be
et fags &t g9 (-
e 2x cm ¥, @9 frgw # {,«
(a) equilateral /HH=mg ’&
(b) acute - angled/ i "%
(c) right- angled/lq'qm

(d) isosceles/

is an obtuse

If each angle of a triangle is
less than the sum of the other
two, then the triangle is

oz fopdt fags &1 v Fm, 3 9

F F A G F9 €, 99 e

(a) obtuse angled/ 21t Fim

(b) Acute or
SAFROYHHATE,

(c) acute angled/=g7%Im

(d) equilateral /¥wsTe

equilateral /

548 |
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1), (®+1) and 2x .

190.ABC is a right- angled triangle

with AB= 6 cm and BC = 8 cm.

A circle with centre O has been
inscribed inside AABC . The
radius of the circle is

forddt wwm fags AABCH AB=6
cm 7 BC = 8 cm 81 O &% amw
g9, AABC & <3 dia1 < g1 99

EIRER IS G 2V
(&) 1 em (b) 2 em
[c) 3 em (d) 4 cm

191.1f the sides of a right angled

triangle are three consecultive
integers, then the length of the
smallest side 1s

w1 el ¥ T B e T w7
(b) 2 units

(d) 5 units

(a) 3 units
(c) 4 units

192.In APQR, S and T are poinl;}}u

sides PR and PQ respec
such that ~PQR= . Qfgvgl?

cm, PS=3 cmand T

then length of SR 1

APQRH, 41 PRH&%}@‘)? I fag S
e TE, & <P@RX psT| T PT=
5 cm, PS= 8'omi a1 TQ = 3 cm ¥,

= SRaﬁ«@ﬁém F?

(@) f{:} (b) 6 cm
~
;%’1- cm (d) 3 2 o
cor

193 In AABC, two points D and E
\ "6 are taken on the lines AB and

1), ()? 1-]*‘-;'-“"‘z

BC respectvely in such a way
that AC is parallel to DE. Then

AABC and ADBE are

AABCH, fag D @1 E, =1 AB aen

BCR @ y#r ¢ , fF 951 AC,DE &

AR ®1 a9 S AABC @it

ADBE &I

(a) similar only If D lies outside
the line segment AB

(b) congruent only If D lies out
side the line segment AB

(c) always similar

(d) always congruent

194.1f the opposite sides of a quad-

rilateral and also its diagonals
are equal, then each of the

angles of the quadrilateral is

195.

196.

f}m '\: (“(-%;ﬁ _qﬁ

o

e

197.

198.

199.

200.
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foredt =gfs =t faodia emd qen faarof
TR 21 99 FgT B THE R 2
(a) 90° (b) 120° (c) 100° (d) 60°
Among the angles 30°, 36°,
45°,50° one angle cannot be an
exterior angle of a regular poly-
gon. The angle 1s

foredt IS & F01 30°, 36°, 45° @en
50° ® § A H T 07 "€ H01 T
B a8l 0 B

(a) 30° (b) 36° (c) 45° (d) 50°
ABCD is a cyclic quadrilateral.
The side AB is extended to E in
such a way that BE = BC, If
2ADC = ;, ~BAD = 95°, then
fDCELs“équal to

ABED % w31 sy #1 1 AB #
U E g% ™ 9%R 9g@ T f% BE =BC
ZADC=70°, /BAD =95° %,
T -DCE 1 T Td F1?

(a) 140° (b) 120° (c) 165°(d) 110°

If ABCD be a cyclic
quadrilateral in which
A=4x°, /B=Tx°, 2C=5y°,

D=1, then x:y is
ABCD u# =&d <qqys #, faad

A =4x°, 2zB="7x%, £C =5y @0
/D= &, @9 X:y e

(@) 3:4 (b) 4:3

)5 :4 (d)4:5

ABCD 1s a cyclic quadnlateral
and AC i1s a diameter. If ~pac=
55°, then value of ~AcD is

TF FF =945 ABCD % den AC =1
813 ,pac=55° ¥, W ~AcD ¥
(a) 55° (b) 35° (c) 145°(d) 125°
Each of the circles of equal radu
with centres A and B pass
through the centre of one
another. They cut at C and D
then ~pBC 1is equal to

< we Bema ol 9o A T B #
Al g9 uE-gEt %l fag Caen D W
ufeesfed #4991 UH - & # 9
o &1 .DBC F1 A AW L2

(@) 60> (b) 100° (c) 120°(d) 140°
The three equal circles touch
each other externally. If the
centres of these circles are A, B,
C, then ABC is

w7 UHE-gW H T w9 B
afc 1 gal & &% A, Baa C &, @
A ABC %
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202

203
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(a) a right angle triangle /& "

(b) an equilateral triangle /S m =g
foagr

(c) an isosceles triangle /¥ Hfgamg
[EXs]

(d] a scalene triangle /fasmaTg
st

'1s the centre of the circle, AB

a chord of the -circle,

If AB 20

18
OM L AB .

cm,

OM = 2411 cm, then radius of the

circle 1s
O g9 %1 ¥ ¥, AB g7 1 a1 8,
or L AB %, afz AB = 20 cm,

Ticm ®, 74 g9 # e

oM =2

S L2

(a) 15 ecm (b) 12 cm

(c) 10 cm (d) 11 em
.In AABC, “ABC=70°, 2BCA =

40°, O1s the point of inter-section
of the perpendicular bisectors of
the sides, then the angle »Boc 1s
AABC H, £ABC = 70°, ~BCA =40°
qun fag O , 99 % wasrgal &1 ufawfed
fag &1 99 ~Boc ®

(a) 100° (b) 120° (c) 130°(d) 140°

.A, B, C are three points on the

circumference of a circle and if

AB-AC-5Jocm and . BAC=
90°, find the radius.

feedt g9 #t ufify w 7 fag A, B

205

206.

207

208""{}?‘0 circles

,,,,,

.Two chords AB and CD of a

circle with centre O, intersect
each other at P. If ~AoDp= 100°
and ~Boc = 70°, then the value
of APCis

O #=% @l g9 # ] el AB @l
CD -t # fag P w wfa=sfa
®idl €1 afg zaop= 100° der
2Boc = 70° %, ™
T FL?

(a) 80° (b) 75° (c) 85° (d) 95°
Chords AC and BD of a circle
with centre O intersect at right

£ZAPC 1 51

angles at E. If ~0ap = 25°, then
the value of  EBCis

O %= a1t g #! 3 Sftard AC qen
BD t#-g@t #i fag E T dH&OT
w fasfsa wwt €1 9k 2o0aB=25°,
74 LEBC 2| :

(@) 30° (b) 25° (c) 20° (d) 1587

.Two circles touch exterg@'ﬂ'g

P. QR is a common ta enf’jof
the circles touching thef gu’cles

at Q and R. The}/ﬂ;{ea.s“ure of
Z2QPR 1s ‘*}
q o wE-E A P e w5
& QRaﬁ'—ﬁ # IS o v #, S
<M gl H ﬁ% Q den R o¢ w91 et
2l A@Tﬂ A S
@)(120° (b) 60° () 90° () 45°
intersect each
other at the points A and B.

A C¥ 9 A5 -ac- 542 cm ag:nf + A straight line parallel to AB

ZBAC = 90° %, 7@ fowm s #2)
(&) 10 em (b) 5cm {/ R
(c) 20 em (d) 15 em {
In the given figure’] !
50°and oMy =15°% :gﬁen the
value of the /WN 15

few wu fax ®, JoNy = 50° 3§t
~OMY =15° &, 99 -MON ¥ Tm?

(a) 30° (b)40° (c) 20° (d) 70°

209.

intersects the circles at C,

D, E and F. If CD = 4.5 cm,
then the measure of EF i1s

B g UH-SHL F fag AdE B W
wfr=sfaa @ €1 AB F wwre ter
?ﬁ’faﬁ C, D, E a1 F wm yfr=sfem

% ¥1 af CD =4.5 cm, 7@ EF #
T {h w2

(&) 1.50 cm (b) 2.25 cm

(c) 4.50 cm (d) 9.00 cm

Two circles C, and C, touch
each other internally at P.
Two lines PCA and PDB meet
the circles C, in C, D and C,
in A, B respectively. If
#BDC =120°, then the value

of ,ABP 1s equal to

210

o

oL U
e)

212.

213.
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qga C, a C, TH-JWH FI Sials 9
@ fag P o99 %ed €1 3 terd PCA
et PDB 99 C, %1 C, D 7en C, it
A, Bw faardt 1 afs ~BDC = 120°
2, 99 LABP 1 A ¥4 F?

(a) 60° (b) 80° (c) 100°(d) 120°

.Two circles having radii r

units intersect each other in
such a way that each of them
passes through the centre of
the other. Then the length of

their common chord is

rﬁwmﬁmﬁwm?ﬁaﬁu

(aw units [b] J3r units
»
wo circles with centres A and

5, units (d) r units

B of radii 5 em and 3 em re-
spectively touch each other
internally. If the perpendicu-
lar bisector of AB meets the
bigger circle at P and Q, then
the value of PQ is

5 cm, 3 cm =1 96 791 A, B®=
I R I TF TR K AGE T OW
ol Fw E1 AB &1 ara-wefgaeE 92

74 1 fag P A Q W firer €, 79 PQ 87
(@) 6 cm (b) 2/6 cm
() a6 cm (d) 46 cm

The length of a tangent from an

external point to a circle is 5,3
unit. If radius of the circle 18 5
units, then the distance of the
point from the circle is

forelt faig & g9 W =i+t ¢ wwf T &t
o 53 AfFe #, a9 # S
cm &, 79 fag Ft 99 ¥ g0 79 FL?
(a) 5 units (b) 15 units

(c) — 5 units (d) — 15 units
Two circles are of radii 7 cm
and 2 cm their centres being
13cm apart. Then the length
of direct common tangent to

the circles between the points
of contact is

3 7 cm @1 2 cm 501 9@t g &
% 13cm g0 W figg 21 SwEfTe
Tl e o {6 w7

(&) 12 em (b) 15 cm

(c) 10 em (d) Sem

|' 549
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215.

216.

217.

218.

219.

220.

The radius of a circle is 6 cm.
The distance of a point lying
outside the circle from the cen-
tre 1s 10 cm. The length of the
tangent drawn from the outside
point to the circle is

6 cm e w16 99 & et feom fag #1
% 9 g0 10 cm 1 forg § 99 W i
T T @ F e Jh H 7

(@) 5 em (b) 6 cm

() 7 cm (d) 8 cm

DE is a tangent to the circum-
circle of AABCat the vertex A
such that DEIBC. If AB = 17
cm, then the length of AC i1s
equal to

AABC % Ufigd W feud fa5 A 9
=it ¢ =39 @ DE 21 59 wFR # fF
DE[ BC 4 AB= 17 cm, 7 AC &I

g S 2

() 16.0 cm (b) 16.8 cm

(c) 17.3 cm (d) 17 cm

ST 1s a tangent to the circle at

P and QR i1s a diameter of the
circle. If ~rpr = 50°, then the
value of 2SPQis

g9 & fag P 9 ¥99 T@n STau QR
g9 @ =W 81 4% ~RPT = 50° %,
T 2SPQ B

(a) 40° (b) 60° (c) 80° (d) 100°
If PA and PB are two tangents
to a circle with centre O such
that ~AoB = 110°, then -APB 1s
O #= 9t 3 W 31 o1 W PAG9r PB -
% R .A0B =110°%® 2APB=?
(a) 90° (b) 70° (c) 60° (d) 5?
In a AABC, zA+_:B {’)]BO

A+ 2C =96° Find the W
AABC H A+ ;31 18°,
LA+ 2C=96°., 44 FHAW T FL7

(a) 36° (b) 40° ffgso (d) 34°
In AABC,if AD 1'BC, then AB*+
CD? is equal to

AABC #,4f% AD | Bc %, 98 AB*+
CD? i
(a) 2BD?
(c) 2 AC?

(b) BD?*+AC?
(d)None of these

1
ZA+—2B+2sC=140° then B is
2

1 5
_/A+E_/B—_.1c:140° 2 @ B %I

550 |
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(a) 50° (b) 80° (c) 40° (d) 60°

221.In triangle ABC a straight line

parallel to BC intersects AB and
AC at D and E respectively. If
AB = 2AD, then DE : BC is

A ABC H 9 BC % 9HHRR F@l o=l
AB@q AC = fag Daen EW wa=sfea
F% 1 2 AB=2 AD &,76 DE : BC 7

(a) 2 :3 b2z
€) 1:2 (d)1:3

222.1f in a triangle ABC, D and E are
on the sides AB and AC, such
that, DE is parallel to BC and
AD
—=— IfAC 4 cm, then AE is
BD

A ABC ﬁ‘gﬁABawACmmﬁg
Daa E¥9 y%R € f DE, BC %

. . AD 3
HATTT = AC=
s,ﬁRBD S%aﬁz

4 cm %, 99 AE 2 P
(a) 1.5 cm (b) 2.0 cm ;a?’»
lc) 1.8 em (d) 2.4 cm v

223.The measure of the ?ﬁ‘?\‘ﬁe—
tween the internal and &xtenal

bisectors of an

e\m

fFdt = % ‘ﬂ*ﬂ 'ﬂ'IEq T

HHfgASE F A &7

(@) 60° (b)76° “tc) 80° (d) 90°
224.The inte Lfnsectors of the

angles gﬂ’ed C of a triangle

ABC“meet at I If ~BIC = = + X,

T 2

{’”ﬂ@}h X i1s equal to

. AABC % &M B iR C# sl
“ Hafgs fag 1w fien €1 afg

£BIC

zA
= ?+X%,ﬁﬁx?ﬂqﬁ%|

(a) 60° (b) 30° (c) 90° (d) 45°

225.The side BC of a triangle ABC

is extended up to D. If ~ACD =

120° and—'ABC=% ZCAB , then

the value of ABC is
A ABC 1 931 BC %1 fag D @& @gml

1
T g cAcD = 120° qen ZABC =~

JCAB ¥, @9 ABC FI |H T w2
la) 80° (b) 40° (c) 60° (d) 20°

226.In AABC, D is the mid-point of

BC. Length AD is 27 cm. N is a
point in AD such that the length

227.

O

of DN is 12 cm. The distance of
N from the centroid of AABCis
equal to

AABC ¥, D 9= BC %1 5¢7 farg €1
AD #t T 27cm @1 fag N, AD ®
T yFER & 5 DN = 12 cm 81 AABC
5% ¥ fag N#fgf 3 =97

(a) 3 em (b) 6 cm
(€) 9 cm (d) 15 cm
YEAR 2015

Internal bisectors of ~Qand R

of APOR intersectat O. If ~ROQ =

96° thensthe value of ZRPQ1is :

AP@Rg ié’Q a9 R % afahm

% ‘0 W UE @ F HRA

aﬁ-. »feoo 96° & @ -RPQ =7
a) 12° (b) 24° (c) 36° (d) 6°

o 228 #f D, E and F are the mid points

b?,n' ‘,ej

229.

230.
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of BC, CA and AB respectively of
the AABC. The ratio of area of
the parallelogram DEFB and
area of the trapezium CAFD is:
AABC H BC, CA 7l AB % wey faig
Fu9i: D, E @on F 1 & wwiaw =qef=
DEFB % &=%d den g9cd =qus
CAFD &% #F%d 1 SFTd 1 i
(@) 1:2 (b) 3:4

()1:3 (d)2:3

If the three angles of a tri-
angle are:

6x i 2x %
pen1sy, (6] and (5Fea0]

then the traingle 1s :
afe ww fays F A O (x+15p,

{6; 6] o {23_x+30]0ﬁrﬁ33!a:m§1

(a) isosceles (THfFETg)
(b) equilateral (®H«Eg)
(c) right angled (=)
(d) scalene (fovm =)

G is the centroid of A ABC.
The medians AD and BE in-
tersect at right angles. If the
lengths of AD and BE are 9 cmn

and 12 cm respectively; then the
length of AB (in cm) is?

AABC ® G %% ¥l AD a1 BE
Afegwd UF W F GHROT W R
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21 afz AD e BE =t &ar #091: 98, 235.ABCD is a cyclic quadrilateral.

. qen 12 9. 21 @ AB =1 ofaE I

w0 (A H)
(a) 11 (b) 10 (c) 10.5 (d)9.5
In AABC, D and E are mid

points of sides AB and AC
respectively. If -Bac= 60° and
#ABC= 65° then ~CEDis:
AABC % AB #iR AC gl & 75
fig wwr: D #ik E € afg .BAC =60°
3t £ABC = 65° €, @ ZCED= ?

(@) 125°(b) 75° (c) 105°(d) 130°
Given that : AABC[ APQR, if
ama(ﬂPQR) 256
area(ﬂABC) 44

then AC i1s equal to?
AABCT APQR, fem1 ma1 2, afg

andPR 12 cm,

&FaAPQR _ 256
S ne 441%5{‘RPR 12 &+,

% 1 AC fres suer e

(&) 1242 cm (b) 15.5 em
(c) 16 cm (d) 15.75 cm

AC 1s a transverse common
tangent to two circle with cen-
tres P and Q and radi 6 cm and
3 cm at the point A and C re-
spectively. If AC cuts PQ at the
point B and AB = 8 cm, then the
length of PQ is:

P #in Q #% a@ & gdl #1 AC U
e Tl YEn g1 AT ge w1 Aden
C fig w = w5 6 ¥t qan 3

i, %|u1?AC,Bﬁ§mPQ?,‘ri;3

Wﬁ‘ il .ggf“._.:“‘fl
(a) 12 cm (b) 15 cm//,

(c) 13 cm (d) 10 ‘A;'

AB and CD are t }}arallel
chords of a circl lyt«tig on the
opposite side of’the: centre and
the distance between them is

17 cm. The length of AB and CD
are 10 cm and 24 cm respec-
tively. The radius(in cm) of the
circle is:

AB @ CD U&% 39 HI 3 98iay Sfand
& ot # o famtia femedi 4 & ol < %
= #1 g 17 ¥ & AB 9= CD it
orard wEe: 10 F. @en 24 W, ¥, G
ERlcaRE= e cleal
(a) 13 (b) 18

(€9 (d)15

Diagonals AC and BD meet at
P. If .apB= 110°
ZCBD = 30° ,then » ADB measures:
ABCD w# =& =g €1 AC 71 BD
fawef P fag wt fAmd €1 afg
ZAPB - 110° 3T /CBD - 30° &, df
ZADB =?

(a) 70° (b) 55° (c) 30° (d) 80°

and

236.In A ABC, a line through A cuts

the side BC at D such that
BD : DC =4 : 5. If the area of
A ABD = 60 cm? then the area
of AADC 1s:

A ABC HA ¥ 1o =<t T 3@ BC
qol #1 D fig W 79 @ Fed @ fh
BD:DC = 4:5 21 3§ AABD F1 &%
604M.2 T, 1 AADC T &% FId Fi?
(&) 50 cm? (b) 60 cm?

(c) 75 cm? (d) 90 cm?

237.A tangent is drawn to a circle

of radius 6 cm from a pomt &Wﬁ
ated at a distance of 10 cm from
the centre of the cirgle }T‘[’le
length of tangent wi]l be/

6 4t f=m e T :aqasz-qloﬁ
%1 g8 W o w TR o Y i
T, e w0

(@a)4cm A ./ (b) 5 cm

(c) 8 cm ¢ Yy (d) 7 cm
238.A sqy }ié inscribed in a quar-

ter-ci \glp in such a manner that
two gf its adjacent vertices lie
{*q,ﬁéthe two radii at an equal dis-
tance from the centre, while the

b~ .2 other two vertices lie on the cir-

Tt @ 3it AB =8 ¥t ¥, 9 PQHL ./

cular arc. If the square has sides
of length x. then the radius of
the circle is:

FqU 99 W OF T T @ e S
% fr su o i i 9 e gl W
e W frord ¥ wAfE 9 ol o g
a9 R fegd &1 A ol & qen o
X®, @ 79 # B wm e

X £
o) — ) 7
Jox
© 75 (d) 2x

239.Two chords of length a unit and

b unit of a circle make angles
60° and 90° at the centre of a
circle respectively, then the
correct relation 1s:

240

UF g9 F1 g Sand A o wa
aiFE AN b THE &, 99 F % W
A 60° 941 90° F1 FV] FAA B, A
e e 22

(&) b= .Jaa
c)b= fz3a

(b) b=2a

(d) b=3/2a

.The measures of two angles of

a triangle is in the ratio 4 : 5.
If the sum of these two mea-
sures is equal to the measure
of the third angle. Find the

smallest, angle

T s mmna?mq?a?laqﬁqm
45%@@@“@%%@
Mﬁﬁﬂﬁwa‘w% i T

Qﬁl 90° (b) 50° (c) 10° (d) 40°

.-?’,le

242.

243.
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ABC is a triangle and the sides
AB, BC and CA are produced to
E,F and G respectively. If ~CBE =

2ACF = 130°, then the value of
ZGAB is:

ABC tw# fiy # 3t AB, BC @en CA
gam] w09 EF 991 G 7% agrt Sl
21 afe CBE=sACF-130° %, @i
<GAB i HMY F EA?

(a) 100° (b) 80° (C) 130° (d) 90°
If two medians BE and CF of a

triangle ABC, intersect each
other at G and if BG = CG,

sBac= 60°, BC = 8 cm , then
area of the triangle ABC is:
AABC ¥ 3 #fea#d BE @en CF
uh-gEt 1 G fig W Hredl € @i A
BG = CG, £BGC=60°, BC=8 -
Ht, @ A ABC %1 &3¢ a1 &1l

(@) 963 cm® (b) 4.3 cm?
(c) 48cm? (d) 54.f3 cm?®

ABC is a cyclic triangle and the
bisectors of - BAC, -ABCand

?

~BCA meet the circle at P, Q and
R respectively. Then the angle
#RQPis :

ABC us w#1g fagst & st ,BAC,
2ABC 3 BCA = Gufgersi w59
PQ @ R fig g9 w fied 2, @
2RQP=7?

| 551
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245.

246.

247.

248.

(a) 90° — (b) 90° + %

2
Two circles touch externally.
The sum of their areas is 130 ¢
sq the
between their centres is 14
cm. The radms of the smaller
circle is:

2 I9 - B IR F9 9 3 L
S el 1 A 130 1 Gt ® o
TTH FE F A" B GU 14 Fedte €, Al
B ga =t e 5w T

(a) 2cm (b) 3 cm

(c) 4 cm (d) Sem

XY and XZ are tangents to a
circle. ST is another tangent
to the circle at the point R on
the circle which intersects XY
and XZ at S and T respectively,
If XY =9 cm and TX =15 cm,
then RT 1s :

XY @en XZ uh g9 F wwi-tendt €
9 | R fag 9 & 3R g9l @ ST
it S &, S XY a1 XZ F w9
Sdur T fag  wedt 81 Ak XY =9
Gefte 3fR TX = 15 &¥fe &, @t RT=7?
(a) 4.5 cm (b) 3 ecm

(c) 7.5 em (d) 6cm

In a thombus ABCD, A= 60°
and AB = 12 cm. Then the di-
agonal BD is:

ABCD % ¥=g¥s €, <A = 60° 3¢

B
(c) 90° — () 90 + —

cm and distance

AB = 12 % ¥, f famvi BD = ? f

(a) o3cm
(c) 12 cm (d) 10 cmg/

If PORS is a rhom fand
28PQ = 50°, then :g}

PQRS T THaqHd & 4/ SPQ =
50° %, & £RSQAED,

(a) 75° (b)45° (¢) 55° (d) 65°
Two isosceles triangles have
equal vertical angles and their
areas are in the ratio 9 : 16.
then the ratio of their corre-
sponding heights is

9 wufzarg fagsi & sidemr auar &
3R 399 el 1 A9 9: 16 %, @
ITHI LA F SFATE e
(A)4.5:8 (b) 3: 4

(c)4:3 (d) 8: 4.5

(b) 6 cm ’ “_” “}-

552 |
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2350.

251.

252.

The perimeters of two similar
triangles are 30 cm and 20 cm
respectively. If one side of the
first triangle 1s 9 cm. Determine
the corresponding side of the
second triangle.

% waey fagsi & ufam w30
Bofte 3iR 20 Gl 31 AR Te e
T W e 9 Herle it ¢ A gE B
H Gl H AdTE Fd FL

(a) 15 em (b) 6 cm

[c) 13.5 cm (d) 5 em

If in a triangle ABC, BE and CF
are two medians perpendicular
to each other and if AB = 19 cm
and AC = 22 cm then the length
of BC 1s

AABCH ¥ wifegend BE i CF t%
TH W eqed & 3l afg AB = 19 el
AR AC = 22 9ol 2, @ BC #1 @

G FL
@) 20.5 cm  (b) 19.5 cm .’f
(c) 26 cm Z" J

(d) 13 ¢
‘O’ 1s the cwcumcﬁr& of
triangle ABC. If 50° then
ZOBC 1is yﬁ
ﬁ*ﬂE!ABCqu\O %‘mﬁ /BAC=
50° %, /@Bg;
() 100° (6) }3‘0° (c) 40° (d) 50°
Two%& of radu 10 ecm and

8 em'intersect and the length
eﬁ%hé common chord is 12 cm.

{N'Ffietl the distance between

,,,,,

253

their centres is :

"3 o9 TSl B wow: 10 et

8 At %qmgmzmm%aﬁzw
3wafe Ser @t e 12 St 7,
(@) 13.3(b) 15 (c) 10 (d)8

The diagonal of a quadrilateral
shaped field is 24 m and the
perpendiculars dropped on it
from the remaining opposite

vertices are 8 m and 13 m. The
area of the field 1s?

TF FqeE ©d & o it warE 24
e 2 &R w9 gy 3 fauda ofid @
T FAY: 8 e 3 13 W F w@a 2@
T E, @ B F ATEA T F
(a) 252 m? (b) 1152 m?
(c) 96 m? (d) 156 m?

254,

In a given circle, the chord PQ
is of length 18 cm. AB is the per-
pendicular bisector of PQ at M.
If MB = 3.find the length of AB
feu M gm # PQ Sen = =g 18 #.
1. %1 AB T @ HaiganE €, S PQ
# M fidg w wrar 21 7t MB =33
o, 8, 9 AB # ofaE 7@ #

P Q
¢ B

(a) 25.cm (b) 30 cm

(c ’J%ém (d) 27 cm

255: &Q}he given figure, PAB is a

O™\

l?,n’ léj

256.

257.
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&ecant and PT is a tangent to
‘;the circle from P. If PT = 5 cm,
PA =4 cm and AB = x cm, then

X].S

far 7w fa3 § PAB @i#2 (secant) 2
@t PT 94 & fag TW P& et T
vt e # Ak PT=5 9. PA=4
HH. ik AB=x 9. & @ x=7

4Cm A

(&) 4/9 em (b) 2/3 em

() 9/4 cm (d) 5ecm

Two circles with their centres
at O and P and radii 8 cm and

4 cm respectively touch each
other externally. The length of
their common tangent is

3 g for % O wen P & ij fm
e wwe: 8 A w4 4. 2,
TH-E W AaEd B 9 Wy w1 g, Al
Iyt it & oo | w7
(a) 8 cm (b) 8.5 cm

(c) 842 cm (d) g3 cm

The centroid of a A ABcis G.
The area of A ABCis 60 cm?®.
The area of A GBC is

AABCHI #%%F G 1 AABC FI
&T%el 60 cm? &1 A GBC F1 &ihd

fea gm?
(&) 30 cm? (b) 40 cm?
(c) 10 cm? (d) 20 cm?
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.In trapezium ABCD, ABICD

and AB =2 CD. Its diagonals in-

tersect at Q. If the area of
A AOB = 84 cm?®, then the area of
A COD is equal to

uF §aed ABCD § ABICD # 32X
AB =2 CD %l 5% fa@i O | u#
T &I wied €1 9 A AOB H1 &l
84 cm? %, @ A coD # WA fEuE

B
(a) 21 ecm? (b) 72 cm?
(c) 42 cm?® (d) 26 cm?

If O 1s the circumcentre of a
triangle ABC lying inside the
triangle, the ~ OBC+ /ZBAC is
equal to

Afz O firs ABC #1 1fizz & =t s
% it feom &, @ 2 OBC+ £ BAC
fora® auea gm?

(a) 120°(b) 110° (c) 90° (d) 60°
AD 1is perpendicular to the
internal bisector of ~ABC of
A ABC. DE is drawn through D
and parallel to BC to meet AC
at E. If the length of AC 18 12
em, then the length of AE (in
cm.) is

AD,AABCHF ~/ ABC® ffGF FHior
fgurer W wa &1 DE %1 D 9 89 3T
BC % guiat s s & foe AC, E
o el @1 Ak AC #1 & 12cm 2,
dl AE #f &g (cm ¥ ) faredt &rit?

@8 (B3 (94 (@6

The interior angle of reg;ulalg‘.p"‘sg

polygon exceeds its extern
angle by 108°. The numbe
sides of the polygon is

TF UH Ggqd I HdH
® 9 108° st 2
(a) 10 (b) 14 7 (@12
Quadrilateral

(d) 16
ABCD

circumscribed about a circle. If
the lengths of AB, BC, CD are 7

18

cm, 85 cm and 9.2 cm
respectively, then the length

(in cm) of DA is

UF g9 & W R AgHs ABCD e
g1 ¥1 afg AB, BC, CD & #ar FH:
7 cm, 8.5 cm 3 9.2 cm ¥, @ DA
F daré (cm # ) fFat gnit?

263.

264

265.

,,,,,,,

.6

267.

(a) 16.2 (b) 7.7 (c) 10.2 (d) 7.2

Given that the ratio of altitudes
of two triangles is 4:5, ratio of
their areas is 3 : 2, The ratio of
their corresponding bases 1s

afz = fyed % o o = e 4
5%, 9% dFFcl # I 3 : 2 8
I ARG (F) SR H ST
1 E?
(a) S

(c) 8:5

(b) 15 : 8
(d) 8 : 15

.In AABC, rBAC=90°and AD | BC .

IfBD = 3 cm and CD =4 cm, then
length of AD is

AABCH, /BAC =90°31R  AD 1 BC 2
e BD=3cm 3 CD =4 cm &, @
AD #t o #

[a) 243 om (b) 3.5 cm
(c) 6 em (d) 5 em

In triangle ABC, DEI B@\ ;

D is a point on AB and Es _gomt
on AC. DE d1v1des the. %;’fea of

A ABC into two uaI pauts
Then DB : AB is &]Jéal to

Q?ﬁﬁaABCA{mE BC # fsed D,
Aana: %4 E, ACTR T fig
%l mﬁmaﬂﬁmﬂw
i ST 3, @ DB : AB fres

)‘
rff W2 +1 (B) W2-1):

(© 2:W2-1) (d W2+1:42

Df"’ 266 ABCD is a cyclic quadrilateral.

AB and DC when produced
meet at P, If PA = 8 cm, PB =
6, PC = 4 cm, then the length
(in cm) of PD is

ABCD w w&M =gqst &1 AB 3R
DC 5@ agr ot @ 7t 3 P fierdt
# aft PA=8 cm % PB=6cm#,
PC =4 cm %, @ PD & waré fefeeit 87
(a) 10 em (b) 6 cm

[c) 12 em (d) 8 cm

ABC is a triangle in which
DECBcand AD : DB =5 : 4.
Then DE : BC is

ABC s tw faygs € fed DE [ BC &R
AD :DB =5: 4%, d DE : BC=n 27

268.

o a7

269

\.f‘

l?,n’ léj

270

271.

272.
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(@) 4:5 (b)9:5
€)4:9 (d)5:9

The radii of two concentric
circles are 17 cm and 25 cm. a
straight line PQRS intersects
the larger circle at the points P
and S and
smaller circle at the points Q
and R. If QR = 16 cm, then the
length (in cm.) of PS is

= w F9 F B 17 9 ei 25
it 21 U FHten PORS Fedt 94
P it S fagati ot shredt € AR e g4
1 Q 3t Rfsfgsil w #redt #1 afz QR
it €1 PS #1 dard (F. )

i‘?\ W
(b) 33 (c) 32 (d) 40

A:B is a diameter of a circle
swith centre O. The tangents
at C meets AB produced at Q.
If #CcAB=234°, then measure of

intersects the

ZCBA1s

AB %7 fag O ad g9 %1 =4 2|
Cw wyfsa Q W o AB ¥ oot
2 afs scaB=34, @ ,CBA I
HIT F BIM?

(a) 56° (b) 68° (c) 34° (d) 124°

.For an equilateral triangle, the

ratio of the in-radius and the
outer-radius is

wF FAs e & fag snials e
s @ B #1 SE9E 0 e 27
(@) 1:2 (b) 1:3

(€) 1:42 (d) 1:43

If a and b are the lengths of the
sides of a right angled triangle
whose hypotenuse 1s 10 and
whose area 1s 20, then the
value of (a + b)? 1s

aft a X b UF T HHR FHOA F
et F1 gl ¢ foaw w9f 102
F ga%a 20 8, @ (a + b)2 w1 AA
fepan €2

(@) 140 (b) 120 (c) 180(d) 160
Let P and Q be two points on a

circle with centre O. If two tan-
gents of the circle throuigh P and

Q meet at A with -PAQ =48°,
then -APQ 1is

|' 553
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273.

o #5 fig O 9 99 WP 3t Q 278.ABCD is a cyclic quadrilateral,

g Mg IIF/ZPARQA
B e T el Yed A W frert € @
<PAQ =48°, then sAPQ f&amn zrm?
(a) 96° (b) 66° (c) 48° (d) 60°

If the sides of a triangle are in

_ i A
the ratio 311;:31, then the

AB is the diameter of the circle.
If ~ACD = 50° the measure of
il BAD is

ABCD w&#ta wgds &, AB 39 1
=118 819K , ACD=50° §,d , BAD
F1 T ¥

(a) 130°(b) 40° (c) 50° (d) 140°

A & fF ABC u% mHarg fagq # &
AD, BC # =9 @ @ AB? + BC? +
CA2 =7
(a) 3AD?
(c) 2AD?

(b) S5AD?
(d) 4AD?

284.AB and AC are tangents to a

circle with centre O. A 1s the
external point of the circle. The

triangle is 279.BE, CF are th.e i .medie.a_ns of line AO intersect the chord BC at
L _AAB(‘ an.d G El;‘ theLr;)Cc‘nnt ((;f D. The measure of the /BDO is:
. ; s 3.12.30 = intersection. cuts at 5 :
AR W T g 4 4’3F Ratio of AO : OG is equal to ABSﬂ'{ACQH;;J;ﬁW @ 2,
o A €, @ e S 82 AABC % 3 wifezrsg BE, CF # 3R G ﬁg%o;ci)ﬁi;sﬁmé?gifwﬁ
(a) Right triangle (@) I SRR # g 21 EF, AG %1 O PRy S
(b) Isosceles triangle (¥HfEag) R FEA B T AO : OG o+ ?’,}‘
. . (a) 45 [};f?S“ (c) 90° (d) 60°
(c) Obtuse triangle (3fi=rm) AL 22 —y oy . !
(d) Acute triangle (ZFHT) @) 3:1 b)1:2 nﬁ:@”‘Bcf y e, emad
274.1f the ratio of the angles of a [c) 2:3 (d)1:3 e - i angles /B ana
quadrilateralis 2 : 7 :2 : 7, then 280.AB is the diameter of a circle » o\ K;ﬁc meet at the point O. If 44 =70
it is a with centre O. P be a point on # then the measure of /BOC is:
A UF =g & HON F SFIE 2 it. If ~poa=120°. Then, zpBog ““ AABCH, FW /B @R .CF TS
7:2:7% @9 ¥ & m@@mmgm ? Hm gfaaes O fag W fier &1 afy
(a) trapezium  (b) square AT 3w Ul P Us f?['E N .q“f“q A =T0° %, @ BOC %I | 41 W2
[C] para]lelogra_m[d] rhombus ~ POA=120° .%., ?ﬁ /PBO :ﬁ-«“ ®) [El:l 75° I:b] 50° [C] 55° [d] 60°
275. The length of two parallel chords < = X - ; i )
of a circle of radius 5 cm are 6 (a) 60° (b) 50° (cJA20%H) 45 286.A30D 18 8 cycitc Crapezhim
281.A circle touches ~*f0ur sides whose sides AD and BC are

cm and 8 cm in the same side of

parallel to each other; if ~ABC=

the centre. The distance of a quadn?}exal ABCD. The
. 75° then the measure of

between them is Mp') :
5 cm 5 R ©F F9 F [ AR value of =~ 1s equal to: <BCD1s:
sl %) v % 3w @ e A 6 é?%i ABCD G w1 el T & firret

3 5 ; . Q.T’F ABCD &l 19X i : 5 —_—
mWScm%lWﬁﬁﬁﬁiﬂ%’ o 1 :ADGfRBCQH?:’iF?H? &E
(8) 1 &n (£):2 em (AB CD) - afg ZABC= 75° %, @ ,BCD® WA
(c) 3 cm (d) 1.5 cm f’@ﬁ e o = =m?

276. AB is a diameter of a circle hav- « “~  amgr %7 (a) 75° (b) 95° (c) 45° (d) 105°
ing centre at O.P 1is a point on/ ¥ 287.The distance between the
the circumference of the cirele, -t ! 1 centers of two circles of radii 6
If ~POA = 120°, then m?gre"’ @3 (®11 (9 @7 cm and 3 cm is 15 cm. The
of /PBOis 282.D and E are mid-points of sides lenth.af dhestransveras conmotn

277.

554
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ABUF 39 F1 & %, (#2071
P3d ¥ Wifa W ; g 21wl
_POA=120° /g Pédemm%
(a) 75° (b) 60° [1511680 (d) 70°
ABC is a triangle in which ~A
=90°. Let P be any point on side
AC. If BC = 10 cm, AC = 8 cm
and BP= 9 cm, then AP =

ABC w% T3 € fod A= 90° g,
T & B AC s w P % fag 2 afx
BC =10 cm, AC = 8 cm 3% BP =
9cm ¥, dt AP =

AB and AC respectively of the
A ABC.A line drawn from A
meets BC at H and DE at K.
AK:KH=?2

D it E, A ABC. 1 =1 AB #n AC
% %N wen fag 81 A Q@i T s e
H R BC¥ @it KW DE @ firerit 21
AK : KH =?
&) 2:1

() 1:3

b)1:1
(d)1:2

tangent to the circles is:

6cm-3ﬂ?30mﬁﬂ131ﬁ'1’[37ﬁ3ﬁ‘
32 F @9 g 15 cm 21 g9 &
Ivafs fods ol T =% o faad 82

(@) 7Joom /& (b) 12 cm/F
(¢) efoem /TH (d) 18 cm/dHt

288. ~aof AABCis a right angle. AD

is perpendicular on BC. If BC =
14 and BD = 5 cm, then mea-
sure of AD is:

AABC #1 ,a T g9 21 AD, BC

_ 283.Let ABC be an equilateral tri- v G
(a) 25 cm (b) 3y5 cm angle and AD perpendicular to W m 2 4% BC = 14 d. 3 BD
(c) 243 cm (d) 33 cm BC, Then AB? + BC? + CA? = ? =5 3§ 2, @ AD &1 HI9 2:

Copyright © All Rights Reserved | https://spardha.guru/
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289

290.

291.

292.
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(@) Vsem/®H.  (b) 3y5cm/ HAL
() 3.5v5cm/ HH.(d) 2y/5cm/ Hil

.In AABC, AD | BC and AD* = BD.

DC. The measure of /BACis:

af¢ aaBc ®, AD | BC @R AD? =
BD. DC %, &t ~BAC#I T 2:

(a) 75° (b)90° (c) 45° (d) 60°
Let AX | BC of an equilateral

triangle ABC. Then the sum of
the perpendicular distances of

the sides of AABC from any
point inside the triangle is:
T gHaTg fayst ABC % AX | BC, dt
sl & 1%L fwdfl f&9g 9 AABC HI
qenesl w o 3RE w5 AT F oerm
(a) Greater than AX (AX a1féeF)
(b) Less than AX (AX ® 54)

(c) Equal to BC (BC & &%)

(d) Equal to AX (AX & &%)

AB is a diameter of a circle

having centre at O. PQ is a
chord which does not inter-

sect AB. Join AP and BQ. If
~PAB= ,ABQ, then ABQP is a:
O #g 9l 99 1 AB =419 €1 PQ Sfiar
2 # AB %1 7 #1=dt AP 2t BQ#
foern wan € € PAB= ABQ, @
ABQP =11 Bm?

(a) Cyclic thombus/=#@ FRagy«

(b) Cyclic rectangle/w# 2m&d

(d) Cyclic square/=sa =1 &gg

The distance between ceﬂtt’es
of two circles of radu 3 ‘qﬂf and
8 cm is 13 cm. If thi {fpklfs of
contact of a direct rm:_m)n tan-
gent the circles ‘""i:’ and Q,

are‘n
then the lengt ’an’the line seg-
ment PQ is:

3 cm 3R 8 cm Fi 5o aw < gEl
% T3 % 99 g0 13 cm &1 AR g F
3IwafTes eyl Yen & ol fag P st
Q &, @1 Ten @ PQ #1 warg #1 wiii?
(a) 11.9 cm / &

(b) 12 cm / It

(c) 11.5 cm / &

(d) 11.58 cm / it

293

294,

295.

,,,,,,

(c) Cyclic trapezium /<#19 wqera f

.6

206.

.Two circles of radii 5 cm and 3

cm touch externally, then the
ratio in which the direct
common tangent to the circles
divides externally the line
joining the centres of the
circles is:

5 cm ¥R 3 cm fe @ & 99 9w
S A e A
e | 5 oqaw ® fafsm w4
(a) 5:: 3 (b)3:5

{¢) 1.5:2.5 (d)2.5:1.5
ABCD is a square. Draw a
triangle QBC on side BC
considering BC as base and

draw a triangle PAC on AC as
its base such that

Areaof A QBC

AQBC [ APAC then
Area of A PAC

1 equal to : ,,f‘\‘
ABCD w =f %1 91 BC g;f‘g?ajjm' ;
wrt BC W 99 QBC ATEy sl

AC W 38 R HFH Fifst PAC
TR foms AQBc&fgmc HIBGES

AQBCQ::M«

APAC!‘HUW me;
£ é

a) 3 c d—

@3 ug ©5 @

£

In;ﬁABe AB BC=K,AC= b

f%)ihen AABCis a :

AMBc HAB=BC=K,AC=LK

#, @ aaBC # 2

|a) Right isosceles triangle/
gufgarg wwwm Hgs

(b) Isosceles triangle/ wAfEaATE
syt

(c) Right - angled triangle/
RCERIRIEE ]

(d) Equilateral triangle/ ®q¥w
st

In AABC, /B=60° and.c = 40°%

AD and AE are respectively the

bisector of ~A and perpendicular
on BC. The measure of sgaAp 1s:

A ABCH, .B= 60°3R .c =40%
AD #R AE F99: A % GHGESEH
3t BC W & 21 ZEAD F1 WA F7 £7
(@) 9° (b) 11° (c) 10° (d) 12°
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298.The sidg/l

297.The hypotenuse of a right-

angled triangle is 39 cm and
the difference of other two
sides is 21 cm. Then, the area
of the triangle is

el THFm Bgs w1 &0l 39 § €
s o= | genedi F o 21 & 2,
af f5ge F1 eFwe FarEn)
(@) 180 sq.cm/=@7 @t
(b) 270 sq.cm/z wHei
(c) 450 sq.cm/=nf G
(d) 540 sq.cm/@7 wH
“ C of a triangle ABC

is proceed to D. If =
18 5;1; \‘;3 o] <ACD

K
],J,Eﬁﬁnd 2B =E <A, then the

\\}

mieasure of /B is

\.f ‘(‘{

e ABC &t s BC = slgr D
TF o A 6 2 A% 2acD = 112°

3
ai (B=7 A, @ .B H T FAE

(a) 64° (b) 30° (c) 48° (d)45°

299.The medians CD and BE of a

triangle ABC intersect each
other at O. The ratio of

Ar AODE ‘Ar AABC 18 equal to
fedt frgst ABC &1 wfegsd CD &t
BE T#-38t %I O W Fl €, A ium
Ar AODE :Ar AABC fFaa ==t 2m?
(@) 1:12 (b) 12: 1
(€)4:3 (d)3:4

300.The diameter of a circle 1s 10

cm. If the distance of a chord
from the centre of the circle be
4 ecm, then the length of the
chord 1s:

UF g9 F1 A 10 BHL ¥ R g9 F
& Q St &1l 4 F. B, o Sftar

T fra 27
(@) 5 cm. (b) 6 cm.
(c) 4 cm. (d) 3 em.

301.The length of tangent drawn

from an external point P to a
circle of radius 5 cm. 1s 12 cm.
The distance of P from the
centre of the circle is:

5 8. B A g9 & el fag P ¥
it T ot @ oo 12 g 2
T ® F% W PH g et 22

(a) 12 cm. (b) 9 em.

(c) 7 em. (d) 13 cm.

|' 555
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302.In AABC, O 1s the
orthocentre and ZBOC=80°,
the measure of Z/BAC 1is:
AABC #, O wia % ¢ 3ik Z/BOC=80°
%, ZBAC =1 919 =11 m?
(a) 120° (b) 90° (c) 80°(d) 100°
303.In triangle ABC, M 1is the
midpoint of BC and N is the mid
point of AM. BN when extended
intersect AC at D. If area of
triangle ABC 1s 20 sq. units
then what 1s the area of
A AND?
uF 395 ABC & M, BC5an N, AM
%1 ueAfag 1 BN ®1 &/ @gq W 9g
AC %1 D W @l @1 aft fiyws ABC
H1 g 20 @1 g €, frye
AND =1 #9%a T F17
(a) 1.67 sq.units
(b) 1.5 sq. units
(c) 2 sq.units
(d) 3 sq. units
304. A line PQ interesect the sides
AB, AC of the triangle ABC, at
P, O respectively in such a way
that AP: PB=3:2 then ar A APQ
: arAABC 1s
@ PQ, fagst ABC &1 qasif AB 3%
AC = R P &l Q W 3§ WHR
Fedt 2 fF AP:PB=3:2 @ AAPQ
: AABC = &9%e 1 39 1 &2
(a) 9:4 (b) 25: 4
(c) 9:25 (d 4:9
305.AB and AC are two chords of a
circle. The tangents at B and
C meet at P. If »BAC = 54°
then the measure of , BPC. is-
AB 3R AC 1z 3 i 21 am & B"Bﬁrr”
Cmmﬁmpmﬁm%mﬁ{;mc
= 54° i/ BPC = ‘:IFI E?H?
(a) 54° (b) 108° () [d] 36°
306. The length of ;.é)c dla_gonal BD

of the parallel “g’t‘am ABCD 1s
12 em. P and Q are the

centroids of the A ABC and

AADC respectively. The
length (in cm) of the line
segment PQ is

HHiat 9949 ABCD & fa=vi BD =t
o 129 @1 P 3i Q #991: AABC
HARAADC % #s% ¥ Y@re’z PQ =
s (I ) feadt 22

@4 ([®6 ()3 [(dS5

556 |
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309.1In

311.In

307. PQRS 1s a cyclic quadrilateral,

such that ratio of measures of
#P,-Qand #R 1s81:3:4then
the measure of /S is

PQRS W% U w#ia wgiw & fF 2P,
ZQR £R% W4 & g 1:3:
4% @ £SF AT F A

(a) 72° (b) 36° (c) 108° (d) 144°

308.A chord of length 24 cm is at

a distance of 5 cm from the
centre of a circle. The length
of the chord of the same circle
which is at a distance of 12
cm from the centre is

24 cm @A TF WO 99 & oF fag H
Scm it T W #1 T8 T9 &I S SE we
fag ¥ 12cm =t §@ W ¥ sEH o=
Temet 1

(a) 17 ecm (b) 12 cm
[c) 10 em (d) 11 em
the adjoining figure

ZAOC =140° where O 1s the

centre of the circle then J%BQ

is equal to: ‘g

Hel'd HAIFA H, LAOC =140%281 O 99

4% g & 9 LABC R w T2
EZ ﬁ% ZADB ;},& }

(@) 90b) 110° (c) 100° (d) 40°

310.Fhe<ratio of inradius and

{c aiféunnadma, of an equilateral

. triangleis:

N et wwest B 7 sk B AR

afifamn &1 Srue Fa g

(a) 1:2 (b) 2:1

(c) 1:42 (d)y2 :1

AABC and A POR,

/B=2£Q,/C=/R. M is the

midpoint on QR, If AB:PQ =
area (AABC)

7 : 4, then area (APMR) (APMR) '

A ABC st APQR ¥,

/B=/Q,/C=/R 8 QRE M=

fiig 31 afs AB:PQ=7:4, @ frferf

F AT FT B2

gawa (AABC)

ga%a  (APMR)

AAL

312

313.

oG

&"
. fi orthocentre of the triangle.

314.

315.
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tal— ) > - Icl Idl—

.In AABC, the hne pa_ra]lel to

BC intersect AB & ACatP & Q
respectively. If AB : AP = 5: 3,
then AQ : QC is:

A ABC ¥, BC =1 waigqr i=nm AB
wd AC %t %H91: P U9 Q T Fredr
21aff AB: AP=5:3%2,d AQ:

b) 1:2
d 2:3

o, 5T
In@%@PQR ,Q=55°and /R
©"= 35°. Find the ratio of angles
G«ﬂbtended by side QR on

circumcent re, incentre and

TF APQR, % ,Q=55°Td,R=
35° %1 gon QR gaw faqs & wfiE=,
I Fg UH TEES 9 99 T FH0h

1 AUE T F
(@3:2:1 b)3:2:4
(c)3:2:4 (d4:3:2

The distance between centres
of two circles of radii 4 cm and
9 cm 1s 13 cm. If the points of
contact of a direct common
tangent to the circle are P and
Q, then length of common tan-
gent PQ is:

4 Tft, i 9wt Frenal = & Fdl
% @5 & o= w1 0 13 9. 21 afy
P 3R Q gal W TE W 3wafe

s % e fig ¥ A s e
PQ =1 ervaré feral g7

(a] 10 em (b) 12 em

(c) 15 em (d) 14 cm

With the vertices of the

triangle ABC as centres, three
circles are described, each
touching the other two
externally. If the sides of the
triangles are 10 cm, 8 cm and
6 cm find the radii of the circles.
fgst ABC # 3l #1 %= HFa diF
g9 w4 T ¥, o d v o el
1 aEad ol w21 afg e @
qae 10 G, 8 Wl 3 6 et €,
e
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(a)4 cm, 5 cm, 2 cm
(b)3 em, 4 cm, 5 cm
(c)4 em, 6 em, 2 cm,
(d)3 em, 5 cm, 2 cm,

316.In a trianlge ABC, if ~ A = 55°
and ~C = 80°,
is true:
wF figst ABC ¥, afg A = 55° &R
2C =80° 4 w7 & 1 wél &7
(a)AB > AC > BC
(b)BC > AB > AC
(c)CA> AB > BC
(d)AB > BC > AC

317.The Centre of circle 18 O and
PT is a tangent at T. BC is the
diameter of the circle. If BC is
extended, then it meets the
tangent PT at P. It 1s given that
PC =4 cm and PT = 8 cm. Find
the radius of the circle.
TF g9 & F= O € ¥R PT, T W ot
Y@ &1 BC 99 &1 =99 81 BC #1 @y
W 9, 7§ eeiian PT 9 P foerd €1
fezn T @ fiF PC = 4 ¥+, &R PT =
8 7. 21 g9 =1 o= 9w
(a)S cm (b} & cm.
(c)7 cm (d 4 cm

318.In the following figure, which
of the statements is true?

e smfa § F9 W FuH T 2
D

then which one

g
3

B A
(a) AB = AC  (b) AB =BD
(c)AC=BD (d) CA=CD
319.In AABC, /B =70° and /G =

30°, AD and AE are respe Vely
the perpendicular on side BC
and bisector of <A l;t;*? mea-
sure of +DAE is; J\
AABC % 48='70‘§¢2C=30",AD
#RAE F79: 951 BC T ol 3% 2 A, Fi
GHfgeE €@~ DAE i wm et €2
(@) 24° (b] 10° (¢) 15° (d) 20°
320. 2 equal tangents PA and PB are
drawn from an external point
P on a circle with centre O.
What is the length of each
tangent, if P is 12 cm from the
centre and the angle between
the tangents is 120°?

info@spardha.guru

O #=% o et 9d & awd fag P9
4 R To¥l f@r PA st PB @it
Wt 81 A P @ 12 9 g @ el
R YAl & dtm owor 120° w0
e ot B odEE e 22
(a) 24 cm/ & (b) 6 cm/ Het
(c) 8 cm/ &

(d) cannot be determined/fAuffe

T fwa S g 2

321.1f two medians BE and CF of a

triangle ABC, intersect each
other at G and if BG = CG, angle
BGC = 120°, BC = 10 cm, then
area of the triangle ABC is:

7 frgst ABC 51 3 aifesd BE iRt
CF & gat # G fag W wredt € i
afs BG = CG #, Fv1 BGC = 120°,
BC = 10 &4l 2 @ figs ABC #1
HAFA B2

(2)50 3 cm?/wd? s
(b) 60 cm?/aH .x\ﬁ‘zgj«?
(c) 25 cm?/EHi? '{j;;:f
()25 5 em /0, | 3
322.A circle with cefitre O has a

tangent PQ 1s \cm at point Q.
The line o ent joined from
Ptoa Pplnﬁ"ﬁ on the circle
meets the circle at one more
polrﬁ’{@“ BA< PB and AB is of
lengtli-8 cms. If PQ is of length
?&m&é then PA equal to:

CO A= ot uw ga @ Q fig T g el
: ;T@Pgé‘lmmaﬁm‘ﬁcmépv
f g9 W uF fog A Fi Sigd Tt @ g

W UF 3 fag BW o fierd 1 PA
< PB 2it AB 1 &ar¢ 5 9 &1 @@ PA
wl TrEE A Y

(a)9 cm/Edt  (b) 6 cm/HH
(c)4 cm/%+H  (d) 3 cm/TH

323.ABC is an equilateral triangle.

Points D, E, and F are taken as
the mid-point on sides AB, BC,
CA respectively, so that AD =
BE = CF. Then AE, BF, CD

enclosed a triangle which 1s:
ABC w# wmE fiqs #1 AB, BC,
CA i i wen: D, E, @i Fwea fig
o 7% ¥ @ifss AD=BE = CF @i dl AE,
BF, CD zam fifia fags S 2m?

(a) equilateral

(b) isosceles triangle

324

325.

¢/

326.

327

328.
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(c) right angle triangle
(d) None of these

.The measures of three angles

of a quadrilateral are in the
ratio 1 : 2 : 3. If the sum of these
three measures is equal to the
measure of the fourth angle,
find the smallest angle.

TS F T FiFw AY 1:2:3 %
A § ¥ 4 = A W= e R
& GO E A Y B S |

(a) 30° (b)40° (c) 60° (d)50°
AABC 1s similar te ADEF. If
the sides of A ABC, that is AB,

BC and CA, are 3,4 and 5 cms
respec ;f, what would be the

qumei‘:e'f of the ADEF, if the

sndﬁ* measures 12 cms?

AA?BC ADEF & wwey 2| afg

N (JAABC #1 9= AB, BC, 3K CA,

3,4, 5 @ ¥ ADEF 51 ufmm fean

e, 4fs DE 91 it = 12 e 21
(a) 24 cms (b) 30 cms

(c) 36 cms (d) 48 cms
Astha cuts a triangle out of a
cardboard and tries to balance
the triangle horizontally at the
tip of her finger. On what point
will she be able to balance the
shape for any kind of tnangle?
e 7 FEAE ¥ fe w7 eiR s
A S T A T e e
= g e a8 o fog o ferst
dt TR & 3 1 Hgen S e ?
(a) Incentre/ sid &=

(b) Circumcentre/qfi&=

(c) Centroid/#=®

(d) Orthocentre /da®=

.The perpendicular distance

from the centre of a circle to a
chord 1s 16 cm. If the diameter
of the circle 1s 40 cm, what 1s

the length of the chord?

T g9 F w5 ¥ S F fau o= gh
16 T €, 9% 99 w1 =9 40 9. ¥,
dt st F1 e fRat €2

(a) 12 cm (b) 16 cm

(c) 24 em (d) 30 cm

ABCD 1s a square. Draw an
equilateral triangle PBC on
side BC considering BC 1s a
base and an equilateral
triangle QAC on diagonal AC
considering AC is a base. Find
the value of
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329

330

331.

332.

area of APBC

areaof AQAC *
ABCD w# of &1 qs1 BC #1 41
TAd g1 BC W ®Hag A PBC #9&
#HU AC *i R HAd Y Tkl AC
w uaE A QAC FATHI

areaof APBC
area of AQAC il S

1 1
@5 Bl (O3 @7

.In a rhombus ABCD, /B =60°

and AB = 14 cm. Then the di-
agonal AC is:

T FHEgs ABCD # B =60° 3iR
AB = 14 &f # i fwd AC g2
(b) 14 /3 cm
(d) 15 cm

(&) 14 cm
(c) 12 cm

.In the figure below, AB is a

chord of a circle with centre O.
A tangent AT is drawn at point
A so that #BAT = 50°. Then

/ADB =7
e o & g &1 St AB 3R &= O

%1 /BAT = 50° % fomm A W witen
AT = &t 2,91 ADB=?

In AABC, D is the md- pomd?«ofj
BC and G is the centroid. IHGB, =
5 em, then the len.gth of AT i

AABC ¥ D, BC # wafa st G
#=% &, 9 GD =5 G/ A AD #i
A

(a) 10 cm/@. (b] 12 cm/3H,
(c) 15 cm/®H. (d) 20 cm/%t.

YEAR 2016

AABC a right angled triangle
has /B 90° and AC is
hypotenuse. D is its

circumcentre and AB = 3 cms,
BC = 4 cms. The value of BD is

AABC t# @msivia fags €, a9

558 |
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333.

334.

335.

,,,,,,

(a) 120° (b) 130° (c) 140° (d) 150*}»“9’g

336.

/B =090° @ik AC i 1 D sg#1 337.InA ABC, the medians AD and

TEE T ¥R AB = 3 I, BC = 4
it 2, @ BD %1 o= 0 27

(a) 3 ems/ 3 HHt

(b) 4 cms/ 4 Het

(c) 2.5 cms/ 2.5 H

(d) 5.5 cms/5.5 ®Ht

AABC 1is an equilateral
triangle and D, E are midpoints
of AB and BC respectively.
Then ratio of the area of AABC
and the area of the trapezium
ADEC 1s

A ABC % wHarg s € 2t D,E
FO9: AB 3 BC & mex fifg 31 &t
A ABC % #5%c g awerd ADEC &
& I SEUE fha em?

(a)5: 3 (b)4:1

(c)8:5 (d)4:3 ’
In an isosceles triangle t{i@é’
AB = AC, XY| |BC. Ifz&\ §3@9‘?

the »BXY = _wf
£

T wfETE 99 ABE #, AB = AC,

XY||BC, aft 4A‘_ Q% 7 2 BXY

e E7 '

() 75° f [Bj 30°

(c) 150° /- W ‘() 105°

A8 wm\h’fng perpendicular is
\‘ﬁ'orn the centre of circle

Lq Bﬁw 12 cm long chord. Find
ithe diameter of the circle?

mrﬁ g9 % w5 9 12 GH. b e
% UF 8 WAl o1 o i S 2
Id H FH HIfF0?

(a) 10 cm/9.Hi.

(b) 12 cm /9.

(c) 16 cm /3.

(d) 20 cm /3.

In AABC and A DEF, if ZA =
50°, ~/B=70°, ~C=60° D=
60°, ~,E=70° and 2 F=50° then
AABC #R ADEF % afg £A =
50°, ,B=70° 2C=60° D=
60°, 2 E=70° 3R £F =50° %, @
(a) A ABC | A FED

(b) A ABC || A DFE

(c) AABC 1| A EDF

(d) AABC 1 A DEF

338.

[@-}é 5 : 2
23, Y

BE meet at G. The ratio of the
of ABDG the
quadrilateral GDCE 1s

A ABC ¥ #ifizad AD 3R BE T80
G T faerd 81 A BDG &R ga=gss

areas and

GDCE & &l %1 3 3 Hifaa?
(a)1:2 b)1:3
(c)2:3 (d)3:4

If PQRS 1s cyclic quadrilateral
then find the value of ~P+ 2Q
+ R+ /8

4 PQRS T 14 9gefs 8, 79 2 P
* QAR+ o S fora =R g
(a) 360@ s (b) 450°

(d) 350°

is a right angled triangle

o I Kﬁaﬂd Y =90° If XY =2.5 cm and

l?,n’ léj

340.

341.
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the

YZ 6 then
circumradius of A XYZ 1s

XYZ u& g f # @i Y =90°
#19fg XY =2.5 9. 3 YZ= 6 4.
Bl AXYZ # i e Sife?
(a) 6.5 cm/®.H. (b) 3.25 cm/H.H.
(c) 3 cm/HH. (d) 2.5 cm/HH.

O is a centre of a circle. P 1s
an external point of it at
distance of 13 cm from O. The
radius of the circle is 5 cm.
Then the length of a tangent
to the circle from P upto the
point of contact is

O, T% 9 #1 %% ¢l P& a4 fag
£ st O® 13 9. #t 58 | 2 39
g #t B 5 4 81 aeEr P fag
W I F Tl T & oy fag 9% w6t
78 el i

CI1Tl

(@) y194 cm  (b) 10 cm
(c) 12 cm (d) 8 cm
G 1s the centroid of the

equilateral triangle ABC, If AB
= 0 cm then AG is equal to

G, TF q9arg 395 ABC #1 #5# 21
aeHER afs AB = 9 €t @, a1 AG
fras e gm 2

(a) 343 cm (b) 3 cm
3J3
(c) 7\}5_- cm  (d)6 cm
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342

343.

344.

345.

346.
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.In A PQR, straight line parallel

to the base QR cuts PQ at X and
PRatY.IfPX:XQ 5:6, thenXY
: QR will be

fadt APQR H amyr QR & grlat
T @ PQ #l X W 2 PR %1 Y ®
Fredt €1 9% PX: XQ=5: 6,
XY : QR =1 Tm?

(a) 5:11 (b)6:5

(c) 11: 6 (d)11:5

The chord AB of a circle of centre
O subtends an angle ( with the
tangent at A to the circle. Then
measure of ~ ABO is

O @3 91t g F1 Sar AB g« &t A
™ Wy @ F WY w9 F i
F & @ 2 ABO® w19 =1 Bhi?
(a) 0 (b) 90"~
(c)2(180° — @) (d) 90°+ 9

Ina 5 ABC, BC is extended upto

1
D; /ACD = 120°, B = > ZA
Then £ A 1s

TFHAABC, §,BC =1 D % 9= T

. 1
T2ACD = 120°, #«,B = 5 ZA @
2 A & A A FH

(a) 60° (b} 75° (c) 80° (d)90°

O is the centre of a circle and
AB is the tangent to it touch-
ing at B. f OB = 3 cm. and OA =

5 cm, then the measure of AB}_

in cm 1is
O & 3@ # #= & ik AB ]
™ wrel T @ e e g B=

3 cm, OA = 5 cm HHI, ﬁjﬁ.‘B Eal
A, F T 2 -~

@34 (b2 )8 d)4
The length of Ahe base of an
1sosceles triangl‘e is 2x-2y+4z,
and its perimeter is 4x2y+6z.
Then the length of each of the
equal sides 1s

afe tw wwigaEg DS & AR H:
T 2x-2y+4z B SR sHH 9y
4x-2y+62z E, T ToH TAYST FHl AR
fepat rft?
(a)x+y
(c) 2(x+y)

(b) x+y+z

(d) x+z

D)

347.In APQR, L and M are two

348.

349.

points on the sides PQ and PR
respectively such that LM II
QR. If PL=2cm; LQ=6cm and
PM=1.5 m, then MR in cm is
In APQR# L 4R M s=id PQ 3R
PR W %9¥: 3 fafg 36 v & for LM II
QR #1 7y PL=2 &ft, LQ=6 G #iw
PM=1.5 @t &1 @ MR e @t gm?
(@) 0.5 (b)4.5 (c)9 (d) 8
The length of the radius of a arcle
with centre 'O'i1s 5 cm and length
of its chord '‘AB'is 8 cm. Find the
distence between 'O’ to 'AB'

O %% 9/t gd & B F1 o 5
At ¢ ot Sfrar AB =1 wrad 8 Wit 2
e AB &1 O § gft frat 22

(a)2 cm/2 . (b) 3 cm/3 Tt
[c)4 cm/4 E=t (d) 15 cm/ 15 9.

In a tniangle, the distance of the
centroid and three verticeg 1§

cm, 6 cm and 8 cm respé 1’.1:%15}'
Then the length of theélal\est
median is: -

el Freron o a@fnﬁ%‘ # i
w1 4 A, 6 HAl s 8 Wt E
T B uﬁ‘%a*g’ T T T wifu?
@8 MY @6 (@s

350. The ratla,mf the angles of a

,,,,,

351.

aD 5
tqﬁ"an@'fe is 1:=:3 . Then the
P 3

{’“;@”}hal]est angle is:

@ﬁw%ﬁﬁmmmkgﬁ
e, a oFwE i e 22

40
) il 25°
(@) 21 (b) 25
5° 5°
) 25— 25—
(©) 257 (@ 257
In an 1isosceles triangle

AABC, AB = AC and 2A = 80°.
The bigector of 2B and < C meet
at D. The 2BDC is equal to.

wF wHfgag 99 A ABC, ® AB =
ACden 2A=80° afg«B au1 «C
% Fv gafgasE D W fied 8 q@

<« BDC 3a =ifsw?
() 90° (b) 100° (c) 130° (d) 80°

352.

353.

354.

The length of a chord which is at
a distance of 12 cm from the cen-
tre of a circle of radius 13 cm 1s

13 |, & fen ot 99 % #5 9 12
Aeh, 71 g S 3w e 82
(a) 10 cm (b) 5 em
(¢) & cm (d) 12 em
In a triangle ABC, if ZA +/C
=140° and /A + 3 /B = 180°,
then ZA is equal to
et ABC i § LA+ £ C=140°
wd L/A+3/B=180°a ZAfea
FUET B2y
(a) 80°4(Bf40° () 60° (d) 20°
If PM én”tfPB are two tangents to
@_,,;{fgle with centre O such that

© "% APB = 80°. Then, ZAOP =

355.

356.

357.
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o3 K:eﬁ% PA iR PB fedl 9u, foms &=
5 3
e/

%, W 39 VR Tl e § f5 £ APB
=80°d LAOP=7?
(a) 40° (b) 50° (c) 60° (d) 70°
Which of the set of three sides
can't form a triangle?
Pt % & A el A9 -4
e 9 Pt 7€ o " 27
()5 ecm, 6 em, 7 cm

5 & 6 9. 7 gt
(b) S cm, 8 cm, 15 cm

5 ot 8 9. 15 gt
(c) 8 cm, 15 cm, 18 cm

8 &4t 15 g4t 18 9=t
(d)6 cm, 7 cm, 11 cm

6 Tf. 7 IH 11 |
AB is the diameter of a circle
with centre O and P be a point

on its circumference, If /POA
120°, then the wvalue of

ZPBO 1s

ol gu =1 =AW AB # #iR S
O & @w1 sw+t wfify ™ P us fag 2
afs £ POA = 120° & @ LPBO =1
A A I

(a) 30° (b) 60°
An arc of 30°
double an arc in a second circle,
the radius of which is three
times the radius of the first.
Then the angles subtended by
the arc of the second circle at

(c) 50° (d) 40°

in one circle is

its centre is

| 559
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T 99§ 30° # W9 ¥ W UF g/ I
% A G gE ¥, AR g 99 F
g F4 I ger # Tl ¥, /g gw
% %% | A GF G w1 F Em?

(@) 3° (bj4° (¢) 5° (d)6°
358. Two circles touch each other
externally. The distance

between their centres is 7 cm.
If the radius of one circle is
4cm, then the radius of the
other circle will be

T g e F AR ¥ UF g F w9
FW T I FE B A= w1 7 A
g1 9f% wF g9 # 4 9L g,
T g9 I o fwet ami?

(a)3 em/HH. (b} 4 cm/H.mL

(c) 5.5 em/E. (d) 3.5 cm/FH.
Let A ABC and A ABD be on the

same base AB and between the
same parallels AB and CD. Then

the relation between areas of

triangles ABC and ABD will be
oM 5 A ABC 2R A ABD HHF 4T
AB W £, 3it §9F gwicd AB 3tt CD
F = €, @ AABC 2R AABD %
BAHel & Wd 9 SR g

359.

1

() AABD = S AABC
1

(b) AABD = 5 AABC
1

(c) AABC = ~ AABD

(d) AABC = A ABD

360. Length of the sides of a triang

are a, b and ¢ respectivel IP@
+b?+ct=ab+ bc+ca &the
triangle is
T s el _‘ i
b,c®, 9% a2 +b)?’1+
ca® @ fags Fat G

(a)isosceles/wnfEarg,
(b) equilateral /TH=Tg

(c) scalene /faumarg,
(d) right-angled /Ta=hivis
361. The orthocentre of a triangle
is the point where
Bt 1 o % HE-a fEg g e
(a) the medians meet

el mferad fiert £

560 |
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e.,f

(b) the altitudes meet
(c) the right bisectors of the
sides of
Sl fasg &t s & o fgueE
faerd €
(d) the bisectors of the angles
ol st & il o Tt e €
ABCD 1s cyclic trapezium in
which AD | | BC. If 2 ABC =70°,
then 2BCD is
ABCD % 7#19 @dea ¢ fs@d AD
| | BC #1afs =i ~ABC =70° ¥,
dl 2 BCD %1 ®F &1 2
(a) 110°(b) 80° (c) 70° (dj 90°
363. G 1s the centroid of A ABC. If
AB = BC = AC, then measure
of ~BGC is
G, s ABC #1 #=# 2, ofz AB =
BC = AC, dl 2 BGC %1 H14 &1 87
@) 45° (b) 60° (c) 90° (d) 120
364. In a circle, a chord, 5({{0“{13

long, makes a right at"ﬁe
centre. Then the len aif the
radius of the circle, will® be

T gA H 5,2 m{ ?rﬁa‘ S @

| TR S, T gW w B

(a) 2.5 c%n\f““ (b) 5 cm

(c) 7}}5‘*@1’1 (d) 10 em
365.N bef of circles that can be

&W’n through three non-
{fq@lmcar‘ points are

362.

ﬂﬂTc"f &

(a) exactly one/#®dd T&

(b) two /31 (c) three /=

(d) more than three/d™ ® zifiw
366.Two circle touch each other in-
ternally. The radius of the
smaller circle is 6cm and the
distance between the centre of

two circles 1s 3cm. The radius
of the larger cirlce is

T 9 TH T FI AT A AT TRl W
¥ P2 gu = B 6 &t §, iR <A
T F B2 A g 3T F A g
#1 e fra 22

(a) 7.5 cm /7.5 At

(b)9 cm/9 Tt (c) 8 cm/8 wHHt
(d) 10 cm/10 ¥t
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367.PQR is an equilateral triangle. MN
is drawn parallel to QR such that
Mis on PQ and N is on PR. If PN=6
cm, then the length of MN is
PQR t# gwarg a9« &1 MN, QR &
|qEidT 39 ¥R ¢ fF M, PQ W & @R
N, PR W 21 9% PN = 6 & =, @
MN =i et fhat enfi?
(a) 3 cm/3 Ht
(b) 6 cm /6 Hit
(c) 12 cm/12 =t
(d) 4.5 cm/4.5 &t

“, (SSCCGL Pre Exam 2016)
InA ’I@m |AC. Where D and

E ;ar'é ttkwf points lying on AB and
BC{Vi‘ﬁ@pectwely If AB =5 cm

\\\\\\

"ap_d AD =3 cm, then BE : EC 1s.

¢~ (JAABC %, DE| |AC #1 &% D i
hfg E %9%1: AB it BC W frea 91 farg €
af AB = 5 ¥4l 3 AD = 3 9. @
dt, BE : EC =1 27

(a)2:3 (b)3:2

(c)5:3 (d)3:5

.PT is a tangent to a circle with
centre O and radius 6 cm. If PT
is 8 cm then length of OP is
PT, 0% 94 fomws &= O @i B 6
. &, #1 vl Yen €1 Ak PT 8 &
&1, @ OP =t erarg faat 2rit?

(a) 10 cm/10 %,

(b) 12 cm/ 12 Ht,

(c) 16 cm/16 4=,

(d)9 cm/ 9 T,

370. AD and CE are two medians

ABC. If EO = 7 cm, then the
length of CE is

AD 3R CE fagst ABC =1 #ifers 21
a5 EO =7 9. &1, o CE &1 wvard
et &7

368.

369

A
E

in]
Iy

D C

(a) 28 cm (b) 14 cm

(c) 21 em (d) 35 cm
Three medians AD, BE and CF
of A ABC intersect at G; area
of AABC is 36 sq cm. Then
the area of A CGE is

371.
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A ABC =i @\ #fegsd AD, BE
4 CF u% & #1 G T Fredt 2, 9%
ABC %1 &%l 36 912 &, di
A CGE 71 &% faha 27

(a) 12 sq cm (b) & sq cm
(c) 9 8q ecm (d) 18 sq cm
Possible length of the sides of
a triangle are:—

TS Bt

(a) 2 em, 3 cm, 6 cm

372.

(b) 3 em, 4 cm, 5 cm

(¢) 2.5 cm, 3.5 cm, 6 cm

(d) 4 cm, 4 em, 9 cm

AD is the Median of A ABC. If

O is the centroid and AO = 10
cm then OD 1s

AD @ A ABC &1 Hifersht £1 95 O
F=F 8 AR AO = 10 |, 7 @
OD =1 wraré 1 &rft?

(a) 5 em (b) 20 cm

(c) 10 ecm (d) 30 cm
Incentre of AABC s 1. ~ABC =
90° and 2 ACB = 70°. 2BIC is

A ABC =1 #fa: #i% [ £ 7en. 2 ABC
=90° 3fit ~ ACB=70°%, @ «BIC
faan 87

(a) 115° (b) 100°

(c) 110° (d) 105°

The length of the two adjacent

sides of a rectangle inscribed
in a circle are 5 cmand 12 cm

373.

374.

375,

respectively. Then the radius %
of the circle will be f 4

Tk g9 H a4 HEd FoAEHA
FHY: 5 AL 3R 12 Tl

%m

376.In a cyclic qua}ihlateral ABCD

£BCD = 120° dnd AB passes
through the centre of the
circle. Then ,ADB =?

T WA wgds ABCD® ~BCD =

120° R AB 9 & &5 § &R et

¢ @ 2ADB=?

(a) 30° (b)90° (c) 50° (d) 60°
377.In an isosceles A ABC, AD is

the median to the unequal side
meeting BC at D. DP is the angle

info@spardha.guru

378.

379.

380.

bisectorof 2 ADB and PQ is drawn
parallel to BC meeting AC at Q.

Then the measure of Z2PDQ is
afg wF wafgyst A ABC #, AD, BC
#1 D o faerared fawmsgsn =1 mfers
¥ DP, 2 ADB # &m-fgai® & #iRr
PQ,AC % QW fyermarcit BC & THiat
i S € @ £ PDQ %1 W1 41 €Y
(a) 130° (b) 90°

(c) 180° (d) 45°

A chord of lenght 16 cm is drawn
in a crcle of radius 10 cm. The

distance of the chord from the
centre of the circle 1s

16 9 o=l wE a1 10 A
o arel ga o et W Bl ogd &
w5 § Sffen w1 gt wdEy?

(a) 8cm/¥.H  (b) 6 cm/H.HTL.
(c)4 cm/wHl. (d) 12 cm/H.H.

If in A ABC, DE||BC, AB = 75
cm BD = 6cm and DE _l‘ﬁﬁm
then the length of BC L’Qﬁ

7t LABC, DE || BC, AB 7.5,
BD = 6 @i, st DB gﬁzﬂ aar
BC #t e 44 [ A

(@) 6 (b) 8 4 [c) 10 (d) 10.5
Suppose t&t,n he medians BD,
CE and ‘ﬁpﬁ“tﬂf a triangle ABC
mee }"Z”fl"hen AG: GF is
T, fF faR ABC o &
wifsg#T BD, CE iR AF fag G W

ﬁﬁ%ﬂ%uaﬁAG:Gme?

,,,,,

381.

382.

b)2: 1
I:c] 1:3 (d)2:3
ABCD i1s a cyclic trapezium

with AB||CD. If #A = 105°,
then other three angles are

ABCD t# w#14 "qeid 9q4 ¢ fomd
AB||CD 21 afg zA = 105° & @t
& d9 H0 B

a) 2B = 75° 2£C=75°,2D=105°
(b) 2B = 105°, 2 C =75°, 2 D=75°
(c) £ B=75°, 2 C=105°, « D=75°
{d) «B=105° 2« C=105°,« D=75°
The ratio of circumradius

and inradius of an equilateral
triangle is

et e e & uftgd &R sfage
o § = sEam g

(a]1:2
(c)2:1

b)3:1
(d1:3

383.AB is a diameter of the circle

with centre O, CD i1s chord of
the circle, If » BOC =120°, then
the value of 2 ADC is

AB firddt 99 #1 =9 ® faws 5 O
21 g9 & 9@ CD &1 9 2BOC =
120° @ & 2 ADC %1 5" 71 #7
(a) 42° (b)30° (c) 60° (d) 35°

384.The centroid of a triangle is G.

\
e

If area of AABC = 72 sq. unit,
then the areca of ABGC 1s

AABC G %1 1f AMABC = 72 =t
Eiice A ?MBGCEFI T fora am?

[a.lr“fﬁ sq units/=1 gfAe
(B]’“Q"} sq units/= g

K ‘(c) 36 sq units /7

(d) 48 sq units/=7 I

385.In case of an acute angled

triangle, its orthocentre lies
i frqs H e s el em?
(a) inside the triangle/fiqs & ar<z
(b) outside the triangle

s & @t
(c) on the traingle/fqs W
(d) on one of the vertex of the

triangle/fgs + fFdt ww ¥ ™

386.1f APQR and ALMN are similar

and 3PQ = LM and MN =9 cm,
then QR 1s equal to:

afg APQR 3R ALMN ®9M & 3PQ =
LMs=ir MN =0 &, &, & QR frus
T B

(a) 12 cm/%H. (b) 6 cm/dH.

(c) 9 ecm/%. (d) 3 cm/dH

387.AB is a chord of a circle with O
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as centre. C is a point on the
circle such that. OCLAB and
OC intersects ABat P. f PC =2
cm and AB = 6 cm then the
diameter of the circle is

AB, O %= o/l gd &I el 81 g9 W
fag C 78 yar & f& OC LAB 3R
foen OC a1 AB %1 PR Fredt 2
afe PC = 2 &ft. ait AB = 6 THl. =
A g9 F oA R 22

(a) 6 cm/¥H. (b) 6.5 cm/®Hl.
(c) 13 cm/%H. (d) 12 cm/@.

|' 561
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388.

389.

390.

391.

392.

Which of the following is a true
statement

fretfafea § @ ®M @ FoF T 87
(a) Two similar triangles are
always congurent

T s ww W g R
Two similar trinagles
have equal areas

< 99 fagsil @1 S U
AER T €

Two triangle are similar if

their corresponding sides
are proportional

afe 1 Bl 1w g
sfa® & o, 3 T TAH En
Two polygons are similar if
their corresponding sides
are proportional

| W8S UF 9AE B AR I
TRIET Y e
In a triangle ABC, OB and OC
are the bisectors of angles B
and s C respectively. ~BAC =
60-. Then the angle .- BOC will be
ABC fiys # OB @R OC w1 &
/B3R FM 2 C fgwea 8 2 BAC
=60-. F A FM £ BOC F 9F =11 2|
(a) 150° (b) 120°
(c) 100° (d) 90°
Three sides of a triangle are 5
cm, 9 cm and X cm. The
minimum integral value of x 1s
ot frerion 6t A9 yond 5 Et., O TR
3R x T, ¥ x 1 A T 7F A7
@2 (B3 (94 (6

(b)

(d)

393.

394.

395.

AABC is similar to ADEF 1s
area of AABC 1s 9 sq.cm. and

areaof ADEF 1is 16 sq.cm. and
BC = 21 cm. Then the length of

EF will be
AABC , ADEF # aw&q g afg
AABC # iEwa 9 =i & &1 &R

ADEF 1 @%a 16 o & &1 &r
BC =2.1 %l 8 d EF #t @l aaen?
(a) 5.6 cm /5.6 9
(b) 2.8 cm /2.8 T
(c) 3.7 cm /3.7 &4
(d) 1.4 cm /1.4 9+
A chord of a circle is equal to
its radius. The angle subtended
by this chord at a point on the

circumference is

et g =1 Sien ST e & s
1 ufifa w et fag W g9 Sfan gar
FHEfaf FIoT B

(a) 80° (b) 90° (c) 60° (d] 3&93/
Let two chords AB and AC L’Jffﬂ;le
larger circle touch thifimélfer
circle having same eﬂ:ﬂ}f}e at
Xand Y. Then XY & 2 -

2 I FI & S A&’f@&(‘: B T
=1, foraam ﬁ ik %} X dr Y m

el e %‘ X Y= 2
-W-'
& 1
@ Bc_ L./ () = BC
fi b 2
= BC (d) — BC
(r;i& 3 4

If the measure of the angles of 396 Let G be the centroid of the

a triangle are in the ratio 1 :

»

2 : 3 and if the length of tha\..}

smallest side of the triagéler,f'
is 10 cm., then the len 'H\of
the longest side 1s

Tfs fadt o & Fon ‘llm 1:2
: 3% oFud | ¥ A A 1 ey

S o 1 e 10, 8, o s

A N w T AR

(a) 20 cm (b) 25 cm

(c) 30 cm (d)35 cm

An exterior angle of a triangle

is 115° and one of the interior

opposite angle 1s 45°. Then

the other two angles are

fovelt fass =1 @1 0 115° ¥ 3w

TF ARE T SO 45° w5 2 Al

Y & HI H WY EqEy?

(a) 65°, 70° (b) 60°, 75°
(c) 45°, 90° (d) 50°, 85°

562 |
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397.

equilateral triangle ABC of
permeter 24cm. Then the
length of AG is

24 4t wfifer gt ABC wwarg faeivn
F F5F G 51 AG F @R qqR ?

(a) 24/3 cm /23 @#
(b) 23 cm /2,3 ¥
(c) 8//3cm/8/f3w
[d) 443 em /43 @

A and B are the centres of two
circles with radil 11 cm and 6
cm respectively. A common
tangent touches these circles
at P & Q respectively. If AB =
13cm, then the length of PQ is
A 3R B ® gl & w5 ¢ o e
FH: 11 O 2 6 & 31 1 s

el Ten <F ge w1 FwE: P oeiR
Q W Tmf FAt B A AB = 13 Wt
B, @ PQ #I wwarg wamy ?

(a) 13 cm /13 &t

(b) 17 cm /17 &t

(c) 8.5 cm /8.5 6!

(d) 12 cm /12 ¥f

398.ABC is an isosceles triangle in-

O

03
5
n‘

¥,

400.

401.
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scribed in a circle . If AB = AC =
12\/5 and BC = 24 cm then ra-

dius of circle 1s

ABC frt gm # aifra wmfgarg frwm
%“v:ﬁrAB—Ac=12\/_ @ BC =
24 T @qaa‘"’rﬁlmmgnﬁ?
(a] 30 Can/lOF"ﬁ

(b) Qﬁf}cm /15 &t
¢y T2 cm /12 @

récﬂ 14 em /14 @0t

9’ABC is an isosceles tﬂangle

where AB = AC which is cir-
cumscribed about a circle. If P
is the point where the circle
touches the side BC, then
which of the following is true ?
ABC % gefgerg frus & fomd AB =
AC =l Tt 9w ¥ ufom &1 3% P wmn
fag & w1 9w o BC # wel wwa
#, i =y FreAfetea § 4 70 wet 2 2

(af BP=PC  (b) BP>PC
1
() BP<PC  (d) BP=— PC

If D and E are the mid points of
AB and AC respectively of

AABC , then the ratio of the ar-
eas of A ADE and [(JBCED i1s ?
AABC # 3 AB & we fag wwan:

D #iR E €4 A ADE #r [JBCED
& &FTe 1 ST T ER 2
(@ 1:2 b) 2:3
(c) 1:4 d) 1:3
O is the circumcentre of the
isosceles A4BC . Given that

AB=AC=17 cmand BC=6cm
The radius of the circle is

THfgaTg #1 ufe= O 1 78 7 g %
AB = AC = 17 @+t 3fr BC = 6 &,
g # e wan ?

(a] 8.015 cm /8.015 @i

(b) 8.205 cm /8.205 i

(c) 8.366 cm /8.366 wHi

(d) 8.636 cm /8.636 i
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402.

403.

404.

405.
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B, is a point on the side AC of
A4ABC and B B is joined . A
line is drawn through A paral-
lel to B,B meeting BC at A, and
another line is drawn through
C parllel to BB meeting AB pro-
duced at C,. Then

A ABC = 951 AC W B, T farg
3 B,B fien & Wit 81 B,B & WA
A ¥ g% U @ @i 9nt # s BC
¥ A,  foedt & 3in BB # v o
9 e wist i § S C § e St
§ ok AB @ C, WPt 8, 1

111
@ ‘cc, 44, BB
111
®) ¢, " a4, BB
11 1
) BB, 44, cCC
1 11
@ BB, " 44

ABCD is a cyclic quadrilateral
of the which AB 1is the
diameter. Diagonals AC and
BD intersect at E. If ~DBC =
350,
ABCD u# s =g« ¢ fowe =ma
AB #1 AC #r BD fa=vi E farg #red
& afz ~DBC = 35°, % @ ~AED

Then -~ AED measures

1 /T Bm?
(a) 35° (b)45° (c) 55° (d) 90°
In a tnangle ABC, ~,A=70°, #B .

= 80° and D is the incentre ofg,af""gg
AABC ~ACB = 2x° and /B C;

= y°. The values of x a k,_wy',"'
respectively are e '

wF fagst ABC#H, L A=40) /B=
80° ¥t D, AABCH&id: @

2ACB = 2x° HWBDC v° Rl x
3 ¥y, @l FHI "l'FfL

(a)15,130 (b 15, 125

(c) 35, 40 (d 30, 150

Two equal circles intersect so
that there centres, and the
point at which they intersect
from a square of side 1 cm. The
area (in sq.cm) of the portion
that is common to the circles is
3 GHF/AEATE 99 UH-gE F 3H 9@
w1 & fiF w18 &= | oir fow farg @

406.

407.

3 #Ed ¢ g6l 1 4. g 1 o e
TG €, 98 9 St 3A g o gefe
%, 3HF aFFe (3 wAL F) wm

(b 5 =1

(©) 5 @ (v2-1)
PQRA is a rectangle, AP = 22
cm, PQO = 8 cm. AABC i1s a
triangle whose vertices lie on
the sides of PQRA such that BQ
=2 cm and QC = 16 cm. Then
the length of the line joining
the mud points of the sides AB
and BC is

PQRA U @ &, AP = 22 4.
PQ = 8 Al #1 A ABC T% faqs &
fowe 3 PQRA =1 geiieil W 39 T@
3 fiem € fF BQ =281 sk QC =
16 €5t 81 AB 3 BC s=ieti & wex
%ﬁmmﬁmaﬁﬁwﬁmﬁ?
(a) 442 cm/".Ht(b) 5 ctn/"ﬁ

(c)6 cm/&H. (d) 10 cﬁ#ﬁr’

ABC is an LSosceles ngl{t«’angle
triangles having %V:} 90°. If D
is any point on }‘tﬁen AD? +

BD? is equal

(@) 5

ABC T _ s & fore
# B= 903? 1#f AB W u fag D

% At ¥BD e U $2

(a) ‘g & P’ (b) 2CD?
QQD‘ (d) 4CD?

40&”Dﬁ,ﬁnd E are points on the sides

,,,,,

7

409.

AB and AC respectively of
A ABC such that DE is parallel
to BCand AD : DB =4:5, CD

and BE intersect each other at
F. The ratio of the areas of
A DEF and A CBF

A ABC #t seniail AB 3iR AC W 3R
D 3R E fag 29 R 8 770, 7y ¥ 5
DE, BC % ®=R ¥ 3% AD : : DB =
4:5, %1 CD 3R BE, F fag W ©&%
& # ¥F1=d 1 A DEF 3R A CBF
& &A1 IR FAE?

(a) 16 - 25 (b) 16 : 81
[c)81:16 (d)4:9
Diagonals of a Trapezium
ABCD with AB[ICD intersect

each other at the point O. If AB
= 2CD, then the ratio of the

areas of A AOB and A COD is

410.

411.

oN\U

l?,n’ léj

412,

413.
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uF gHea (ddifggm) ABCD #
AB[ICD % fasri fag O W w& g
% #led € 9t AB = 2CD, @ dl
AAOB 3T A COD & #Fwel &1

I F e
(@)4:1 b) 1:16
(c)1:4 (d16:1

If O 1s the orthocentre of
triangle ABC and » BOC = 100°,

the measure of BAC is
ft fiys ABC ol &% O aw ~ BOC
=100° # @ ~BAC %1 |19 FdRU?

(a) 100° } (b) 180°
(c) 80 f 5 (d)200°
PQ f‘anl‘_’f RS are common
ta&égnts to two circles

¢"imntersecting at A and B. AB
When produced both sides,
‘meet the tangents PQ and RS
at X and Y, respectively. If AB =
3 em, XY = 5 cm, then PQ (in
cm) Wi_l_l be

PQ 3t RS < gdi #1 gdf= w9l
@ € S A $iRB W UF gE H R
2129 avF (q9) AB Y@ Fed W
FA9: X 3R Y fag ® wei @) PQ
3t RS W frerdt #1 afx AB = 3 &4t
, XY =594 g qt aaee fF PQ
|4 =m?

(a] 3 em /4. (b) 4 cm/THL
(c)5 cm/dM. (d) 2 cm/3.H.

In an equilateral triangle ABC,
G is the centroid. Each side of

the triangle is 6 cm. The
length of AG is

7fe Fuys g9 ABC 4 G #5% ©
s fass =1 wF gen 6 T W @
AG #I waE F g

(a) 242 cm/2 JoEw
(b) 342 cm/3 /2 it
(c) 243 cm/2.3 &
(d) 33 cm/3 /3 Gt

PQ is a tangent to the circle at
T.f TR =TS where R and S are
points on the circle and .~ RST
= 65°, the ,PTS =

PQ it 99 % T fag W =nff 21 91
TR=TS 3k R 3t S 99 m fag &f
M «RST=65° @ «PTS =?
(a) 65° (b) 130° (c) 115°(d) 55°

|' 563
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415.

416.

417.

418.
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In A ABC, AC =BC and - ABC
= 50°, the side BC 1is produced
to D so that BC = CD then the

value of » BAD &1 ¥H d9dqsd/

(a) 80° (b)40° (c) 90° (d) 50°
In a circle, a diameter AB and
a chord PQ (which is not a
diameter) intersect each other
X perpendicularly. If AX : BX =
3 : 2 and the radius of the circle
is 5 cm, then the length of
chord PQ is

TF 99§, T =9 AB W 0% Sar
PQ (Sl =| & ?) T @ # X
fag W e Fed 71 AR AX : BX
= 3: 2% AR g9 &I = 5 99 @
ol Sfien PQ %1 &1l w1y ?
(a)2/13 cm/2 13 9Hl.

(b) 5./3 cm/5./3 L.

(c) 4 /6 cm/4.fg ¥HI.

(d) 4.5 cm/4 /5 .

ABC is a triangle, PQ is line
segment intersecting AB in P and
AC1in Q and PQ II BC. The ratio of
AP : BP =3 : 5 and length of PQ
1s 18 cm. The length of BC is

ABC t% T19w &, PQ U% t@i@s &
St AB% P9 SR AC =1 Q W =hedt
% @R PQII BC 21 AP : BP &1 9w
3:5% AR PQ &I =g 18 §H &
BC il o= adi3u?
(a) 28 cm/28 &H
(b) 48 cm/ 48 ®HT
(c) 84 cm/ 84 WHY
(d) 42 cm/42 &+
If the parallel si1 c?’-f a

trapezium are 8 cm’ aﬂd 4 cm,
M and N are the’mid points of

the diagonals M%e trapezium,
then length of\ is

9T 8 Ui 3 4 W B AR M T
N ZUifsem % ool & e fag 7f ar
MN =} T8 aaE?

(a) 12 cm/12 §Hl

(b) 6cm/ 6 EHI

(c) lem/1 ®H (d) 2 cm/2 ST
A ABC 1s isosceles having AB

= AC and A = 40°. Bisectors
PO and OQ of the exterior

419.

420

f-_.

L%

‘{f “g01.

422.

angles ~ ABD and s ACE formed
by producing BC on both sides,
meet at O. Then the value of

2BOC 1s

A ABC v% wufzarg fogw 2 fomsd
AB = AC 3T~ A = 40° &I 9@ U
~ ABD #R  ACE ™ BC %I <A1 fadi
®WEA A T 2, F fguew PO 3R
0Q# 3R 3 O forg W fem 81 2 BOC
(a) 70° (b) 110° (c) 80° (d) 55°
In a circle with centre O, AB is
a diameter and CD is a chord
which i1s equal to the radius
OC. AC and BD are extended in
such a way that they intersect
each other at a point P, exterior

to the circle. The measure of
~ APB is

T 99 1 #% O, AB=IW § 3R
cnmﬁ%ﬁﬁocﬁwaﬁw%@

AC #R BD 1 5§ YR 9l I, &6,
9 UH-TW & a5 P FHed
W%W%MAPBEHWBPK%W?

(a) 30° (b) 45° (c) 6O°0\(d})90°
.Two chords AB &dw{;b of a
circle with ¢ t{e O intersect
at P. If 4 “A—O" Then the

value off,,éA(}C} + +BOD is

el g5 /1 S AB it CD,
o s &% 0%, TR P fag W
@zg’r gu afg . APC = 40° g1, of
% AOC + , BOD 1 HM =g’
{a} 50° (b) 60° (c) 80° (d) 120°
In the triangle ABC, /BAC= 50°
and the bisectors of Z/ABC and
/ACB meets at P. What is the
value (in degrees) of Z/BPC?

fiss ABC 5, /ZBAC = 50° g1 ZABC
i1 ZACB % fguieish faig P ot frerd
¥ /BPC %1 o (feifi ) faram g
(a) 100° (b) 105°

[c) 115° (d) 125°

Two circles of same radius in-
tersect each other at P and Q.
If the length of the common
chord is 30 cm and distance
between the centres of the two
circles is 40 cm, then what is
the radius (in cm) of the circles?

A o 91 31 99 T g F Pan
Q W vfireafea % €1 afz swafs sfar

Fnd »»‘

423.

424.

425.
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1 ervrg 30 WAL € 9 i gl @ By
d W g 40 3H 2, @ 9 A
f=n (S ) frEad 2

(b) 2542 cm

(c) 50 cm (d) 5042 cm

In the given figure, ZQRN = 40°,
ZPQR = 46° and MN is a tangent
at R. What is the value (in de-
grees) of X, y and z respectively?
% 7 s1fi §, ZORN = 40°, Z/PQR =
46° a1 MN fiig R w2 ws o9l &1
HUIT: X, y A ,.'l (feiir #) =m 27

(2) 25 cm

(a) 40%,46%, 94° (b) 40°,50°,90°

) 46°,54°, 80° (d) 50°,40°90°

In A PQR, ZR = 54° the perpen-

dicular bisector of PQ at S

meets QR at point T. If ZTPR=

46°, then what is the value (in

degrees) of Z/PQR?

APQR,# /R=54° fig ST PQ#I

wufgar @ QR ¥ fag T W firerar &

aft ZTPR = 46° &, @ ZPQR =% 9

(fedit o) =0 &m?

(a) 25° (b) 40°

(c) 50° (d) 60°

If D and E are points on the

sides AB and AC respectively of

a triangle ABC such that

DE| |BC.If AD = xcm, DB = (x—

3)cm, AE = (x+ 3)cm and EC =

(x — 2) cm, then what is the

value (in cm) of x?

uF fags ABC =t genaif AB @en AC

o g fig D aon E 8 whr fiod 2

fif DE| | BC ¥13f% AD = x 3., DB

= (x- 3) 941, AE = (x+3) |4 e
= (x- 2) ®AL. € @ xH WA (HAL

) 4 ¥

(2) 3

(c) 4

(b) 3.5
(d) 4.5
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426. Two smaller circles touch a 430.If length of each side of a

427.

428.

429.
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large circle internally and pass
through the center O of the
larger circle. If the diameter of
the bigger circle is 28 cm, then
what is the area of the bigger
circle which is not enclosed by
the two smaller circles (in cm?)?
q A g9 A g9 eriafen et
F0 € 7 9 99 F $5 O ¥ e €
Afz 4 g9 % =mw 28 Wi ¥ @ 4
g9 F1 Al gk (A d) F0OE, S
< @ I gR el @ E?

(a) 154 (b) 256

(c) 308 (d) 616

In the given figure, O is the
incentre of triangle ABC. If AO/
OE=5/4and CO/OD=3/2, then
what is the value of BO/OF?

4t M amfa o, frgs ABC 1 o #g
O # 7t AO/OE = 5/4 71 CO/OD
=3/2 %, @ BO/OF =1 5F ¥ 27

A
D F
B E e
()19/14  (b)38/17
(c)38/7 (d) 19/7

PQ is the chord of a circle
whose centre is O. ROS is a
line segment originating from
a point R on the circle the

431.

rhombus PQRS 1s 8 cm and
2 POR = 120°, then what is the
length (in cm) of QS ?

afs =S PQRS =1 o &I owrd
8 4l 9 ~ PQR = 120° 41 QS @i
e (A, W) e 22

(a) 4J5 (b) 6 c) 8 (d) 12
In the given figure, ABC is a
triangle. The bisectors of
internal «B and external ~C
mtersect at D. If » BDC = 48°,
then what is the value (in
degrees| of LA ?

<t T arRfa § ABC us frqe 81 eviaf
«Bag g , C# fgues fafg D 18
s @ #1 afs 2 BDC=48° &, a

<A w1 T (feait H) = 22

(b) 96°
(d) 114°

(a) 48°
(c) 100°

432.1In the gnf(%'n f_lgure O 1s the

intersect PQ produced at pot ’“*-\,_

S such that QS = OR. If ~

= 30°, then what is thé ve ],u‘éj
(in degrees) of zPORi b
PQ wF g1 #1 il ¥ fiies a5 0 &

ROS, fig R & : T et
& i s T P ;}Q T S W T TR
frerft & 6 S = OR®1 7R 2 QSR =
30° ® Piawiﬁnﬁ (fe ) =0 €7
(a) 30° (b)'45° () 60° (d) 90°
The perimeter of an isosceles
triangle is 32 cm and each of
the equal sides 15 5/6 times of
the base. What is the areas (in
cm?) of the triangle?

T gHEEE Y # aREm 32 9. €
A STHE TOF T G SF ER F
5/6 T @ Fre 1 gt (HH1R) fe €7
(a) 39 (b)48 () 57 |[d) 64

3
-.: -

?’

ceﬂﬁy@ Pf;% 1e circle and » DCE =
?5%' \[F’gCD =10,{2 cm, then what
f;g"’ﬁ:xe length (in cm) of AC?

& T a4, O 99 ® B §,
«DCE =45 % 3f CD=10, 4.
M., d AC 1 wa (WA §) T 7

Fi

D
C E
(a) 14 (b) 15.5
(c) 18.5 (d) 20

433. One of the diagonal of a rhombus

is 70% of the other diagonal,
what 1s the ratio of area of
rhombus to the square of the
length of the larger diagonal?

FH=gys 1w fawol gt 1 70% @)
g # eFFe qon ot fawof w5
o & A S 27

434.

(@) 3: 10 (b)3 : 20
(c)7:20 (d)7 : 10
In the given figure, PQR is an
equilateral triangle and PS is
the angle bisector of ~P. what

1s the value of RT : RQ?

& T A #, PQR UF w9ag s
# @ PS, . P #1 &m0 wmfgarss 1
RT : RQ &1 9H &1 87

S} ?‘:\:
B0

T
[a],l 2“\ (b)1:1
c) 2 _} (d)2:3
43%. wa»éhords oflength 20 cm and24

o

436.
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cm are drawn perpendicular to
each other in a circle of radius
is 15cm. What is the distance
the  points of
intersection of these chords (in
cm) from the center of the circle?

15 |4, # = ot & 3@ 5 20
B a 24 | 5t 1) e & uw
T G e B A 2 g F Ry

between

q9r g Stansl 1w ot 6y # |
gl (A @) o £2
(a] ¥206 (b) V182
(c) ¥250 (d) y218
In the given figure, QRTS 1s a

cyclic quadrilateral. If PT= 5
cm, SQ=4 cm, PS = 6 cm and
#POR=63° then what is the
value (in cm) of TR?

feg mu fo= W, QRTS T&F 9% g«
21 aff PT=5cm, SQ= 4 cm, PS

=6 cm 99 ~POR=63°, 7@ TR
=1 HH ¥ 87
P
S
Q R

(@) 3 (b) 7
(c)9 (d) 15

|' 565
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437.In the given figure, PQRS 1s a 441.PQR is a right angled triangle

438.

439.

440.

566
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square and SRT is an
equilateral triangle. What is the
value (in degrees) of » SOR?
<t 7 argfa 6, PQRS % & # qen
SRT u# §arg f9s 81 2 SOR &1
e (faft %) 0 22

P Q
T
S R
(a) 45° (b] 55° (c) 60° [d) 75°

ABCD is a parallelogram in which
AB=7cm BC=9cmand AC=8
cm. What is the length (in cm) of
other diagonal ?

ABCD T# #9Fiq wg4« ¢ famd AB
=7 HH,BC =9 ¥H. 99 AC= 8 {1l
1 o fawot i era (Al R 87
(a) 14 (b) 14 2

©)7 )73

A square 1s inscribed n a quarter
circle in such a way the two of its
adjacent vertices on the radius
are equidistant from the centre

and other two vertices lie of the
circumference. In the side on

square is 1/[5 /2) cm, then what is
the radius (in cm) of the cirele?

Wﬁﬂﬁqaﬁ@aﬁmwm

m which «.R=90° .If RS LPQ,PR

=3 cm and RQ =4cm, then what
is the value of RS (in cm) ?

POR u# musiv fass 2 fagd

#R=90° ¥ afg RS LPQ,PR=3cm
791 RQ = 4cm 4. % d RS &1 71
(A #) = 87

(a) 12/5 (b) 36/5

(c) 5 (d) 2.5

442.In triangle PQR, A is the point

of intersection of all the alti-
tudes and B is the point of in-
tersection of all the angle bi-
sectors of the triangle. If
#PBR =150° then what 1s the
value of PAR (in degrees)?

fagst PQR #, u+ft vivea fag A ©
@ w1 € qu g w: fanes
fag B Wt ufgsw ww ¢ afk

446.

what is the value (in degrees)
of #PSR?

PQRS u# =gdsl € a2 PQ g9 %I
=g 21 afk 2 RPQ = 38°d PSR
w1 " (foft #) fa 22

(a) 52° (b) 77°

(c) 128° (d) 142°

Smaller diagonal of a thombus
is equal to length of its sides.
If length of each side is 6 cm,
then what is the area (in cm?
of equilateral triangle whose
side is equa 150 the bigger
diagonal of # e#}aombns 2

T HHAG m forrvl soept sgamai
F1 T 21 afz 9T o= #it
TIHIE 6. ﬁ;ﬁ #, i 39 gHarg frgs @

o8 }(@tﬁz) w1 8 fomal s

/PBR=150"%, @ PAR #I m’rrfé

(fesht %) =11 &2 O
(a) 60° (b) 100° \W”
(c) 105° (d) 115° H_{;;}“’“"

443 .The length of two ﬁe@e}:—:&des
of a trapezium ar }@%m,ﬁéﬂd 24

If its hei .1,3 b o m, then
what is thg [11:1 2) of the
trapezn}m’-’

s %ﬁ,«%m e F o 18

et Tier B 9 I S 12§
{ﬁrmmrﬂm (i H) TR 27

;:ja] 126 (b) 252
(c) 504 (d) 1024

™ 8 T e w fer | % "’&44 In the given figure, DE| | BC

Qﬂﬁaﬁaawiﬁm%ﬁm

#5 | W9F g0 9§ adl zd?“l"?ﬁq
it o feog 81 af =f gar,/5;2

Q. &, 9 ga = f‘@‘ﬁin)ﬁm%?

@2 (235 @5 (410

In triangle’ ABC; a line is drawn
from thé ¥ eﬁbA to a point D
on BC. If BC =9cm and DC

=3cm, then what is the ratio
of the areas of triangle ABD and
triangle ADC respectively?

st ABCH 9 A § BC W w3 fiig
@ g T ¥ g BC=9dwad
DC =3%Hi. gt ®7w: frs ABD den

Fryst ADC % &el 1 &9 01 87
(a) 1:1 (b) 2:1
(c) 3:1 (d) 4:1

445.

and AD : DB =5 : 3, then what
is the value of [DE|BC]3

4 ¢ s1efd W DE| | BC @41 AD : DB
=5:3 2, @ (DE|BC) &1 &r &1 22

A
B ? C
(a) 5/8 (b)2/3
(c) 3/4 (d)>/3

PQRS 1s a cyclic quadrilateral
and PQ is the diameter of the
circle. If » RPQ = 38°, then

447.

448.
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‘Fl'q?l\'«jﬁﬁ % 92 fawol F auat € 2
@ 18y3 (02743

() 323 (d)3643

In the given figure, PR and ST
are perpendicular to tangent
OR. PQ passes through centre
O of the circle whose diameter
is 10 cm. If PR = 9 cm then
what is the length (in cm) of ST?
<t € srmfa ® wel Y@ QR W PR aen
STe= 21 PQ9a & %% fag O @
Tt & foga =@ 10 9. €1 3ty
PR 1 o 9 3.7, &, o ST awaré
(9L #) FE ?

B

R M T Q
(a) 1 (b)1.25
(c) 1.5 (d)2

In triangle ABC, ~ABC = 90°.
BP is drawn perpendicular to
AC. If ~ BAP = 50°, then what is

the value (in degrees| of .~ PBC?
fiyst ABC #, ~ ABC=90° & BP, AC
W UF T EE T A o BAP = 50°
e d@ «PBC =1 7F (fedi ®) 0 gmm?
(@) 30° (b)45° (c) 50° (d)60°
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449.

450.

451.

info@spardha.guru

In triangle PQR, the side PQ and
PR are produced to A and B
respectively. The bisectors of
#AQR and ~BRQ intersect at

point O. If » QOR = 50°, then what
is the value (in degrees) of ~ QPR ?
st PQR #, 951 PQ 31k PR %1 FH31:
A den B d% @@l ol 1 2 AQR den
«BRQ #1 fgurrs fifg O m 9l
w3 14 2~ QOR=50° & ~ QPR
=1 9F (fedt. ®) = =fm ?

(a) 50° (b) 60°

(c) 80° (d) 100°

In the given figure, ABCD is an
rhombus and BCE 1is an

isosceles triangle, with BC =
CE, -CBE = 84° and ~ADC =
78°, then what is the value (in
degrees) of ~DEC ?

< M I § , ABCD U 9EgYS €
791 BCE u% wefgarg e 2, frd BC
=CE, ,CBE = 84° 7 ADC =
78 %, ,DEC =17 (feit %) =01 82

A B
E
D C
(a) 20° (b) 28> (c) 33° (d) 36°

In figure triangle ABC is drawn
such that AB is tangent to a
circle at A whose radius 1s 10
cm and BC passes through

centre of the circle. Point C ligs™ ™
il

on the circle. If BC = 36m1 d
AB = 24 cm, then whafiis ‘ls,he
area (in c 2] of tria AB‘@'-)
& ¢ empfd 9, Brgst AE SH‘;I?FT{
A T E e }0 A, fren
aa g9 F A T@%am BC
R a’aa“@ﬁ 21 fig Cga
mfwﬁ%‘lqﬁB@ =36 9.Ht. o1 AB
=24 &, @, @ fys ABC #1 et
(A2 ®) F1 37

(a) 134.5
(c) 166.15

(b) 148
(d) 180

452.In triangle ABC, AD, BE and CF 457.If an equilateral triangle has

453.

454.

455.

are the medians intersecting
at point G and area of triangle
ABC is 156 cm?. what is the
area (in cm?®) of triangle FGE?
faqst ABC #§ wifegwrd AD, BE 3
CF fag G W yfi=ag Fxt & aen s
ABC #1 #5%a 156 9.2 €1 fags
FGE #1 &a%a (8.41.2) fam 22

(a) 13 (b)26 (c) 39 (d) 52
In triangle ABC, ~ABC = 15°.
D is a point on BC such that
AD = BD.what is the measure
of »ADC (in degrees)?

fiqs ~ ABC#, ABC = 15° 2| BC
w u% fiy D78 wR ¢ f AD =BD
%1 2ADC % |A (fedit #) ferann 87
(a) 15° (b) 30° (c) 45° (d} 60°
In A ABC, ~BAC = 90° and AD
is drawn perpendicular to BC. If
BD = 7cm and CD = 28 cm, then

458.

el ,Lzah‘
;:’:; (c 156J‘

side 12 cm, then what is the
difference (in cm) between the
circumradius and inradius?
wfE Uk wHaTg B g 12 9 2,
qt @ga e aw wE: B 2 9w o=
R (A F) ;= E?

(al 22 (b)3 2
(€) 25 (d)3 3

If sum of the areas of the cir-
cumcircle and the incircle of
an equilateral triangle 1s 770
cm?, then whatsis the area (in

ar gtﬂj’m (RPd) = %?

(b) 147 /3
(d) 169 3

what is the length (in cm) of ADfJﬂrSg In APOR, QPR = 45°and the

AABC # £BAC = 90° 7e1, AD,
BC T o @il man #1 Az
AWM. ¢, @ CD= 28'Htﬁ%

'}h@"

Ft o (Y n) %?. %)
(a) 3.5 o m;
(c) 10.5

The lcngth df}:g;gona] BD of a

parallelggrar;} “ABCD is 36 cm.
P QW the centroids of tri-
angle ABC and triangle ADC
fespfei‘fiwely. What is the length

”\“ﬁﬁ cm ) of PQ?
. ’ﬁ’mmagﬁaABCD % fawof BD #t

456

T 36 WA 21 st ABC qen fase
ADC 1 5% %99: P Q%1 PQ
F o (G §) e £2

@6 (B9 ()12 (d18

.In the given figure, DE[IBC and

DE =1/3 BC If area of triangle
ADE=20 em?, then what is the
area (in cm?) of triangle DEC?
% T a1 § DEIBC @2 DE =1/3
BC # af fiys ADE 1 &%t 20 HHP

A st DEC =1 et (A7 #) =1 &7
A

B C
() 40 (b) 60 (c) 80 (d) 120

o
»x‘

460.

461

462.
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bisectors of - PQR and ,PRQ
meets at O. What is the value
(in degrees) of - QOR ?
APQR,ﬁAQPR=45“?MT 2 PQR
A ~ PRQ =1 3fawsa fig O w fieman
# 2QOR =1 um (fedit #) =1 2mm?
(a) 107.5° (b)112.5°

(c) 117.5° (d) 122.5°

In triangle ABC, - ABC =90° BP
is drawn perpendicular to AC.
If »BAP=30°, then what 1s the
value (in degrees) of ~ PBC?
fqs1 ABC, 2 ABC =90° &1 BP,AC
W o wi T Ak 2 BAP=30°
@ ~PBC %1 5 (feft #) a1 g ?
(a) 30° (b) 36° (c) 45° (d)60°

.The side BC of A ABC is

produced to D. If © ACD=114%and
+#ABC =(1/2) ~ BAC, then what is
the value (in degrees) of 2 BAC?
farst ABC %t 51 BC &f D @&
=@ T € Ak~ ACD=114° @
2 ABC=(1/2) ~ BACE%,dl ~ BAC
#1 7 (feft o) =0 gm?

() 36° (b)48° (c) 76° (d)84°
O is the center of the circle and
two tangents are drawn from a
point P to this circle at points A
and B. If # AOP =50°, then what
1s the value (in degrees) of » APB?

| 567
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O H IR eaMAGPA W W
3t w9l vart feig Aden B W Eis W
aft 2 AOP = 50° ¥ @t ~ APB &1 5T
(feait o) = =m?

(a) 60° (b) 80°

(c) 90° (d) 100°

In A PQR,PQ =PR =18 cm, AB
and AC are parallel to lines PR
and PQ respectively, If A is the
mid-point of QR, then what is
the perimeter (in cm) of quad-
rilateral ABPC?

A POR, #,PQ=PR =18 9+ &, AB
qen AC wmel: PR 9w PQ & THMIGY
21 3f% A,QR #1 7%7 fag 2, &t =gefs
ABPC =1 qfHM (H.41.9) =1 gm?
(a) 18 (b]28 (c) 32 (d) 36
In A POR,PS and PT are bisec-
tors of # QPR and .~ QPS respec-
tively. If ~ QPT=30°,PT=%cm
and TR=15 cm, then what is the
area (in cm?) of A PTR?

A PQRH PS 7 PT #a9l: ~ QPR
T £ QPS % fguek 1 9R £ QPT =
30°, PT = 9 4t @ TR=15 Adt & a1
A PTR =1 dawe1 (441 #) = g7

(@) 36 (b)54 () 72 (d)216
The internal bisector of » Q and
2R of triangle PQR meet at O.
If ,P= 70°, then what is the
measure of »QOR (in degrees)?
99 PQR% - Q@ s R % anaftsw

463.

464.

465.

fgurs® O W fiem 1 afz . P =70
%, @ ~QOR #1 WA = 7

3

(a) 110° (b)115° . e “_‘».Mf
(c) 125° d)135° A
If the area of two smﬁ"ar triangle
are in the L‘at}jf . (then what
is the ratio of G'&_Q’cspond_l_ng
sides of thes {two’ triangles?
=% 2 waF S 5 8w I 50 7
@, 3 it STl 1 ST 67
(a5:7 * [b]25 149

() 5: 7 (d)125: 343
ABCD is an isosceles trapezmum
such the AD| |BC, AB=5cm, AD
=8 cm and BC = 14 cm. What is
the area (in cm?®) of trapezium ?
ABCD u# wufgar @ueia &, faod
AD||BC,AB=549H., AD=8 %,

466.

467.

o den BC = 14 93, 21 gwel® w1

e (.2 H) %?

(@) 36 (bj44 (c) 88 (d) 144
568 |
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468.In the given figure, ABC is an
equilateral triangle. If the area
of bigger circle is 1386 cm?,
then what is the area (in cm?)
of smaller circle ?

& 8 amEfa §, ABC u% 9 s 2
afg a2 F9 1 el 1386 W2 B, A
B g9 F1 ke (G2 W) 87

A

c
ja) 1 (b) 154
(c) 288 (d) 462
PORS is a square, M 1s the
mid-point of PQ and N is a point
on QR such that NR is two-third

of QR. If the area of AMOQN is

469.

48 em?, then what is the length

[in em) of PR?

PQRS wF = &, M, PQ #1 71 3

% a1 N, QR W w% faig 39
NR, QR 7 3~ ﬁmﬁ%ﬂwﬁq&
mﬁsrmaisﬂﬁr %

(c) 24 Ly 24\/_

In the gﬁeq««ﬁ‘g‘ure PQ = 30, RS
= Qﬁ}%@;}w =12, then what is
the_valiie of ON?

~J T smgfa # PQ =30, RS = 24
;:'j'sn OM =12 &, il ON &1 HH =1 87

470.

(a) ©

(b) 12
471.In the figure, PQ 1s the diameter

(c) 15 (d) 18

What 1s the
measure (in degrees) of ~QSR ?
f W ampfa # PQ g w1 @ )
ZQSR =1 5w (feiit ®) = 2

R

of the circle.

5 Q

(8 23° () 37° (o) 47° (d)57°
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472.In the given figure, PM is one-
third of PQ and PN is one-third
of PS. If the area of PMRN is 17
cm?, then what is the area (in
cm?) of PQRS?
oft 1 smfa 6, PM, PQ =1 u= faerd
g @ PN, PS #1 w& fwerd 21 af
PMRN #1 #=%e 17 9. 9 PQRS
w1 aha (W2 §) @ 82

pM 0
\

“ e

S
(a) 34 [b] &1
In the given fi
of arc BC is#4-cm. If O is the
centre of cé-r, , then what is
the radi 1 cm) of the circle?

ﬁtﬁarﬁ@ﬁ faw T ga Ft =9 BC
) T 44 A7f. # AR O 39 W Fx
ﬁ%‘ é’f’qaﬁﬁw @ #) T 22

&

R
[c) 68 (d) 85

473. e, the length

(@ 7 (k)14 () 28 (d)35
474.1n a triangle PQR, ~Q = 90°. If
PQ = 12 cm, and then QR = 5
cm then what i1s the radius
(in cm) of the circumcircle of
the triangle?

w figs PQR# ~Q =90°. %1 AR PQ
=12 94, QR =54l & @ fm &
aiga =1 B (. #) #n g 7

@5 (b6 (c)6.5(d) 642
If a chord of a circle subtends
angle of 30° at the circum-
ference of the circle, then
what is the ratio of the radius
of the circle and the length of
the chord respectively?

4fg UF g9 FI S 39 9fify W 30°
F1 w2, T FE: g9 F
qon e 1 o 9 22

@ 1:1 (b)2:1

()3:1 (d) J2: 1
476.The tangents drawn at point A

and B of a circle with centre O,

meet at P. If 2~ AOB = 120° and

AP = 6 cm, then what 1s the
area of triangle (in cm? APB?

475.
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F5 O 91 99 W foum fag ATn B 9
wpyl ard e S #, S fig P
fierdt 1 4ft AOB = 120° a1 AP =
6 A1ft. i fagst APB %1 &%e (3.

w2 H) o 87
(a) 6.3 b) 83
(c)9 ()93

477. P is a point outside the circle at
distance of 6.5 cm from centre
O of the circle. PR be a secant
such that it intersects the circle
atQand R.If PQ=4.5cm and QR
= 3.5 cm, then what 1s the
radius (in cm) of the circle?

P 3w & 9wt s fog & fowmat g 359
ga® %5 O 4 6.5 44, #1 PR, uww
FeF ¢ S 99 F Q 1 R w wfisade
F@ 8 3k PQ = 4.5 €. @
QR =3.5 41 2 & 39 =t e (W
1. ) 0 87

(@) 1.5 (b2 (9 25 (d)3
The point of intersection of all
the angle bisector of a triangle
1s of the triangle.

fays & =i # wufpaes fow fag w
firerd € 38 P wed 2

(a) Incenter/#d: &=

(b) Circumcenter /9fi&=

(c) Centroid/®&d &%

(d) Orthocenter/%d: &=

.ABC 1s an equilateral triangle

478.

479

and P is the orthocenter of the.. "

triangle, then what is the val@e,
;4

(in degrees) of /BPC ? « ww
ABC U g f951 & e B e
#% 8, @ ~BPCH #A _(fed %) +n &7
(a) 90° (b) 120° 8135 (d) 145°
In a triangle __", AD 1s angle
bisector o éA\\'} d AB:AC = 3:4.
If the arégf“ﬁfﬁtriangle ABC is
350cm’, then what is the area
(is cm’) of triangle ABD?

u# fags ABC #, AD, /A T
THEHSE € 99 AB:AC = 3:4 &1 3fg
fs ABC 1 &oher 350870, %, @t
4= ABD =1 dvel (97, ) 01 87
(a) 150 (b) 200

(c) 210 (d) 240

480.
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481.In the given figure ST RP, then

what is the value (in degrees)
of supplementary angle of y?

4w agfa | STIRP, dly & €y
w1 1 T (fedit ) = 22

(a) 10° (b) 60°
(c) 100° (d) 170°
482.In the given figure, TB passes

through centre O. What is the

radius of the circle?

4 T amsfa 9, TB 3% O § T 2

486.In

(@ 15 (b)18 (¢ 20 (d)21
485.PQ is a diameter of a circle with
centre O. RS 1s a chord parallel
to PQ subtends an angle of 40°at
the centre of the circle. If PR
and QS are produced meet at T,
then what will be the measure
(in degrees) of .PTQ ?
%= O 9l g9 %1 =49 PQ 21 PQ #
AR UF Sie RS, g9 & &% W
40° 1 Fm 6t 21 3z PR @en QS
1 FgrEt T W fietmn < & @t 2PTQ &1
qa (feit o) =1 gm?
(8) 55° (b) 6%} 70° (d)90°
thes 7 given figure
ALNE ‘
,:AMB=i\- f:; ﬁlen what 1s the
Va\l;ga_ﬁfgﬂfagrees] of ~/ABQ?

pi»a}a:ﬁf # ~AMB=130°, # @

-
L®

/
Eﬁf?ﬁﬁﬂ'lﬂ%? | &ZBJQHTIHH(W'&)W%?
= 1_&} ;":j
ot
ol
P 4 WB{“@
(@) (25)/3 (b (f"ié 3

) (3v5)/2 A"@j"\ﬁ)”

APQR égméﬁdes PQ and PR
meas rmg}‘ﬁi?; and 893 units
resﬁ’é%é:%ely. How many such
gﬁaﬁg}’Fs are possible with all
~mtegral sides?
COAPQrR 7 9= PQ 7 PR #1 WY
FHT: 983 T 893 THTE 1 Wt s
qenedl & w18 fead fase dva 32

483.

(a) 1876 (b) 90
[c) 1785 (d) 1786
484.In the given figure, PQR 1s a tri-

angle in which, PQ = 24cm, PR
= 12cm, and altitude PS = 8cm.
If PT is the diameter of the

circum-circle, then what is the

length{in cm) of circum-radius?

@ T amgfa § ww By €, fsed PQ

=24 4t PR = 12 §Hl. 7en virders

PS =8 . &1 PT g9 & =19 &

e B # omEe (uah #) e R
P
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(a) 40° (b) 50° (c) 60° (d)90°

487.1n the figure, AP = 3cm, AR = 6
cm and RS = 9cm, then what is
the value (in cm) of PQ?

< 7 i W, AP =3 44, AR=6
WA, 9 RS = 9 ®A. B, & PQ =
oH (3 F) F 87

Q
P
A-
S
(a) 9 (b) 12 () 18 (d) 27
488.In the given figure, a circle

touches quadrilateral ABCD. If
AB=2x+43,BC=3x-1,CD=x
+6 and DA = x +4, then what is
the value of x?

T @rmfd § uw g9 AqHs ABCD
F Wyl #= @ 1 AR’ AB = 2x +3,
BC=3x-1,CD=x+6 a1 DA=x
+4, 81, d@ x F °E #7187

|" 569
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493.

AABC is right angled at B. If
2A =30°. What is the length (in
cm) of AB, if AC =8 cm?

A DEF ¥ E w gu#ivl 21 afg
/D =30° &, @ DE & @aE (4§ .
) 7 &, af% EF = 63 gt #2

AABC, BT GHFT 81 7% A =30°
s %, o AB &t ware (Fddte #) 7 E, (a) 18 (b) 1243
D afg AC = 8 ¥l 27
(a) 3 (b) 4.5 (c) 18Y3 (d) 12
(c) 6 (d) 6.5 (a) 2"‘5 (b) 4"]3 499, The areas of two similar tri-
489 The areas of two similar tri- fC]4f"\/§ (d) 2/43 angles AABC and APQR are
angles AABC and APQR are 494.D and E are points on side AB 36 sq cms and 9 sq cms respec-

121 sq cms and 64 sq cms re-
spectively. If PQ = 12 cm, what
is the length (in cm) of AB?

< waEq fagsi AABC 3R APQR

and AC of AABC. DE is paral-
lel to BC. If AD:DB = 1:2 and
area of AABC 18 45 sq em, what
is the area (in sq cm) of quad-

tively. If PQ = 4 cm then what
is the length of AB (in em)?

AABC 4R APQRF & wH faugsii
% A F, it & 9

F1 el FAA: 121 57 4 3R 64 rilateral BDEC? s #) aﬁ’PQ g"ﬁﬁ 2, d AB #t
ot A &) 3k PQ= 12 4 @ @ AABC % AB 3t AC 9=ieff = D o (@rﬁrmm 27

AB =i it (R, %) freeft 82 s E < fiig #1 DE, BC % WM #1 (a) A6, 751‘12 @8 (d)6
(a) 7.25 (b) 6.25 I ADDB = 1:23 ok AARC T SOQAABQ} is similar to APQR. If
(c) 16.5 (d) 5.25 e 45 =11 27 2, @ =gds BDEC P 6 of perimeters of AABC and

490. w1 eEEe (i 9 §) F 37

(a) 20 (b)40 (c) 15 (d) 3Q

AABC 1is similar to APQR. If
ratio of perimeter of AABC :

PQR is 3:7 and f PQ =21 cm,
then the length of AB (in cm) is?

b

»x‘

491.

492.

570
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perimeter of APQR is 5:9 and
if PQ = 45 cm, then the length
of AB (in cm) L

AABC @t APQR U% §9M ¥ afg
AABC %1 9fif4: APQR &I 9ftfd =
U 529 ® 3R afz PQ =45 AW 2,
dl AB =t waré (9. #) faR 87

(@ 15 (b]20 (¢ 25 (d)16
D and E are points on side AB

.D and E are points on side AB}

AC of AABC - DE s parall §§
If AD:DB =2:5 and area ofA}lf)E
is 8 cm sq, what ig“ihe afea (in
sq cm) of quadﬁlat&'f‘g'r BDEC?

AABC Fi 3 AC W D
aﬂTEﬁE%&BE;BC?m%I’Jﬁ
AD:DB =0:5/% 3t AADE 1 &%t

"»ws»"

S01.

AABC ,APQR % wHam #1 7fg
AABC 3t APQR ! wufffiri =
A 327 € A afs PO =214 f 2,
d1 AB #1 @are (d. §) frat 22
(a) 6 (b)14 (o) o(d) 18
D and E are points on side AB

and AC of AaBc. DE is parallel
to BC. IF AD:DB = 2:3, what 1s

TIIdt A(E:;((:)f I?:%CDE?E 1;;)61‘&1(—1 8 \b%, =t T’ri[ﬁ‘_’f BDEC =1 the ratio of area of AADE and
e o ¢ A.ADE . .8 ' a}: " m}?ﬂ At ) @2 area of quadrilateral BDEC?
area o is 8 sq cm, wha ) .

e ~@).98 (b)94 ()90 (d)86 AABCH 991 AB 3t AC W D iR

is the ratio of area of AADE:

area of quadrilateral BDEC?
AABC # 9sei AB st AC WD,

4@@' /AABC is similar to APQR . If

'.‘:
A st
]

ratio of perimeters of AABC

E fsg 81 DE, BC & waFi® g1 afg
AD:DB =2:3 ¥, AADE % 4R =gl
BDEC % &% F1 379 F1 87

N sy , : d APQR is 1:2 and if PQ = 10
#ir E fig %1 DE, BC 3 Tuig SnaR an
AD - [?ES =0.5% st A .ME"’}?FI cm then what is the length of (a] 4:21 (b) 4:25

%" AB (in cm)? (c) 4:29 (d)4:9
i lsaﬁgﬁ;% L AV w4 I% AABC ,APQR # THM 3 afz 502.The areas of two similar tri-
Tgﬁ'a BDEC éﬁtna =27 ' : ’ ]

AABC 3% APQR # ufiferi #r angles AXY7 and APOR. arg

(a) (4 : 45) @5 4 100 sq cms and 25 sq cms re-

(©) (8 45) t (45 - 8)
Triangle ﬁXYZ is similar to
APQR . If XY:PQ=5:1. If Area of

APQR is 5 sq cm, what is the
area (in sq cm) of AXYZ?

497.

A 1: 2 3R A% PQ = 10 EHt &,
7t AB =t o (d . #) w2
@5 20 (25 (d15
What is the circumference (in cm)
of a circle whose area 1s 616 sq cm?
o g9 F A (A F) e s
fa%e 616 = H. 87

spectively. If PQ = 4 cm then
what is the length of XY (in cm)?

AXYZ ARAPQR & = TuH fausi
F &%el FH: 100 371 T Fw 25 7
| &1 afs PQ=4 A5k &1, @ XY
wae (A7) T 77

99 AxYZ, APQR F TG 1 AR (@ 16 (b)14 ()8 (d)20
XY :PQ = 5:1 iR APQR 1 &%l fa)-44 _(b] _66 @22 [dEs 503. AXYZ is similar to APQR . If ra-
498. ADEF is right angled at E. If to: P Gariimictars & NENG

s = B #, d AXYZF Sawe (A
qff, ) T 22
(a) 125 (b] 120 (c) 100 (d) 64

#D = 30° , what is the length of
DE (in em), if EF = 643 cm?

Copyright © All Rights Reserved | https://spardha.gurw/

APQR is 3:2 and f PQ= 6 cm then
what 1s the length of XY (n cm)?
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507.

508.
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AXYZ ,APQR ¥ W ¢ 3% AXYZ
3R APQR ! URfil 1 o 32
v afs PQ = 6 £.71 &, 1 XY 1 warg
(8.4 #) =0 &2
(a) 4 (b] 8 (c) 12 (d) 9
D and E are points on side AB
and AC of AABC. DE 1s paral-
lel to BC. If AD:DB = 2:3 and
area of AADE is 4 sq cm, what
is the area (in sq cm) of quad-
rilateral BDEC.
AABC #1951 AB 3 AC T D iz
E fig # DE, BC & WuFid 81 9fg
AD:DB = 2:3 3t AADE & &7%al
4 =f ¥ %, @ =gds BDEC =1
el (gL #) @2
(@25 (21 (5 (d)9
ALMN 1s right angled at M. If
s/N=45° , what 1s the length of

MN (in cm), if NL=9,/2 cm?

ALMN,M T T9H0 51 7% N=45° %,
@ MN =1 &ai (S1.8) T 21 9f%

NL =92 g, &7

(a) 9v2 b) 9/42

(c)8 (d)9

AABCis right angled at B. BD
1s an altitude. AD = 4cm and
DC = 9¢m. What is the value
of BD (in cm)?

AABC, B w gzsim 21 BD =zw#1 9
#1 AD =4 a4 dx DC =9 44 2
BD (=t #) =1 o #0287

(a) 5 (b) 4.5 (c) 5.5 [d)@{‘
In APQR P sQ:sR=2:2'5 . Al
parallel to QR 18 dt‘awdg ‘thh
touches PQ and PR ﬁ Aand B

respectively. Wh 1@ {the value
of 2PBA~,PABR. ()
APQRH /P jn?—a 2:5 ?

: toﬂ?ﬂ St & 5 PQ
Fo: “Aen Bw vl Fedt
2| /PRA-’PAB= T =1 &7

(a) 60° (b) 30° (c) 24° (d) 36°
In the given figure, O 1s the cen-
tre of the circle, /DAB=110° and
#BEC =100° . What is the value (in
degress) of ~OCB?

@« 7 oamgl ¥ O g9 w1 % 2,
/DAB=110° @1 <BEC=100° g
ZOCB®! M (Teit ) =11 272

510.

511.In

512.

(a) 5°

(b) 10°
509.1f ADEF is right angled at E, DE

(c) 15° (d) 20°

=15 and #DFE=60°
is the value of EF?

% ADEF ,EWR &P e, DE=15 741
ZDFE = 60° | &, 7 EF & 7 #1 2m?
@) 53 b)5 (o) 15 (d) 30

In the given figure, area of isos-
celes triangle PQT 1s 128 cm? and
QT = PQ and PQ = 4 PS,
PT[ISR, then what 1s the area (in
cm?) of the quadrilateral PTRS?
4 T enfa H, Tz s PQT &1
%A 128 BHF § 99 QT = PQ wen
PQ = 4PS, PTOSR, #, # {

then what

- S, el n '.~.. %
PTRS =1 &FFa (WA o) ?ff}afiy
S P ?"ﬁ"‘w;
N2
‘7

Q
(a) % g)},éf} (c) 124 (d) 72
+given figure, BD passes
11’011@11 centre O, AB = 12 and

*’ W— 8, What is the radms of

f;ethecwcle'-’
4 T amEfa ¥, BD #5 O § TEwl €
o1 AB = 12 @1 AC = 8 %1 99 1
o @ 'ri?

A Cvu
(a) 3.2 (b) 443
(c) 345 (d) 33

Two identical circles each of ra-
dius 4 cm intersect such that
the circumference of each one
passes through the centre of the
other. What is the area (in cm?)
of the intersecting region?

513.

s,w\

Jo

-l

515.

516.
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514.

9 wEy gai @ B 4 4 €, S
T T9F T TR WSS W
T U T gE R W e
TSt % wiaesfEd 69 @ dEwe (9
ehd) =z gm?

@ a3 122 a3
3 3

% 8f8 @ 22-af8

PQR 1s an isosceles triangle with
such that PQ =
QR =24 cm. fﬁ;‘ a perpendicu-
lar bise agnf‘tbe base QR. What
is the le gthf“’[m cm) of PS?

Pdﬁwmﬁgm%ﬁmm—

(2115 41 a1 QR = 24 €+ #)

lC]

=15 cm and

{‘if;anw QR =1 =i fgei= 21 PS =1

wH (8. §) T 22
(@) 18 ()6 (o) 12 (d)9

ABCD is a cyclic quadrilateral and
AB is the diameter of the circle.

If ,CAB-=48", then what is the
value (in degrees) of ~ADC?
ABCD % 17 =iqs & a1 AB g9
F W ¥ AR LCAB=48° ¥, @
Z,ADC = WA (feiii #) = gm?
() 52° (b)77° () 138° (d) 142°
Two tangents are drawn from a

point P to a circle at Q and R. If

O is the centre of the arcle and
Q0P =40°, then what 1s the

value (in degrees| of Z~QPR ?

% g9 W P fag 9 9 ©yvi fEnd Q qen
R @il 78 1 4t O 99 #1 & & gl
2/QOP=40° &, i «QPR = 4M

(feafi ®) = =mm?
(a) 60° (b)80° (c) 90° (d) 100°
In the given figure OQ = QR =

RT and O is the centre of the
circle. What 1s the #PTQ?

% 7 onEfa § 0Q = QR =RT aa1 O
9 @1 w5 ¥ «PTQ = €2

|' 571
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/\.
P Q
(a) 30° (b] 60° (c) 45° (d) 90°

517. ABC is a triangle which is right
angled at A and a perpendicular
AD 1s drawn on the hypotenuse
BC. If BC = 8 and AD = 3, then
what 1s the value of AB x AC?
ABC wF sl &€ 1 A W H9m &
T uF @™ AD & Fui BC W gEl
= %1 Afs BC = 8 7o AD = 3 ®, &t
AB x AC 7 #1 €7

(@) 12 (b)24 () 32 |(d) 36
A chord of length 7 cm subtends
an angle of 60° at the centre of

a circle. What 1s the radius (in
cm) of the circle?

7 WAL @ ww oW, 59 % fam w
60° =1 H sAE & g9 F1 G (A

518.

oH) = gnit?
(a) V2 (b) 743
()7 (d) 14

519.1f APQR is right angled at Q, PQ

= 12 and £PRQ =30°, then what
is the value of QR?

% APQR, Q W @H&M ¥, PQ = 12

T ZPRQ=30° B, d QRA AT FNE?

y

b}

" e
3

(a) 1243 (b) 122

(c) 12 CIPZI N
520.In the given figure, AC"and DE

are perpendicular fo té’i‘ngent

CB, AB passes ngh centre

@] of the circl rad_lus is

20 cm. If AC , What is

the len [m C'gn] of DE'-’

& ST R YEn CB W AC 7o

DEo 8| Tl ABgd & 5 g d O
ot & fomat e 20 A # ARy
AC #1 @ 36 4. & @ DE #i
o (WA H) = s

NN
‘!h
cC P E

@4 (b6

(€2 (d)8

572 |
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521.In the given figure O is the cen-
tre of the circle #PQO =30°
ZQRO =45°. What is the value
(in degrees) of /POR ?
? W s § O g9 w1 F% @
/PQO =30° 741 LQRO = 45°

%1 ,POR #1 WA (fei ) =01 22
P

and

R
(b) 110°

(d) 130°

(a) 150°
(c) 160°
522

.In the given figure O is the cen-
tre of the circle OQ is perpen-

dicular to RS and SRT =30°. If :
1042 then what is thw‘j}

RS =
value of PR? ? X, ;W‘

§ T A ¥ O 90 F R T, @5

F1 A TN LSRT = 308 81 ?Jﬁ*HS— 526

10y2 %, 5 PR2 m{%m

(a) 200(1+x/§) () 300(2+J§)
(c) 200(2+13) (d) 100(3+2V3)

If AARCis night angled at B, AB
= 30 and #ACB=60°, then what
is the value of AC?

% AABC, B W w9 &, AB = 30 T
ZACB =60° @, AC %l 9F =41 817

(a) 20 (b) 2043
(c) 40 (d) 60
In APQR. a line parallel to side

QR cuts the side PQ and PR at
points M and N respectively and
point M divide PQ in the ratio

523.

924.
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525.

527.

528.

of 1:2. If area of APQR, 1s 360
cm?, then what is the area (in
cm?) of quadrilateral MNRQ?
APQR.H, 51 QR #F TOFIMR TH
T, ga PQ wem = PR &1 %49
farg MAmm N W &= ¢ au fag
M st PQ i1 :2 % &9 ® afedt
21 9f8 APQR, %1 &i%et 360 WAL §,
@ 934 MNRQ #1 &=%a (9.
) fan sm?
(a) 160

(c) 120 (dj96

ABC is an oﬁraeles triangle
such thatAB\ ?&V{: =30 cm and
BC = 48pmJAD is a median to

baﬁam%at is the length (in
cm] of' }‘\

A‘B@«@'mmgﬁga%ﬁﬁm—

(b) 320

F{@C 30 €. q=r BC = 48 4.4 21

AD amm BC #t mfers &1 AD =1

o (AHH) F 7
(2) 18 (520 ()24 (d)32
.In AABC sC=54°, the perpen-

dicular bisector of AB at D
meets BC at E. If ~EAC =42°,
then what is the value (in de-
grees) of /ABC?

fagst ABCH c=5¢ % fig D% AB
F1 wafgars® @& BC # fag E W
faaar 21 afs ,EAC=420%, @i
<ABC#1 9M (fedlt ) =1 g2

(a) 25° (b)42° (c) 50° (d) 60°

In an isosceles triangle DEF,
D = 110° If1 is the incentre
of the triangle, then what 1s the
value (in degrees) of EIF ?

% wHigaEg g9 DEF#, ,p =110°
Fiofz 1fe = s 32 8, @ LETH
o (feft %) = 7

(a) 110° (b) 130°

(c) 145° (d) 155°

In the following figure, O is the
centre of the circle
and A/PRQ=50°. What 1s the
value (in degress) of sPTQ?

f W oaElt § O g9 H FF ¢ oaw
/PRQ=50°%1 /PTQH uH (feiit #)
1 &7
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(a) 100°
(c) 130°

(b) 75°
(d) 150°
If the angles of a triangle are

(2x — 8)°, (2x + 18)° and 6x°.
What is the value of 3x (in de-
grees|?

afs uF fasgs & & (2x- 8)°, (2x +
18)° @1 6x° ¥l 3x = WA (feil #)
T E?

(a) 17° (b) 34 (c) 51° (d) 60°
Two identical circles each of ra-
dius 2 cm intersect each other
such that the circumference of
each one passes through the
centre of the other. What is the
area (in ecm?) of the intersect-
ing region?

< e e A B 2 A E U g
F 3 YR Wk F € A i
TF TR F 5% U e ) vfasiia
& T Awe (FAE. ®) #oam?

@) 523 (B 2B

@5 @32k 3l

In the given figure 8 th“é’{
centre of the circlig =700°
and sSTR=105°. What 1s the

N
value (in degr é‘ﬁ ZPS0?
% T e §§ g9 W1 ®% ¥,
ZPQR - 1hpey st <STR=105° 3

/PSO &1 oM (feiit ®) = 2

L Q
9]
S R
4}
(a) 95° (b] 65° (c) 75° (d) 85°

532.

533.

In the given figure, EF = CE =
CA, What is the value (in de-
grees) of <EAC?

# 7 g4 EF=CE=CA % @
<EAC =1 79 (fedit ®) =0 =mm?

96°() C

B A E T
(a) 58° (b) 64° (c) 72° (d) 32°

In the given figure, O i1s the
centre of a circle of radius 13
cm and AB 1s a chord Perpen-
dicular to OD. If CD = 8 cm then
what is the length (in cm) of AB?
4 M AF H O uF ga ferwa e
13 |7t & 1 F=5 T 71 AB,OD &

536.

B
(a) 90° (b) 110°
(c) 160° (d) 130°

In the given figure, A PQR is
drawn such that,PQ is tangent
to a circle why
and QR Péﬁs m@‘ﬁ?‘ough centre of
the crci& 4p];:unt R lies on the
cu‘g,e IE&QR 36 cm. then what

is the ?réa (in em?) of A PQR?
z"rwmn A PQR I 30 ¥&R

© sem e & o PQ T o & T

e UE S #1 4afe CD = S@ﬁfé
#, @ AB %t wé (3. 7y, O

g;?"%;;{
lgﬂﬁ"\cﬂﬂ (b) 12 cm
{ 1?3}@4 cm (d) 28 cm

5‘31f"‘1nAABc sA:,B: ,C=3:3:4.

'»
N

535.

A line parallel to BC is drawn
which touches AB and AC at P
and Q respectively. What 1s the
value of » AQP - ~APQ?
AABC " sA:/B:,C =334
¥ UF T BC & YHMIH Tl Skt
% ol AB a9l AC %l %HY: Payl Q
Tl T B 2 AQP - 2 APQ
HE FT BN

(a) 12° (b) 18° (c) 24° (d) 36°
In the given figure, O is the
center of the circle, » CAO =
35%nd » CBO=45° What is the
value (in degrees) of » AOB?

% T oTEfd §, O 99 7 % 8, 2 CAO
=35°qel ,CBO=45° %I , AOB
w1 7 (feili #) = 87

537.

538.
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2 foret oo 10 9 € 721 QR 90 %
R W R ot #1 fig R o feer
#1afk QR=36 WH %, @ A POR
w1 &FES (A ¢ H) FEm?

p 24 Q
(8) 134.5 (b) 148
(c)166.15  (d) 180

Two identical circles intersects
so that their centres and the
points at which they intersect
form a square of side 2 cm.
What is the area (in cm?)of the
portion that is common to the
two circles?

Y T TE TR H W TER
s FW © o 59 % qa1 % g
98 92 e ufdmee #4d €, W UH 2 4.
ot e aren = A 2 S g @
IS 9 F dEwd (AT 87
()27 -4 (b)4 7 -8

(c) 37 -4 (d) 7 -2

DEF is an isosceles triangle
with such that DE=DF =60 cm
and EF=96 cm. DG is a median

to base EF. What is the length
(in cm)of DG?

|' 573
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DEF w% w§fzarg faqw & fogw
DE=DF=60 9.7 9@ EF=96 9.
#1 DG a19R EF =t wifizt 81 DG =1

9 . fon At 1 g7 F o |
w9l W U W T R A gt &
AR I G S st T g A

AB ! o= 24 98t €91 OA &I
o (WA H) T 87

(@) 25 (b)26 (o) 28 (d)31

HE (B H)H F gm? R (B H) w82 547 In the given figure what is the
(@) 22 (b)36 ()24 (d)32 value of 2 1+ 2+ 3+ / 4+
539.In A ABC, AD and AE are bi- jiARER" - {y ABeSh 25+, 6+ T+, 84,29+ 210 ?
sectors of » BAC and ~ BAD re- (c) 54+18 7  (d) 54+24 x . .. .
spectively. If ~ BAE=30° AE =9 543.A circle passing through points WS AT W 1+ 22+ 23+ 24

540.

cm and EC=15 cm, what is the
area (in cm?) of A AEC?

3@ ABC 5 AD @41 AE %#31: ~ BAC
aen « BAD % fgums 21 afy
~ BAE=30°,AE =997 7t EC=15
At 2 1, faqs AEC %1 ere (R
o) ¥ T Bm?

(@) 36 (b)54 () 72 (d)216
ABC 1s a equilateral triangle.
O is the point of intersection of
altitudes AL,BM and CN. If
0OA=16, then what is the semi-
perimeter (in cm) of the

Q and R of triangle PQR, cut the
sides PQ and PR at point X and
Y respectively. If PQ =PR then
what is the value (in degrees)

of ZPQR+ 2QXY ?

9s PQR & fag Q &1 R ¥ B¢
TR ATl T g6, 9 PQ T PR
1 FHY: fag X ae=n Y gfresg st
#13ft PO=PR 24 ~POR + 2QXY
w1 wA (ferit ) @ 22

(a) 120° (b) 150°

(c) 240° (d) 180°

+/ 5+, 6+, 7+ 8,9+, 10
%1 99 T E?

¢
A, B and C are the three pomtg
on a circle such that /% &?g“‘

triangle ABC? 544.

ABC t% war fiqs 210,AL BM

541.

542.

574
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e CN % wfaesed &1 fag 21 afy
OA=16, ¥t =, @ frgst ABC %1
srguftfy (I H) = EE?

=35%and ~ BAC =85°. t is
the angle (in deg}gees }«‘S{xb—
tended by arc AB ﬂ}c gentre
of the circle? ""‘* Y

548.

(a) 620°
(c) 900°
The

(b) 720°
(d) 1080°

distance between the

t f t ircl f radi
[a)8J§ (b]12\/§ A, Bﬁmg"w%ww centres of two C]:I'CB.SO ra 1us-
e ABé‘—"%ﬁ} ﬁ?:ﬂ  BAC =85° 9 cm and 6 cm is 17 cm. what
() 16\/5 [d]24\/§ is the length (in c¢m) of the

In the given figure, ABC 1s a tri-
angle in which, AB=12 cm, AC

%lamaggjfﬁﬁmmwmﬁa;
afruf’%r(%ﬂ (feth ®) =1 87

transverse common tangent?

oORHI a6 AH B wm T gw &

=6 cm and altitude AD =4 cm. If [a‘j W (b) 90° (c) 135° (d) 120° e N
AE is the diameter of the circum- 5}3‘5 ;{ "”A POR,S and T are the mid FR & w4 H @ 17 9.5 % fodew
circle then what is the length (in % oyl T H war (S 22

cm) of circum- radius?

4 ™ amfa # ABC R Pt %‘ 1%&

AB=12 €4, AC =6 ¥
—4Hﬁ%|aﬁAEa@qﬂ afram

pmnts of sides PQand PR
respectively. If 2 QPR=45%and
/PRQ =55°,then what 1s the
value (in degrees)of ~ QST?

549.

@9 (b1l (7 (d)8

The length of the direct common
tangent of two circles of radius
8 cm and 3 cm is 12 cm. What
is the distance (in cm) between

L e '-?) AT APQRF, S T4 T FHI: PQTRA the centres of the cir les?
o PR % H% fag €1 af7 2 QPR=45° 8 Sl 71 3 . B @ < 9l
Aem «PRQ =55° 81 @l ~ QST &I IS 2 AT T # waE 12
C (Rt 3 1 &7 A T F w F A

. (a) 80° (b)85° () 90° (d} 100° (Fedt. B Frert 22
546.AB is a tangent to a circle with (@ 15 (b) 13 (¢) 14 (d) 17

centre O. It touches the circle 550, A POR is a right angled at Q. If
E at point B. If the radius at the PQ = 8 cm and PR= (QR+2) cm.
@6 (b8 ©9 (@10 circle 1s 7 em and the length of Whet is the value (in cnijof PRD

Three circles of radius 9 cm are
kept touching each other. The
string 1s tightly tied around the
three circles. What is the
length (in cm) of the string?

AB is 24 cm. then what is the
length (in cm) of OA?

AB TUF 79 fam®1 %= O 2, #7
w4l 71 Atz gm & e 7 | qen

Copyright © All Rights Reserved | https://spardha.gurw/

A POR,QW §H&T B1 Aff PQ =8
.Hf 91 PR= (QR+2) 4.H #1 PRI
A (VW) == 27

(@) 17 (b)15 (¢) 19 (d) 18
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In the given figure, O is the cen-
ter of the circle. If ~ POR = 130°
then what is the value (in de-
gree) of £ 3 and £ Q respectively.
< $ Wwfa §, 0 g = ¢l A
2~ POR = 130° ¥, & HH9: ~ STl
£ Q & WA (fetlt ®) =0 €7

(a)65°,115° Q(131559,125“

(c) 60°,120° (d) 65°,120°
PQR is a triangle in which
PR=QR Side PR is extended to
S, such that QR =RS If ~ QPR
= 40° then what is the value
(in degrees) of ~ QSR?

PQR T# f19 1 f@d PR=QR 2|
9o PR &1 S @& 39 YN 9@ 74T
g fF Qr=RS 213§ £ QPR=40°
2,9 ~ QSR w1 wF (feuft #) =1 2

s

555.

556.

557.

PQRS T& 37 &l A,B,C 78 D FH:
o3 PQ,QR, RS 11 PS & w4 forg
#14af5 A POR o1 &5%e 48 SH° 84l
A BCD =7 2w (RAF ) 01 87
(@) 24 ()6 (c) 16 (d) 12
If PA is the median of the
triangle PQR and G be the cen-
troid, then what is the ratio of
(PA+GA):(PG-GA) ?

If5 PAH 4951 POR 1 IRt a2
G 5 @1, T (PA+GA):(PG-GA)

SR 27
(a)4:1 (b) 3:1
[c) 2:1 (d) 3:2

Ina A PQRPDis the median and
G is centroid. If PG=24 cm, then
what 1s the length (in.cm) of PD?

A PQR ™, PD T Hiftasm den G

®7F 71 afc PG=24 &A1 & o f’D,{ff

A owE @d MY o D
@48 (b)36 ()60 (d72)
ABCD is a trapemuq:l? such‘asﬁlat
AB=CD and AD( D 0 cm

and BC=18 cm. If* t&ae area of
ABCD is 70 raf tthan what is
the value {in.cm) of CD?

ABCD q{ﬂ}ﬁ"ﬁ%ﬁaﬁm CD @l
ADT{B‘EZ,,%l AD=10 %+ ik BC=18
ﬁ’ﬁ"l%‘]“%ﬁ ABCD 1 &Fel 70 SHF

py% F CD e (R R

(a) 45° (b) 50° (¢) 55° (d) 41° “ W

A chord of length 24 cmisdrawn ™ (@) 5  (b)y29 (c) /41 (d) 6

. : . \ o

in a circle of diameter 40 * "7 558.PQR 1is an isosceles triangle
Another chord of length'x o’

is drawn in the same
allel to 24 cm long
is the minimu SLance (in
cm) between 24

T 40 S T T W 24 A
N UF Wwﬁ%lwﬁr
Gﬁmﬁmﬁw@zzﬁﬁ%aﬁw
T 24 GHr TR At Sian % WHF
Wid St #1 ST o e i A gl
(B o) Towee B2

@4 (b2 ()8 (d)3
PQRS is arectangle. A,B,C and D

are the mid points of sides PQ,QR,
RS and PS respectively. If area of

A POR is 48 cm? then what is
?) of A BCD?

the area (in cm

559.

with sides PO = PR =45 cm and
QR = 72 cm. PN is a median to
base QR. What will be the length
(in em) of PN?

POR wafzarg frgs  fi@st s PO
= PR =45 9l. a1 QR = 72 ¥ff &)
PN @R QR &t wifigs €1 PN #I
o (A §) o Em?

(@) 36 (b)24 (c) 27 (d)32
In the given figure - BAC=70°,
+ACB=45% nd » DEA=140".
What 1s the value of - BDE?

4 T amEfa ¥, ~BAC=70°, - ACB
= 45° a1, DEA=140° ¥ ,BDE
F HA F 2

560.

561.

D B 5]
(a) 10° (b) 15°
(c) 20° (d) 25°

If the centroid of triangle ABC

is G and BG = 9 cm, then what

will be the length (in cm) of

median BE?

afk fass ABC #1 §= G @ 9o BG
9 gt & o miers BE #1 e

(& ) H gs;w

(&) 12 @]M“[]Ib (d) 13.5

In the.given figure, PQRS is a

pafh]lgl ram and U is the mid-

o oiatiof QR. If PQ = 4 cm, then

¥J ?wv‘

562.

563.
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hat is the value of PT (in cm)?

\»ﬁfﬂ'a‘eﬁ?ﬁfff PQRS T# HHMAM

ﬁﬁa‘sa‘m U, QR =1 544 fag PQ
=4 §M &, @ PT &1 oF (S #)
w1 27

R S
U
i Q P
(@6 ()65 (c)7.5 (d)8

In A ABC,D and E are points on
side AB and AC respectively. DE
is parallel to BC. If lengths of
AD,DB and DE are 10 cm, 5 cm
and 6 cm respectively What 1s
the length of BC?

AABC #®, D 3R E %79: AB &R
AC W feora faig #1 DE,BC & HHFIHR
21 uf AD,DB 3t DE %1 &far$ %q91:
10 %0, 5 4.1 =ik 6 Qi & @t BC

e = 27
() 9 cm (b)2 cm
(c) 3 cm (d)11 em

The base angle of an isosceles
trapezium is 45°. If the shorter
side and both the equal sides
are 10 cm each, what 1s the
arca of the trapezium?

TF TAfEAE WO F OGNHE w1 F
45° #1 Afs BE o AR AR
qard v 10 9t €, 1 39 wwera
F1 &% F M7

| 575
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564.

565.

566.

567.

(a) 50./2+50 sq cm
(b) 50 f2 +100 sq cm
(c) 1002 +50 sq cm

(d) 100 f2+100 sq cm

A DEF and A GHI are similar tri-
angles. Length of DE is 4 cm and
length of the corresponding side
GH 1s 9 cm What is the ratio of

areas of A DEF and A GHI ?
ADEF 3R A GHI ww&q fagst &1
DE # olaE 4 ¥+ & 3§ qen
GH #1 =@ 9 4.1 €1 A DEF &K
A GHI & &%l &1 9@ 1 87
(a)81:16 (b) 4:9

(c) 16:81 (d) 9:4

A quadrilateral is inscribed in
a circle. If the opposite angles
of the quadrilateral are equal
and length of its adjacent sides

are 6 cm and 8 cm, what 1s the
area of the circle?

T g ¥ UF wqde fem #) af s@
=qds # famia w i SR € AR sEE
T3 g el H oAag FEY 6 U 3R
8 &t €, T SH g 1 kel T Tm?
(a)64 r sq cm(b) 257 sq em

()36 7 sq cm(d)49 7 sq cm

Chord AB of a circle when ex-
tended meets the tangent to
the circle at point P. PT is the
tangent touching the circle at
point T. If lengths of PT and PB
are 6 cm and 4 cm respectively,...

what is the length of PA? J{’;“ M}
TF g9 1 S AB F fga, w0

Ei"ﬂ

gu g
‘3t PB #i

'%jﬁtﬁ%,fﬁm

W€ I F TRl F WY
fier 81 PT 5% ol ¢
T w9l Fd 2
gAY 6 T,
F ofam @

(a) 12 cr;y} rlgj T e

(c) 27 cm C [d] 9 cm

In a triangle the length of the
side opposite to the angle which

measures 60° is 6.,/3 cm. what
is the length of the side opposite
to the angle which measures 90°
wF s | 39 & & faadd 9w w
T 6,3 . T forE A 60° 31 3H
= F fauia e w3 e #n gnd,
fS am - 90° &7

576 |
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570.Points P an

,f’ as

(@) 12 f3cm (b) 6 cm
(d) 3/3 cm

(c) 12 em

568.Chords PQ and RS of a circle ex-

tended externally intersect at
point T. Length of the segment
PT, if lengths of QT, RT and ST
are 9 cm, 18 cm and 6 cm re-
spectively, is

% 39 % e PQ ok RS e #it e
fomge +9 W fig TW & g #
Fed 81 4fa QT, RT #r ST %1 «ar
A9 O e, 18 §ft. 3R 6 Tt €
T PT #1 ol ¥ &7

(a) 18 cm (b) 16 em

(d) 12 cm

(c) 9 cm

569.Segment AB is parallel to seg-

ment CD.AD intersects BC in
E. If lengths of AE, BC and ED
are 10 cm, 15 cm and 15 cm,

what 1s the length of EC?

g AB @R @g CD §9HIR &1 AD, Bcf

# E fiig ™ = 219/ AE, BC 44§

1 A FHHel: 10 B, 15 FHte’s 5

. §, % EC # g 7 #7 ;\;‘?

(a) 10 cm (b) &gp:gﬂgi

)9 em

"’1}}3 on side AB

and AC of'triangle ABC respec-

tlvely sdpch\tﬁat segment PQ is
@;to side BC. If the ratio

qfﬁa#e of triangle APQ and tri-

le ABC is 9:16, then what

e ratio of AP : PB'J

fig P 3t Q faqs ABC & %99: 991
AB #0951 AC W 39 ¥R ¥ fiorg &
% @g PQ =1 BC % wyMix 21 3%
forgst APQ 3R faqwi ABC & &rweeil

(c) S cm

F FqUE 9 : 16 ® @ AP : PB #
AT N EM?

(a) 3:4 (b) 9:7

(c) 9:16 (d) 3:1

571.In AABC, the angle bisector

of sA cuts BC at E. What is the
length of AC? If AB, BE and EC
are 12 cm, 9 cm and 6 cm?
AABCH, /A %1 fga= BC #1 E
T FEa €1 9 AB, BE #r EC #
e w12 9. s 9 g i 6
A1t & df AC #1 war F Bi?

(b) 15 cm

(d) 8 cm

(a)4 cm
(c) 18 cm

572.

573.

g,w\

O

In ADEF, G and H are points
on side DE and DF respectively.
GH is parallel to EF. If G divides
DE in The ratio 3:2 and HF is 8
cm, then the length of DF is
ADEF ¥ G @it H %w%1: DE iR
DF Wt fiorg fifg 81 GH, EF & @uAiat
% 4k G, DE# 3 : 2% 3da §
famfsm #@ 2 i HF 8 4. £, &
DF 1 @& =1 gmi?

(a) 12 cm (b)20 cm

(c) 14 ecm (d) 16 cm
AABCand A EF are similar
triangles. L Qﬁi of AB 1s 10
cm ana‘,& Le gth of the
correspo m.g side DE 1s 6 cm.

W}}at fs the ratio of perimeter
of AA\ﬁ’é to ADEF?

A;BEF M AGHI w9&9 e 2

“AB FF o 10 . # 3R g e

574.

975.
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DE #} &% 6 93 81 AABC #f
qfify st ADEF &1 9ftfa & == =1

S 1 87
(a) 5:3 (b)3:5
(c) 25:9 (d)9:25

Points P and Q lie on side AB and
AC of triangle ABC respectively
such that segment PQ is parallel
to side BC. If the ratio of AP:PB

is 1:4 and area of AAPQ is 4 sq
cm, what 1is the area of
trapezium PQCB?

fiig P @ik Q fagst ABC & ww¥1: AB 3iit
AC 9= =0 u#n ¥ fom € fr =z PQ
e BC % 9aHiR @ 21 37R AP : PB
&SI | : 4 § 3 AAPQ FH e
4 =t 4. 2, @ wHerm PQCB 1
dahe 4 &7
(a) 60 sq cm (b) 16 sq cm
(c)96 sq cm  (d)21 sq cm

In APQR, S and T are points
on side PQ and PR respectively.
ST is parallel to QR. If lengths
of PS,8Q and PR are 6 cm, 9 cm
and 12.5 cm respectively, what
is the length of TR?

APQR , ¥ S 2t T %7w: PQ =it PR
¢ feog fag €1 ST, OR & WHIT 21
afe PS, SQ 2R PR & of&¢ 99l
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578.

579,
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6 BT, 9 WAL Fen 12.5 44 ¥, TR
*I g Fradt 22

(a) 7.5 cm (b) S ecm

(c) 10 cm (d)2.5 em

A GHI is similar to A KLM. if
the ratio of Perimeter of A GHI :

585.In Rhombus ABCD, measure of
angle CAB 1s 30°, what 1s the
measure of angle ABC ?
% §HEgHs ABCD ¥, %1 CAB %1
A1 30° &, Fo1 ABC %1 WY 41 B2
(a) 60° (b 120° (c) 90° (d) 150°
586.The diagonals are not perpen-

(b) 2(\/§+\/6) cm
(c) 2('\/§+J§) cm
(d) 3(\/5’”[5) cm

580.At least two pairs of consecu- } :
Perimeter of A KLM=1:4 and tive angles are congruent in dicular in a___ o
lenght of GH 1is 2 cm what 1s the a___ _ ¥ ool deem @ e 2
lt.angth of the correspoinding W HAME I F FH W FH 8 S (a) Parallelogram /=R st
side KL. SET T 2 . .
AGHI, AKLM & wam 31 afg (k) Fea/

z (a) Parallelogram /SHI=1 =g+
A GHI = i 7o A KLM =) wfifsr e (o) Bheornhus/5 a@ﬁa
i eaE LAY o cHst oy ()lsoscelse trapesium (@ square/7 4
g €, & g o KL &I & =1 &7 FAfEE WA 587.In an 1sofe s*”‘trapemum L
(a)4 cm (b) 8 cm (c) Rhombus/#™ =g eed mﬁ;\@%ﬁ i |
(¢) 32 cm (d) 16 cm _ (d) Kite/ 9™ (a)fenie, Q%ir of opposite sides are
It_ldﬂAAEj;—j’C:]c:l) ircl:d E are I')Olilts[c));}l 581.In a Rhombus ABCD, measure o \'s ruent
plae an TEBDECOVELY, of angle CAB is 35°, what is the ﬁ:l"ilﬁ'd
is parallel to BC.If lengths of 5 ; g g F U S E et #
measure of angle ABC? b

AD,DB and AE are 8cm, 4cm i -~ fb] Diagonals are not equal
gnd 12 cm respecitively, what LED i ok _ABCD » BT C‘%g’?\; :?} forol ©F TUR T BN
is the length of AC ? arg 35° &, v ABC %1 Hr w )

: . . . (c) Opposite angles are not equal
AABC %, D st Ewm: ABsi (@) 70° (5)40° (50° (g0 o o
AC W faig #1 DEBC % @@ & 582.In a cyclic quadrils Qfﬁlm i e T
7fs AD,DB 3iX AE %t @a18 #87: 8 T T A W o W"i (d) DLagor.lals form two congru-
AW, 4 | o 12 97 A AC = (a) Opposite sides A pardlldl ent triangles
SR (b) Diagonals aré bisectors of fommt = W s R ¥
(a)6 cm (b) 18cm eachfcﬁ* e}"} 588 In which of the following quad-
(c)9 cm (d) 15cm (c) 99@@&1«58 angles are ri‘]aterals both pairs of opposite
In a triangle the length of the ementary Bk s paf‘alleil? ;
side opposite the angle which gd] Ad'_j acent angles are ﬁ:qfaﬁ_sm ?ﬂﬁ?ﬂ ﬁ"q ﬁm:rfr ﬁ—{qﬂﬁﬁm
measures 45° is 8 cm, what is r’ \f;x “éupplementary FI 2 G TR A E2
the length of the side opposite to 583 The diagonals are congruent in (a) Rhombus /g9=g+«
the angle which measures 907> 5 (b) Cyclic quadrilateral/=@ =@s
o B A s Fm F e vl ﬁfaa;ufaamaﬁ%"l (c) Kite /i
warg § 9. 2, fogs @ 'ﬁ":ﬂ { (a) Parallelogram /¥ = =g+ (d) Isosceles trapezium
SR B ’ﬁ{ﬁ@ e (b) Rhombus /w=gss wHfzaTg, HHe
fSmreRt w7 90 feit 'E‘? . .

Y (c) Isosceles trapezium/@wfgarg 589.1In an isosceles trapezium
(a) 82 o »}3&\}5 cm e uF HHfgar W §
(c) 843 9;@1‘*; :E((ﬂ 43 cm (d) Kite/qaT (a) Diagonals are congruent
ABCD is '."t‘e where ~ A is 90° 584.The measures of the four angles foehof wma & &
and «C is 60° If length of AB is O_f @ quadjlaterallare.irilthe bk (b) Opposite sides are parallel
6cm, what is the length of di- tio 3:4: 5: 6. What is the mea- fauitg qome et &

agonal AC?

ABCD U# 9q7 €, sel A 90° 3R
- C 60° &) afx AB #t @ 6 |4 2,
ot famel AC = Fag a1 =2ni?

(a) 6('\/5 +\/3) cm

Copyright © All Rights Reserved | https://spardha.gurw/

sure of the biggest angle?
@a@ﬁa#aﬂm"'a%mﬁm

(c) Diagonals are bisectors of
each other

I 3 L 6 T GEE =2 T fasnt vF Tut 3 THEESE B F
BT %“l (d) Diagonals bisect opposite
(a) 120° (b) 100° angles

fC]SOO [d]60° Wmﬁw*mﬁﬁ%|

|' 577
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591.

592.

593.

594.

S595.

578
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In a rectangle
TF I § |
(a) Consecutive angles are congru-
ent as well as supplementary
FHUNE 0 A I @9 & g
(b) Diagonals are perpendicular
to each other
gl wh g8 W e B €
(c) Diagonals hisect opposite angles
Tl T 0 o TEfEaRE 2 €
(d) Diagonals are not equal
famol T awEr T8 e F
Triangle ABC 1s right angled at B.
BD is the altitude. AD is 8 cm and
DC is 18 an. Find length of BD?
faiyst ABC &1 B w @wsv 2, BD
3! 9K 1 AD § €. ¥ 3R DC
18 "l #1 BD # @aré 1 87
(a)6 cm (b)9 em
(c) 12 em (d) 15 em
In a Rhombus ABCD, measure
of angle CAB is 25°, what is the
measure of angle ABC?
uF T 9g9s ABCD ¥, =1 CAB #1
7Ty 25 feift &, o1 ABC &1 919 =71 27
(a) 65° (b)S0° (c) 40° (d) 130°
The diagonal of a square equals
the side of an equilateral tri-
angle. If the area of the square
is 63 sq cm, what is the area
of the equilateral triangle?
uF a1 fawel us wwarg Bga #@t
o1 % aueR ¥ Afk 3w i F dwEa
63 T Al &, @ wEE fue
gAhel &1 Bhn?
(a) 9J§ cm?
(c) 9\/5 cm? (d)12 ».
The sum of the/parallel sides
of a trapeziumfis lé“ﬁ cm. If the
dlstanc?etm.fee}m the parallel
sz@gﬁvhat is the area

ezium?

(b)9 cm? ﬂd v\.}

sides 18
of this tr
T e aqs & HHEGL g H
12.4 B3 ¥ af% gmEia et &
i #1 gt 3.5 | €, o Tw gwerw
=S F S 82
(a)43.4 cm? (b)86.8 cm?
(c)130.2 cm? (d)21.7cm?

In A ABC, the median AD s 7

cm and CB i1s 14 cm, measure

of ~CAB i1

596.

297 -

5098.

it

4’“"

600.

A ABC ¥, wftzrgr AD 7 9441, & =it
CB 14 . #,.CAB =t 9 =1 2
(a) 30° (b)60° (c) 90° (d) 120°
A ABC is right angled at B. BD

1s the altitude. AD 1s 18 cm and
DC is 50 cm. Find length of BD?

A ABC, BT WH& 8, BD IWH!
€ §1 AD 18 |+t ¥ #ix DC 50 4.
@ %1 BD I oar &1 ga1 am?

(a) 30 ecm (b) 25 cm

(c) 35 cm (d) 15cm

In AABC, D and E are points on
side AB and AC respectively.
DE is parallel to BC. If lengths
of AD, DB and DE are 9 cm, 6
cm and 5.4 cm respectively find
length of BC?

AABCH, D @it E %W9l: 91 AB 3R
AC R feorm f5ig €1 DE, BC % MR
21 7fz AD, DBaanEaﬁaa-sé

93, 63 v 5.4 4. %lﬁjﬁcf

smf ?”‘

Edl ?NT% T F
(a) 3.6 em (b) 4.8 em
()11.2 cm  (d)9 &n ;:
In a triangle the wg&yof the
side opposite e a‘ffgle which
measures -3 @E‘gﬁree is 12 em,
what 1s the k@ﬁgth of the side
opposit “the angle which
me@l@suﬁo degree?
gt 4 ST i = Fard A g
12 47, 8, fawa F0 F A9 30
5 3w Fm 3 f A g A
T F &, s Fv #7160 falt 27

(b)124/3 cm

5
Fa s wd

(a)9 cm

(¢) (15v3)/2cm  (d)(943)/2cm

.In AABC, the angle bisector of

2A cuts BC at E. Find the length
of AC if lengths of AB, BE and

EC are 9.6 cm, 4 cm and 3 cm?
AABC ¥, A 1 1 fg9rs BC 1
fifg B W @ear 21 AC # w4 var
@, afe AB, BE 3t EC %1 @
Fa9: 9.6 A, 4 . 2w 3 4. T
(a)4.8 cm (b) 9.8 cm

[c) 7.8 cm (d) 7.2 cm

In a triangle, the length of the
side opposite the angle which
measures 45° 1s 16 cm, what

Copyright © All Rights Reserved | https://spardha.gurw/

601.

603.

1s the length of the side oppo-
site to the angle which mea-
sures 90°?

wF fags ° 39 #iv & fauda aret qen
FI ofar 16 Q. 2, faad o 71 9419
45° %1 39 &M & faudi aret oo &t
waré 7 &, foras w1 =1 W9 90° &2

(b)16+/2 cm

(d) 1643 cm

In APQR, S and T are points on
side PQ and PR respectively. ST
is parallel to QRYIf S divides PQ
in the laga gz;\nd length of

(a] 84/3 cm

(c) 8 cm

OR 1s 1% dST'J
APQR-H, 84T T 74 g1 PQ 3R
PR‘T{ ﬁig%‘lST QR & "aMAG

f%mfﬁss PQ %1 1:5 % Mua ¥

© fytnfom wedt & si QR = wiaé 15 %,

. &, 7 ST = =@ 4
(a] 2.4 em (b) 3.6 cm
(c) 2.5 em (d)5.6 cm

602.An angle is smaller than its

supplementary angle by 50°. What
is the measure of the angle?

TF FIM A SIS HI0T F Jorn 7
50° Bel &1 FO H UG F E?

(a) 115°(b) 60° (¢) 30° (d) 65°
Points P and Q lie on side AB
and AC of triangle ABC respec-
tively such that segment PQ is
parallel to side BC. If the ratio
of areas of triangle APQ: tri-
angle ABC is 16:25. Then the
ratio of AP:PB is?

fifg P 3 Q favst ABC &t [T HHYT:
AB 37 AC W T8 @E ¥ ¢ % T
PQ g1 BC % @wiar 21 A fagqs
APQ R ABC % &9%d 16:25 &
srE H ¥, @ w1 AP 3R PB

ST F HL
(@)4:5 (b)1:4
(c)5:1 (d)4: 1

604. Line segment AB is parallel to

line segment CD. AD inter-
sects BC in E. If lengths of AE,
BC and ED are 12 cm, 12 cm
and 18 cm respectively, what is

the length of EC?
ez AB, WarEE CD & @9HIT 2
AD, BC =% fig W #edl 21 afs AE,

www.spardha.guru
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608.

609.
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BC 3t ED & oar #wwr: 12 9.,
12 9+ @iv 18 ¥sfl. ¥, @ EC =
GG

(a)4.8 cm (b) 9.3 cm

(c)8.1 cm (d) 7.2 em

In a triangle the length of the
side opposite the angle which
measures 60° is 15 cm, what is
the length of the side opposite to
the angle which measures 90°?
o e o 5w wo F e et e
# o 15 4. € foms wo A
60° 21 38 F01 % faudia =t ger H1
wsE 1 ©, FTHE U] 1 7Y 90° 87

(b) (15v3)/ 2cm

(c)10y3cm  (d) 10cm
In AABC, the angle bisector of

~A cuts BC at E. Find length of
AC, if length of AB, BE and EC
are 9 cm, 3.6 cm and 2.4 cm?
AABC ¥ A w1 #1 fgarss BC &t
fig E W %=l 21 AC %1 @& &1 vl
&, 45 AB, BE 3t EC %} e
FH9T: 9 WAL, 3.6 A, 3K 2.4 A, T
(a)5.4 cm (b) 8 cm

(c)4.8 cm (d) 6 cm

A ABC is right angled at B. BD

ig the altitude. AD 1s 8 em and
DC i1s 50 cm. What 1s the length
of BD?

AABC, B W @& ¥, BD 9%

(a) 15 cm

=% 81 AD 8 ¥ ® 3w DC 50_,11-4,

T %1 BD S @@ w1 om?
(a)25 cm
(c) 16 cm (d) 15(2&(1 .
An octahedron h 52 édges
How many vert ’a{oeb it have,
T RS F 12 ’@ﬂﬁ 21 3us fras
fofis 8/

(2)8 (bf1 3 (c] 10 (d)6
The circumference of a circle
is equal to the perimeter of an

(b) 20 cm )

iy
L

equilateral A If the radius of
the circle 1s 14 cm, what is the
length of the side of the equi-
lateral A ?

T g4 Ft Ut v wEeEE Gy & ofery
% TR 71 A 3@ 99 Fi G 14 A
g, d ovag fre #1 o ¥ 82

610.

611.

612.

(a) 88 cm

(c) 88/J§ cm (d) 88,/3 cm

In APQR.S and T are points
on side PQ and PR respectively.
ST is parallel to QR. If S divides
PQ in the ratio 4:3 and length
of QR 1s 4.9 cm, find ST?
APQR #, S @R T #99: 91 PQ
st PR W fiog fiig & ST, QR &
AR 7 4% S, PQ #i 43 % I
F faufaa =t & 37 QR #i o 4.0
. 7, @ ST =1 91 FH)

(a) 5.6 cm (b) 7.2 cm

(c) 2.8 em (d) 3.6 cm

AABC is similar to ADEF.
Length of AB is 12 cm and
length of the corresponding
side DE i1s 8 ¢cm. What is the
ratio of Perimeter of AABC :Pe-
rimeter of ADEF ?
AABC,ADEF % ©aM %I
wEE 12 QAL § AR TEE T
DEaﬁa‘aﬁsﬂ.ﬁ '%‘MAABC F
fif & ADEF Mfr S
EIGRTd

(a) 9:4 [EM 9

(c) 3:2 f’ y»«[d]zs

FuﬁyF Lﬁ% sumn of interior angles
#aﬁéaagon'«"

(b) 88/3 cm

"iwémgammﬁa:aﬂuﬂmwm|

614

“la) 1620°
(c) 1800°

(b) 2520°
(d) 1440°

.In AABC, D and E are points

in side AB and AC respectively.
DE is parallel to BC. If lengths
of AD, DB and DE are 8 cm, 6
cm and 7.2 cm respectively,
find length of BC?

AABC #, D #r E %59: 91 AB
iR AC W feem fag &1 DE,BC %
TEEi #1 afz AD, DB @R DE #
ward wmEe: 8 WA, 6 A o 7.2 A
#t 241 BC =1 o 3@ F
(a)12.6 cm (b) 9.3 cm

(c)8.1 cm (d) 5.4 cm

.In a triangle the length of the

side opposite the angle which
measures 30 degree is 9,/3 cm,

Gy )
& Bl
RLJ

615.

what is the length of the side
opposite to the angle which
measures 60 degree?

wF e ° uw w1 F fauda gl e
F1 e g3 HH g foas =m w1
A 30 feait €1 39 o =t fauda awdt
91 1 o9 ¥ €, fus S w6
60 et 27

(a) 27 cm (b)9 cm

()12 /3 cm (d)(15/3)/2 cm
A ABC is similar to A PQR.
Length of AB is 36 cm and
length of t%rresponding
side PQ is/] 6?"’fam.[f area of
A ABC isﬁﬁﬂ%fsq cm. What is
the axea\g;.fé A POR?

AAB(;,A PQR % ®WH ¥ AB#!

O e/ 36 w. & SR T W

616.

617.

618.
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Qg@ 1 w16 ¥ #1 Ak A ABC

%1 &FFel 1296 = A7, 219 A POR
F1 GG A Fla-

(a) 128 sq cm (b)512 sq cm
(c)64 sq cm (d)256 sq cm

A hexagonal prism has 18 edges.
How many vertices do it have?
TF WA st % 18 RN 2 Iue
o fomferg @7

(@8 (b)12 ()20 (d)22
A DEF is similar to A GHI.
Length of DE is 9 cm and length
of the corresponding side GH is
16 cm.What is the ratio of ar-
eas of A DEF : A GHI?

A DEF, A GHI % ®99 2| DE #
oflig 9 WL & SR gEehl Wd s GH
=i ot 16 Yt 81 A DEF #it A GHI
F @AFe F S T B

(a) 3:4 (b)9:16

(c) 81:256 (d) 16:9

Line segment AB is parallel to
line segment CD.AD intersects
BC inE. Iflengths of AE, BC and
ED are 18 cm, 13.6 cm and 6
cm, what 1s the length of EC?
e AB t@rEe CD & HHMIa
2IAD, BC #1 E fig w =ed 21 4fg
AE,BC @R ED =1 o #99: 18
o, 13.6 AT 2T 6 A 7, @ EC 1

s 87
(a) 3.4 cm (b)10.2 cm
(c) 7.8 cm (d)9.3 cm
|| 579
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619.

620.

621.

622.

623.

In a triangle the length of the
side opposite the angle which
measures 60 degree 1s 6 cm,
what is the length of the side
opposite to the angle which
measures 90 degree?

o et # 99 = % faafm e o wit
o 6 W 2, foma won # Am 60 felt
2139 01 3 faufd Sl =1 ) e
&, fom ®m #1 = 90 it &
(a)3/3cm (b)6 cm

[C:I4.J§ cm [d][9J§],’2 cIn
ADEF is similar to AGHI.
Length of DE is 16 cm and
length of the corresponding side
GH is 25 cm. What is the ratio
of areas f ADEF: AGHI?
ADEF , AGHI # %9H %I DE #i
o 16 WA, ¥ IR wEE @ ge GH
# o 25 9. 81 ADEF @it
AGHI F &% F1 FIE 7 Hi)
(a)4:5 (b) 16:25

(c) 256:625 (d)25:16

A ABC 1s similar to A PQR.

Length of AB is 18 cm and

length of the corresponding
side PQ is 12 cm, if area of

AABC 1s 324 sq cm, what is
the area of A PQR?

AABC, APOR. & @91 1 AB %1
o 18 Bt 2, a i suat W qen
PQ # @ 12 ¥ #1 3k A ABC
w1 G%a 324 9 WA A A POR
61 #EA%e FId

(@) 72 sq. em (b) 144 =q cm“{{

(c) 36 sq cm  (d) 487. 54§q n}
The diameter of a fﬁcle is
equal to the side of the square.

What is the areg/of the square
if the area o & ¢ircle is 49
neq cm 2, \ ) %

uF g9 | FDF G F AR 2
- F1 d 1 8, AR g9 S
49 = w87

(&) 196 sq cm (b) 154 sq cm

(c) 124 sq cm (d)98 sq cm
Points P and Q lies on side AB
and AC of triangle ABC respec-
tively such that segment PQ is
parallel to side BC. If the ratio
of areas of triangle APQ:
triangle ABC 1s 25:36, then the
ratio of AP:PB i1s

580 |
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624.

625.

626.

'8

faig P a1 Q fasa %A AB s AC  629.Points P and Q lie on side AB

W 39 TE 9 ¢ fF WmEe PQ 1 BC
+ T ¢ At s APQ aii s
ABC % #5%a 25:36 % a/ua § €,
gl AP i PB &1 3H9 36 #
(a) 5:6 (b) 1:5

(c) 6:5 (d) 5:1

What is the altitude of an equi-
lateral triangle whose side is
15cm?

=15 WA E?

(a) 15 3 em (b) 10./3 em

©) (94/3)/2em (d) (15 /3 )/2cm
In A DEF, G and H are points on

side DE and DF respectively. GH
1s parallel to EF. If G divides DE
in the ratio 1:3 and HF 1s 7.2

cm, find length of DF?
ADEF, ¥ G 3t H %9y: g1 DE
#it DF W feod fig @1 GHEF,

@ DF & wad 5 by at“
(a) 2.4 cm (b) 4f,81 cm
(c) 3.6 cm [d)gé‘xm
In a tnanglﬁlme‘}length of the
side opposite %le right angle is
9.3 cr{ uﬁtﬁt is the length of

thq‘:gr&,é;; oppomtc to the angle
xgluplymeasures 30 degree?

e e i R o e s ) o

’“'fi?éi/g A ¥, 39 A0 % P e =

\.

627.

628.

F warg w0 & fowm W 30 feift 27

(a)9 cm (b) 33
[c)6 cm 6 (d) [9\/3_]/2 cm
A triangular prism has 9 edges.

How many vertices do it have?

% et fism % 9 fe #1 Sus

fora ferifeig 27
(@) 8 (b)6 () 12 (d} 10
The diagonal of a square equals

the side of an equilateral tri-
angle. If the area of the square
is 12 sq cm, what is the area of

the equilateral triangle?

wF i & faEel uw e s #wt
T % e 21 AR 59 T F AEE 12
Tt qAt 2, d T Fes A # £7
(a) 12 /3 cm® (b) 6 /3 cm?

(c) 12 /2 cm?® (d) 24 cm?

@f"’

g 21 7% G,DE & 1.3;?@;@,
i fasifom #e @ @ik HF 7.2/930L8,

630.

?,\—w\

o

- B31.

632.

633.
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and AC of triangle ABC respec-

tively such that segment PQ is
parallel to side BC. If the ratio

of AP and PBis 2:3, and area of
A APQ is 8 sq cm, what 1s the
area of trapezium PQCB?

fafg P @R Q fayst ABC #1 il #5991
AB 3t AC W 30 W& ¥ fio € fi
@rEre PQ g5 BC % oM 21 41
AP 3t BP %1 W 2:3 ¥, i
A APQ #1 &Fwd § = |l &,
quer PQCB %1 #9tel S -
(a) 50 cm? "’&;l8 cm?

(c) 14 cm®} 4@]"&2 cm?

What 1S’§’”‘th@ measure of an

PXQ?I‘.LOT“ angle of a regular
wilf
dodec%on'-’

T SRS & WEd 0 H AT
”g/
(a) 45° (b) 40° (c) 36° (d) 30°

Find measure of central angle of
the arc whose length is 22 cm
and radius of the circle 1s 28 cm?
T8 gaEve & &ard Hv 1 A9 e
fomert o 22 9. € &R g9 F
28 4 &7

(a) 60° (b)45° (c) 75° (d)90°
In APQR, S and T are points on
side PQ and PR respectively. ST is
parallel to QR. If 5 divides PQ in
the ratio 4:1 and length of OR 1s
15 cm, what is the length of ST?
APQR ¥, S @R T %% PQ 3it PR
el W feo faig €1 ST, QR & FHMIR
212 S, PQ # S 4:1 F wgua H
faiferm Fa € 3R QR =1 o 15 9.
. €, @ ST # ot 1 mit?

() 3 cm (b) S cm

(c) 12 cm (d) 10 cm

AABC 1is similar to ADEF .
Length of AB is 18 cm and

length of the corresponding
side DE is 10 ecm. What 1s the

ratio of perimeter of AABC :
Perimeter of ADEF ?
AABC ,ADEF % ¥°H % AB i
ot 18 WAL & SN 39Hl Hia gs1 DE
F @ 10 I ¥ AABC# afify
3R ADEF %! ufffl #1 70 71 F31
(a) 5:9 (b)81:25
(c)9:5 (d)25:81
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635.

636.

637.
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ABC 1is a right angled triangle.
» BAC=90° and ~ ACB= 60°. What
is the ratio of the circum radius

of the triangle to the side AB?
ABC #w&m faqst 81~ BAC=90°
e 2 ACB = 60° @ fasgst 1 afifan
F1 951 AB | FUE 27

(a) 1:2 (b) I:JE

(c)2:4f3 (d) 2:3

In the given figure, ABCD is
a square whose side is 4 cm.
P is a point on the side AD.
What is the minimum value
(in cm) of BP + CP?

& 7€ smefa 9, ABCD ws i & gt
gs1 4 41, 81 451 AD W wh P fg 2
BP + CP &1 =0 W (8) & =1 82

D C

P

A B
(a) 445 (b) 4yT
(c) 6v3 () 446

Triangle ABC 1s similar to tri-
angle PQR and AB : PQ= 2 : 3.
AD 1s median to the side BC in
triangle ABC and PS is the me-
dian to side QR in triangle PQR.
What is the value of (BD/QS8)*?
iyt ABC, fasst PQR # Ty € qer

AB:PQ=2:3 % AD, ﬁquBcﬁh_k

amBCm@?mﬁm%‘asn
195 PQR # 91 QR W TF ¥

21 (BD/QS)? &1 HH =1 \)
(a) 3/5 (b) 4:’9&"
(c)2/3 (@) 447C

igute, B and C
res’ of the two

In the given
are the ce

circles. ADE %€ the common
tangen o-the’ two circles. If
the ratio of the radius of both

the circles 1s 3:5 and AC= 40,
then what 1s the value of DE?
& 7 s1fa 7, B C 3 gl $ 32 2
ADE I Fil it swafs ol @ gl
afe A1 gl w1 BeEE #1 SHI9E 3: S
a0 AC =40 2, & DE % 7H +1 27

@) 315 (b) 5/15
() 6415 (d) 4415

638.In the given figure, AB = 30 cm

and CD = 24 cm. What 1s the
value (in cm) of MN?

3t ¢ e § AB = 30 4l 9 CD =
24 4. # MN & 7F (AH0A) 01 27

A
@ 18 ()9 ()12 (d) 15

639.AB and AC are the two tangents

to a circle whose radius is 6

cm. If 2 BAC = 60°, then what

is the wvalue (in cm)

641.

2

642:1

ng'?

..rl(ABz"'ACa)? x.r ?”‘
'\W

AB 7ol AC T g W & @w%‘
fomat fem 6 A & R 2BAC

W A) F %}
(@) 6r ¢ }w"[bl 46
(c) 9{‘»’ @ 83

64%‘\{'\1‘&,&16 given figure, ABC is a
fi{;ﬁght angled triangle.

<~ ABC
=90° and , ACB = 60°. If the
radius of the smaller circle is

2 cm, then what is the radius
(in em) of the larger circle?

3 T sgfa A, ABC UF WHE s
%1 ~ABC=90° 7 » ACB=60° #I
R g Pt A
g # B ([ w22

A

/

8! B
@4 (b6 ()45 (d7.5

643.
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In the given figure, O is centre

of the circle. Circle has 3 tan-

gents. If » QPR=45°, then what is
the value (in degrees) of ~ QOR?
& T a0, O gd T % ¥ g W
3 o9t #) afs 2 QPR=45° %,
~ QOR = 5 (feift #) =0 22

Qg::&} (b) 72 () 78.5 (d) 65
the given figure, two identi-
circles of radius 4 cm touch
each other. A and B are the cen-
tres of the two circles. f RQ 1s a
tangent to the circle, then what

is the length (in cm) of RQ?

< ¢ st 9, < wEE g o Ge
4 B, % uF g oyl R B
il % #% A 991 B 21 7% RQ 9 W
wF EftEn €, @ RQ #i o (B
H) T &7

R
S
ey
\ "/
(@) 343 (b) 2./6
© 42 ()62

The radius of two circles 1s 3
cm and 4 cm. The distance be-
tween the centres of the circles
15 10 cm. What 1s the ratio of
the length of direct common
tangent to the length of the
transverse common tangent?

3 el A Bend 3 A qen 4 A, 3
b @ S @ T F# g 10 8 B
IS ST W & TR w5 ST
STET Y F e § SO 0

(alﬁ:@ (b]\/ﬁ:\/ﬁ
(c) /66:4/51  (d) 28:417
|' 581
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ABC is a triangle. AB =
AC = /41 cm and BC = 8 cm.
AD is perpendicular to BC.
What is the area (in cm?) of tri-
angle ABD?

ABC w 39« 21 AB = 5 €41, AC
= fa] 9. 71 BC = 8 9. 21
AD,BC W t& == ¥l figs ABD &1
g (JAVH) w7

(@) 12 (b) 6 (c) 10 (d) 20
In the given figure, PQR is a
triangle and quadrilateral
ABCD is mscribed in 1t. QD = 2
cm, QC=5cm,CR=3 cm,BR~=
4 cm, PB=6cm, PA=5cm and
AD = 3 cm. What is the area (in

cm?) of the quadrilateral ABCD?
4 ¢ arwfa W, PQR wF fags € e
wqs ABCD =8¥ aifa feman 1 2
QD =2 44, QC=5 €#, CR=3
1., BR=4 9., PB = 6 4.1, PA
=5 9. qur AD =3 ¥ 2 =gyw
ABCD 1 #5%a (841 #) =11 27

S cm,

(a) (28V21)/4 (b) (15v21)/4

() (1721)/5 (@) (23V21)/5

In the given figure, OX, OY and
OZ are perpendicular bisectors
of the three sides of the trian
If ~QPR =65° and ~POR =
then what is the valp e {11‘1
degrees) of ~ QOR + 2 R'-’*

T ATFET H, OX ,;g?_?awoz
gt ol il \f\i{?fﬂﬁqﬁrﬁ gl
afe - QPR=65° §¢1 ~ PQR =60°
1,7~ QOR+ SPORF 7 (e
) @ 32

Q Z R
(a)250 (b) 180
(c)210 (d)125

647.

648.

649.

In a triangle PQR, ~ PQR = 90°,
PQ = 10 cm and PR = 26 cm,

then what is the value (iIn cm)
of inradius of incircle?

99 PORH, ~ POR=90°, PO = 10
. den PR = 26 AL ¥, sfaea #t
S 1 9 (R, ®) w22
@9 (b)4 (c) 8 (d) 6
In the given figure,

QR 14
xx_ 9 and PY = 18 cm, then

what is the value (in cm) of PQ?

if

% o A, TR =g

PY = 18 H.Hi. z‘l,a‘rPQ w1 HH (E.
@ §) = 27

P

tal@s%
O1e) 4473

of the circle is 9 cm. /RSP =
2SRQ =60°and ~PQR = ~ QPS
= 120° What 1s the perimeter
(in cm) of the quadrilateral?
T S, T 99 FgHs PORS =
e 1 T R @ ¥ g9 e 9
¥AL 81 ~RSP = ,SRQ = 60° @
2PQR = 2 QPS =120° & Ty« &l
qftEr (A F)orn 87

(b) 2443
(d)32

Q«I,ﬁ the given figure, from the

f@r
y_a ?“‘
\»m&
f»«w;
Q R\ o
() 28 (b) 18 (c)/ gﬁ*%
In a triangle P \P‘X and

RZ be altitu }tersectmg at
0. If PO =46-cm, PX = 8 cm and
QO = 4fcmhv‘then what is the

Val}aﬁ"@p t‘:m] of QY?
fﬂﬁ‘ﬂbRﬂ PX, QY 991 RZ, O W
aﬁﬁtmﬁﬁ@ﬁﬁm%mﬁpo—

"Jﬁ‘ﬁlﬂ PX =8 UH. 921 QO =4 .

—

,. 3
o mf

650.

651.

1. 8, o QY #1 HF (W, #) T 87
(@) 6.3 (b)5.8 ()6 (47

A line cuts two concentric
circles. The lengths of chords
formed by that line on the two
circles are 4 cm and 16 cm.
What is the difference (in cm?)

in squares of radii of two circles?
Tw @ 3 SEf=d gl F:i Fwed 2
39 W g gal 9 e T Sast w
TS 4 WAL w16 WAL TS g
wt Beet & al @ i (|

) 27

(a) 240 (b) 120

(c) 60 (d) 90

In the given figure, a circle
touiches the sides of the

quadrilateral PQRS. The radius

653.
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point P two tangents PA and PB
are drawn to a circle with
centre O and radius 5 cm. From
the point O, OC and OD are
drawn parallel to PA and PB
respectively. If the length of the
chord AB is 5 cm. then what is

the value (in degrees) of » COD?
@ g sl W, g P ¥ ok 6 fawen
#5 Ot au i S T, WPA 7o
PB < &1 W@ @il T 71 fag 0% OC
T2 OD 1 F#¥: PA T PB % S§HFIR
e T 21 A S AB # @ 5,
W2, d , COD= wA (fai) Ham 2

A

P 2

B
(a) 90 (b) 120
(c) 150 (d) 135
In the given figure, AB is a
diameter of the circle with
centre O and XY is the tangent
at a point C. If ~ACX = 35°,
then what is the value (in
degrees) of .~ CAB?

& arEfa @, AB UF 9 fvw
F=% 0%, #1 =M € a1 Xy fag C
W U w9yl W gl afs 2 ACX =35°
2, @ ~CAB %1 HW (feilt §) w182

C

D
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A
\ x
L T
B '
(@) 45 (b)35 (¢ 55 (d) 65
654.In the given figure, PQ 1s a
diameter of the semicircle
PABQ and O 1s its center. - AOB
= 64°. BP cuts AQ at X. What is
the value (in degrees) of ~ AXP?
< 7 _amHfa |, PQ g™ PABQ W
=W ¢ T91 O 3HH %5 81 L ACB =
64° 7| BP, AQ %I X W Hed R
2 AXP =1 "M (feift ®)am 272
A B

P o Q
(a) 36 (b)32 (c) 58 |[d) 54
If the given figure, E and F are
the centers of two identical
circles. What 1s the ratio of
area of triangle AOB to the

area of triangle DOC?

& T AFEfd § E a1 F Sl 6eY gl

% @ ¢ TI99 AOB % &mwe o

a4t DOC® &a%a | &1 AU 27
A B

655.

(a)1:3
(c)1:8

B 1:9 o e
(d)1:4 AN
In the given figure, = PS = SR
and ~QPS =40°, x’gﬁf‘what is the
value of . QP u“i:};&égrees]?

656.

& 3§, P@'= PS = SR a1
£ QPS =“40%a@y’a QPR #1 WM
(faft ®) =0 &2
P
Q 8 R
(@) 45 (b} 60 () 75 (d) 50

657.In triangle POR, C i1s the cen-
troid. PQ = 30cm, QR = 36 cm

and PR = 50 cm. If D is the
midpoint of QR, then what is
the length {in cm) of CD ?
199 POR ®, C%=% €1 PQ =30 %.
., QR = 36 9.4 e PR =50 9.4,
#1 7 D, QR =1 geAfaw €, di CD #1
o (. F) PR

(a) (14/86)/3 () (24/86 )/3

(c) (54/86)/3 (d) (5/86 )/2

In the given figure, AQ = 4./2 cm,
QC =642 cm and AB =20 cm. If
PQ 1z parallel to BC, then what is
the value (in cm) of PB ?

%t 7 empfa H, AQ = 4.2 wA, QC

= 6,2 At @1 AB = 20 |t #
7fz PQ, BC # T €, @ PB =1 7

658.

661.

Two circles touch each other at
pont X. Two common tangents of
the circles meet at pomnt P and none
of the tangents passes through X.
These tangents touch the larger
circle at points B and C. If the ra-
dius of the larger arcles 15cm and
CP = 20 cm, then what 1s the ra-
dius (in cm) of the smaller circle?
= ge fig X o uF gl Fl ol
21 79 #1 9 e w fEnd fag Pw
frrerdt @ aen ®1 off woel T X @
T ¢ 9E TRl @ w2 ga # fag
B q9l C 9t &q9i el 81 4f% 98 g *
e 15 R #n 6P = 20 A, £ 4
B 9 W AR, §) w8
(2] 3.5 (b)3.75

R
(c)%4.25./ (d)4.45

GGQ?R?’Q" ircles touch each other at
rypoint X.A common tangent

(F. #) = &2
0
A A
" ?i} ?”‘t
s
= Q oy’
L T
~\ 2/
B vl /
(@) 8 (b)12/fe)6 (d) 15
659. In the givenifigure? if AD = 12 cm,
AE = 8 o EC = 14cm, then
what.is the/value (in cm) of BD?

& 8 st 5, 7% AD = 12 4., AE
,,._\9{8 B3, 7a1 EC = 14 430, %, 4t BD
fi{jﬁl (AL ®) T 2

(a) 50/3 (b) 15

(c)8/3 (d) 44/3
660.Two circles are having radii 9

cm and 12cm. the distance be-

tween their centres is 15 cm.

What 1s the length (in cm) of

their common chord ?

F e it B 9 gt aur 12 9. #)

<Hi % e % W g0 15 9HL ¥ ST

T S e (A ) w22

(a) 6.8 (b) 13.6

(c) 7.2 (d) 14.4

663.
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uch them at two distinct
points Y and Z. If another tan-
gent passing through X cut YZ
at A and XA = 16 cm, then what
1s the value (in cm) of YZ ?
3 ga TH-g H fag X 7 opf =
? TH WwA e e 3% 3 we
forgal Y aon Z w0 ot st €1 A X
| TS ATl UF 3 wsfiEn YZ R A
T FEA £ e XA = 16 AL ¥, @
YZ % 7F (4. ®) F= &7
() 18 (b)24 () 16 (d) 32
There are 8 equidistant points
AB,CD,EF,G and H (in same
order) on a circle. What is the
value of #FDH (in degrees) ?
u% gd W 8 wuriat fag A,B,C,
D.E,F,G, aen H (55t #9 ) 21
2 FDH =1 #m (feuit #) =11 27
(a) 22.5 (b)45
(c) 30 (d)42.5

. In the gven figure, O is the centre of

the cirdleand .~ QOR =50°, then what
is the value of #RPQ (n degrees)?
4 T aFH §, O WF go F F% ¢
M ,QOR =50° %, @ ,RPQ

wm (feft #) 71 &2
R

(a) 15 (b)25 (c)20 (d)30

|' 583
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Three circle C,, C, and C, with

radii T, . a.ndr [whercr <r <r3:|

1 1 2
are placed as shown in the given

figure. What is the value of r, ?

" g C,, C, 701 C, Tt Bl ¢,
r, Al rsé', (ﬁﬁr1<r2<r3)'=lﬁ?}?§
et o <9 T B ¢, F A 27

(a) Af(r1s) (b) (r,*r,) /2
(© errzl/ (r,+1) (d) .\j[rl+r3]

In the given figure, in triangle
STU, ST =8 cm, TU =9 cm and
SU =12 cm. QU = 24 cm, SR =
32 cm and PT = 27 cm. What is
the ratio of the area of triangle
PQU and area of triangle PTR?

4 7 sipfa §, frgs STUH, ST=8 €

., TU = 9A. @en SU = 12 |7 &

QU = 24 |1t SR = 32 9l qe PT

=27 9. ¥ frgst PQU & &a aen

st PTR & dmwel § o1 319 87
|J

R

f;} 1.7, (b)1:4
(c)4:9 (d)5: 2 . -
In triangle XYZ, G 1s the qg“f“l—“

troid, If XY = 11 cm, YZ 3, 14.cm/

andXZ 7 cm, then wh.g%‘ ﬁ:le
value (in cm) of GMY’ \

e XYZH, G %NEXY 11

{7, YZ = 14 A3aXZ = 7 3.

€ @ GM @ ;\(}@‘L i) @ 82
s

¥

M
(b] 4

In the given figure, PQRS is a
square inscribed in a circle of
radins 4 em. PQ is produced till
point Y. From Y a tangent 1s

@E" @2 (@3

669.

drawn to the circle at point R.
What 1s the length (in cm) of SY?
& enpfa &, PORS, 4 €. =
ot T g9 9 sifed uE a1 21 PQ #
fog Y 9% sgm T I g9 WY ¥ fag
R T TF wyel T i e 41 SY #
e (9. F)

o ¥

O
b
p 0 N
(a) 4410 (b) 2410
(c) 6410 (@) 345

In the given, figure, CD and AB
are diameters of circle and AB
and CD are perpendicular to
each other, LQ and SR are per-

pendlcu.lars to AB and CD re—}fé

spectively. Radius of cir clen

S cm, PB: PA = 2:3. What}t_bé
]ength (in cm) of SM?

T TE i A, CDHSH;ABEE

% a1 AB a9 CD ﬁ?m
# LQ @ SR wwer: KBM: CD
m%qa#r@ﬁawﬁ%mm
= 2:3 a1 @N: g) 2:3 % SM #

?rq'lé ('H %%J
\A;j'

7 x/‘ﬁq\
£\’
con Rf Nl M \ s
N\ A 0 yB
p L

(a) [(5v3)-3] (B) [(4+/3)-2]

(¢) [(2v5)-1] () [(2/6)-1]
670.In the given figure, PORS 1s a

square of side 20 cm and SR is
extended to point T. If the
length of QT is 25 cm, then
what is the distance (in cm) be-
tween the centers O, and O, of
the two circles?

@ W swgfa §, PQRS 20 ¥, §&1
e Tk o € 9o SR # g T o
T T &1 A QT F1 g 25 wAL
AR o ® #= O,d O, F
7 F G (R H) F Eef?

671.

672.

673.

Copyright © All Rights Reserved | https://spardha.gurw/

02
s R T
(a) 5410 (b) 4410
(c) 8J15 (d)1642

In A ABC, Perimeter of A ABD

= Perimeter of A BCD and AB

=60 ¢cm, BC = 80 cm and AC =

100 cm. Then find BD.

fqs ABC #, i‘s" 5 ABD %1 wftam

ﬁqa BCD # & S § AR
=60,%,.BC' = 80 Tt 71 AC

= 100 ﬁ@«%{) 4

\\\\\

(b) 205 cm
(c) 24/5 cm (d)None of these

In the given figure, triangle
PQR is a right angled triangle
at Q. If PQ = 35 cm and QS =28
cm, then what is the value (in
cm) of SR?

& 7 spf ¥ Fys POR, QW Uk Gkt
frym ¥ 3fk PQ = 35 &l o QS=28 1
. €9 SR# 79 ([, #) =7 27

(] 20 cm

P
s
Q R
(a) 35.33 (b)37.33
(c) 41.33 (d)43.33

In the given figure, P is the centre
of the circle. If QS = PR, then what
is the ratio of /RSP tothe TPR?
@ W amEfa §, Pag w1 2 2 Az
QS=PR& @ /RSP # /TPR ¥
1 ST §7
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674.

675.

676.

677.
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B DN 7 ¢
(a)1:4 (b) 2:5
(c)1:3 d)2:7

The distance between the cen-
ters of two circles 1s 61 cm and
their radius are 35 cm and 24
cm. What is the length (in cm)
of the direct common tangent
to the circles?

<l B wE B we H gl 6 AL
qa St B 35 A @i 24 AL
& i w1 Iwfre e T # aEs
(| #) = e

(a) 60 (b) 54 () 48 (d) 72
In the given figure, PORS 1s a
quadrilateral. If QR = 18 cm and
PS = 9 cm, then what 1s the area
(in em?) of quadrilateral PQRS?
4 ¢ sipfa %, PQRS , us =gy @ 4R
QR =184 g PS=9 . ¥, d 7gds
PQRS &1 #3%el (Y. H) F gm?

678.

679.

PQR T% g9aTg s & et o 10
Tl 1 B9 PQR #Ft #q: e &
(. #) F T 22

(a)5/ 3 (b) 103
(©10/43 @53

What is the area (in cm?) of the
circumcircle of a triangle
whose sides are 6 cm, 8 cm and
10 cm respectively?

T fags f9asl 9= F990: 6 §H1., 8
A, den 10 WL 2, F RET w1 e
(2 #) T 7

(a)275/7 (b) 550/7
(c)2200/7  (d) 1100/7

In the given figure MNOP is a

parallelogram. PM is extended
to Z. OZ intersects MN and PN

at Y and X respectively. If OX=
27 cm and XY=18 cm, then

what is the length (in cm) of YZ? j; 3
& ¢ arfa |, MNOPQ&?W?@FM

%1 PM =1 Z 7% =@ 7 £10 'MN«‘
Ao PN =1 #m9n: Y 3i X
w4 81 Ak OX=27 ¥ dfﬁ'!‘
I 2, @ YZF

x_y—ls

(64/3) (177+3) N o
g B W (@)21.4 (b) 22.5
(1354/3) [98J“ 3 £\~ (0235 (d) 24.5
(€) d) . 680.ABCD is a trapezium in which

is 180 cm?. S is a péint on side
QR, such that P ;gs “the angle
bisector of P% “1f PQ: PR=
2:3, then'-»whaj:_p:‘,;s, the area (in
cm?) triafigle PSR?

PQR u# 19+ &, faert &r%at 180 4.
%1 S, 9 QR W U fag 39 ¥
g fF PS, ZQPRW &M fgarsis 21
aff PQ:PR = 2:3 %, d@ fyst PSR
&S e

(&) 90 (b) 108 (c) 144 (d) 72
PQR is an equilateral triangle
whose side is 10 cm. What is

the value (in cm) of the
inradius of triangle PQR?

2
POR is a triangle, w t%e a“f!ea
R

681.

AB is parallel to CD and AB =
4(CD). The diagonals of the tra-

pezium intersects at O. what is
the ratio of area of triangle DCO

to the area of the triangle ABO?
ABCD tus weerd & faad AB, CD
% |Alat & 91 AB = 4(CD) #1 o=
% feroi O W wfe=sifeq =@ &1 DCO
# &A% w1 g9 ABO & &% 9o

I FUH B2

(a) 1:4 (b) 1:2

(c) 1: 8 (d) 1:16

In the given figure, ABC 1s an
equilateral triangle. Two
circles of radius 4 cm and 12
cm are inscribed in the

Copyright © All Rights Reserved | https://spardha.gurw/

682. Inr}t‘he

g,w\

triangle. What 1s the side (in
cm) of an equilateral triangle?
<t w wrrfs o, ABC w% umEg, fagqs
#1490, qar 12 9. e a9 @ g9
s & oifa €1 geeTg e #1 gen
(&t #) w82

(2)32/ ey f@% N
(c) 64/ J?a ® [dl 643

ven figure, SX is
ent. SX = OX = OR. If QX =
“ 3cmrand PQ = 9 cm. then what

\\j the value (in cm) of OS ?

% ¢ srpfa ¥, SX wF ol Y #1 SX
=0X = OR & 7t QX = 3 ¥t 79 PQ
=94 € & OS #1 AF (I §) = &7

(a) 6

(b) 5
683.PAB and PCD are two secants

()4 (d)3

to a circle. If PA
=10cm,AB=12cm and PC =
11 cm, then what is the value
(in cm) of PD?

PAB 3R PCD & 94 7 g 837 1@
€ afs PA= 10 @ft, AB = 12 &,
dar PC = 11 9. &1, @ PD &1 99
(&t. ®) = 22
() 18 (b)9

(c) 20 (d) 12

684. Triangle PQR is inscribed in a

circle such that P, Q and R lie on
the circumference. If PQ is the

diameter of the circleand #POR
= 40°, then what is the value (in
degrees) of 2QPR?

wF g9 § 5599 PQR 76 W sifea €
fir P, Q @ R w ufifyr w feug &1 afz
PQ 31 %1 =414 € @1 ZPOR =40°
2, @ £OPR =+ W (faift #) =01 22
(@) 40 (b)45 (c) 50 (d) 55

|' 585
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686

687.

688.

689.

586
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In the given figure, ~QRU =
72°, 2,TRS=15%and /PSR =95°,
then what is the value (in
degrees) of ~PQR?

§ M apfa , . QRU=72° ~ TRS
=15° 3k , PSR =95° @ ,PQR
1 A (foft &) |0 €2

P, Q
S
T R v
(2) 85 ()95 (¢ 75 (d) 90

.What can be the maximum

number of common tangent
which can be drawn to two non-
intersecting circles?

q -yfeadt o A afawan feadt
qerel Yen EfiE W w82

(a) 2 (b) 4 (c) 3 (d) 6
Triangle PQR is inscribed in the
circle whose radius is 14 cm. If
PQ is the diameter of the circle
and PR = 10 cm, then what is
the area of the triangle ?

s PQR 39 5= g1 14 99 2,
¥ sifhd 21 9f% PQ 99 =@ & @1 PR
=10 ¥+i. &, at 199 POR F1 &9%a

w1 87

690.

691.

o O W fier & a2 QPR = 70°
2, a1 » QOR = wH (feifi &) = 37
(a) 45 (b) 125 (c) 115 (d) 110
PQR is a triangle such that PQ
= PR. RS and QT are the me-
dian to the sides PQ and PR
respectively. If the medians
RS and QT intersect at right
angle, then what is the value
of (PQ/ QR)??

PQR 39 YK U 4w ¢ fF PQ =
PR 21 RS @1 QT wH31: g PQ

1 PR W HIA&U 7| af A

RS 781 QT 9 W Wfa=g F3 &,
Al (PQ/QR)? &1 W F1 22

(a)3/2 (b)5/2

(c)2

(d) None of these/ 398 & & =&l
PQR is a triangle. S and T are

the midpoints of the sides PQ -

and PR respectively. which¢
the following is TRUE? ¢

I. Triangle PST is similar, fo
triangle PQR. 4, ,\w?

II. ST=1\2 [QR}f‘

IIL. ST is parallel thR

PQR & ﬁsﬁfél S @91 T HHI:

LGIE] Pg‘gm»PRa? 7 fag
i ) BE W R

L {su?é«PST 5951 PQR & &M &I

. B8T=1/2(QR)

£, S

C'ChL ST, QR IR #)

(a) 196 (b) 30 1o
@407 @3 AN

PQR is a right angled}mhg}c”/
in which PQ ifsthe

hypotenuse of the tq‘g]gte is 20
e.area (in

cm, then what i g;i}
cm?) of the trﬁgl(é

POR ?
PQRTF W%mﬁ PQ =PR
Rl A s o
POR &1 = &et (§Fi.2) o =1 82
(a) 100 /2 (b) 100
(c) 50,2 (d) 50
In triangle PQR, internal bisec-
torof » Qand ~R meets at O .If

#QPR = 70°, then what is the
value (in degrees) of ~ QOR?

395 PORH, 2Q @1 2 R &I 3T

692.

(a) Only I and Il /haer [ e 11
(b) Only Il and III/ F&er II wem I
(c) Only I and III/@&aa I @ 110
(d) A1 T,1T and 11T/ @it 1, TT A= 11T
ABC is a triangle in which
~ABC =90°. BD is perpendicu-
lar to AC. which of the follow-
ing is TRUE?

I. Triangle BAD is similar to
triangle CBD.

Triangle BAD is similar to
triangle CAB.

Triangle CBD, is similar to
triangle CAB.

ABC U f99 £ fo|w 2 ABC = 90°
21 BD,AC W o 3| fefofaa 5 &
I W WA 7

1I.

IIL.

693.

1. 9 BAD, 1% CBD % #9H 2|
11. f% BAD, fi49 CAB &% &M 2|
11L 9% CBD, fays CAB & &M 21
(a) Only I/ &ad 1

(b) Only 11 and 111/ e I e 111
(c) Only I and III/ waer 1a«n I
(d) AILT, IT and IIT/ I,11 q&r IIT |4

Two parallel chords are on one
side of the circle. The length of
the two chords is 24 cm and 32
cm. If the distance between of the
two chords is 8 , then what is
area (in cm?) gthe circle?

ﬁmaﬁﬁ@\mqﬁaﬁﬁeaﬁ
@m%{"ﬁ*ﬁﬁ—q’iﬁﬂﬁw%}
RO Hlﬁ%luﬁmﬂwﬁmm

o= SHﬁaﬂ{f‘r?‘ o o

B ?“‘

695.

Copyright © All Rights Reserved | https://spardha.gurw/

ﬁam (RWe F) =T B2
(a} 724.14  (b)832.86
(c)924.12  (d)988.32

" 694, Two circles of radius 4 cm and 6 cm

touch each other intemally. what
is the length (in cm) of the longest
chord of the outer circle, which is
also a tangent to inner circle?

4 QH! 91 6 |H A T g Uh §E
T o B T g A
Tt e 5 s 3 T T 8
¥, & o (W) w22

(a) 122 b)8 2

(c) 6.2 (4.2

In the given figure, PT is a com-
mon tangent to three circles at
points A, B and C respectively
The radius of the small, medium
and large circles is 4 cm, 6 cm
and 9 cm. O ,0, and O, are the
centre of the three circles what
is the value (in cm) of PC?

% T s §, PT 4 T W A
fag3 F99: A, B 72 C W 39S
ATEW! T B W, WA T WA W
o6 ) P 4 R, 645, T 9 .
# 81 0, O, W O, Al gl * F=
# PC I UM f‘@nﬁ ") T 22
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(a)18.f5 (b)9./6 % M e H, 2 PSR = 105° @ 1. %, @ svatrs fadw srqeael
)24 J¢ @) 15.& PQ 99 % =W & QPR # a9 H @R (AL ) 7 87

feuit ) @0 82

696. PQRS is a cyclic quadrilateral. [ : (a) 2469 (b) 423
PR and QS intersect at T. Q

If , SPR = 40° and , PQS = 80°, R, (c) 4./26 (@ 336

then what is the value (in de- 699 RS i ; hich

grees) of 2 PSR? PQ is a rectangle in whic
P side of PQ = 24 cm and QR= 16

PQRS T W& 794 §1 9o PR cm. Tis point on RS. what is the

(@) 75 (b) 15 (c) 30 (d} 45 . . 5
e QST W s aw ¥ A 698. There are two identical circles area (in cm) of the triangle PTQS
~SPR= 40° 721/ PQS = 80° %,

: of radius 10cm each. if the PQRS U& #H/q & forss! 9o PQ =
2PSR 1 "M (feifl #) o1 87 length of the direct common - T S
. : 24 WH. 79 QR=16 (WH.H) F8?
(a) 60 (b)40 (c) 80 (d) 100 tangent is 26 cm, then what is
697. In the given figure, » PSR=105° the length (in cm) of the trans- (a) 192 [b] 1 2553] 148
and PQ is the diameter of the verse common tangent? (d Can kff;termmed
circle. V}'hat is t'k)le value (in de- 10 QA o T S ' 'tj?[%l 7z
grees) of 2 QPR: IS e T H e 26 §. %@i;”‘[?ﬂw

\)Q”’

1. [ 34. (g 67. (b) 100. (c) 133.(b) 166{1c) /| 199.(c) 232.(d) 265. (b) 298. (q)
2. (b 35. (a 68. (b) 101.(b) 134.(b) ['1\62% 200.(b) 233.(b) 266. (c] 299. (a)
3. (o 36. (b) 69. (b) 102.(c) 135. (d)s \ﬁiﬁ-s.{d} 201.(b) 234.(a) 267.(d) 300.(H
4. (o) 37. (d) 70. (b) 103.(b) 136. (df ./ 169.(d) 202.(d) 235.(d) 268.(d) 301.(d)
5. (a) 38. (¢ 71. (a) 104.(a) 13?4:1})4 170.(c) 203.() 236.(c) 269. (g 302.(d)
6. (b 39. (o 72. (d) 105.(a) 171.(b) 204.(d) 237.(c) 270. (&) 303.(a)
7. (a) 40. (o 73. (b) 106. (a) {d} 172.(d) 205.(d) 238.(c) 271. (¢ 304.(c)
8. () 41. (o 74. (a) 107.(b) f"“‘ 0.(d) 173.(c) 206.(b) 239 .(a) 272. (b 305. (¢
9. (d) 42. (d) 75. (a) 108. fep S\ 141 (a) 174.(d) 207.(c) 240.(d) 273.(a) 306. (a)
10. (¢} 43. (b 76. (d) 109, (@ | 142.(d) 175.(d) 208.(c) 241.(a) 274.(c) 307. ()
11. (o) 44, (o) 77. (a) | . .110.(c) 143.(b) 176. (c) 209.(a) 242.(b) 275. (& 308.(c)
12. (c) 45. (d) 78. (b} {c 1?;1 () 144. (a) 177.(a) 210.() 243.(a) 276.(b) 309. (b
13. (b) 46. (b 12.(a) 145. (c) 178. (a) 211.(d) 244.(b) 277. (b 310.(q)
14. (a) 47. (o) soxgb} N 113.(8) 146.(c) 179.(d) 212.(a) 245.(d) 278.b) 311.(d)
15. (b) 48. (d) y%l\{c T 114.(8) 147.(b) 180. (b) 213.(a) 246.(c) 279.(a) 312.(al
16. (a) 49. (b) ) 115.(d) 148 (d) 181.(h) 214.(d) 247.(d) 280. (a 313.(d)
17. (b) 50. (b) (b) 116.(a) 149.(d) 182. (a) 215.(d) 248.(0) 281.(b) 314. (b
18. (b) 51. ."‘384. (c) 117.(d) 150. (d) 183. (a) 216.(a) 249.(b) 282. (b) 315.(g)
19. (b) 52. ) :} 85. (d) 118.(b) 151.(c) 184.(g) 217.(b) 250.(d) 283.(d) 316.(d)
20. (b) ,;3' (@ > 86. (¢ 119.(b) 152.(b) 185.(c) 218.(d) 251.(c) 284. (| 317. (b
21. (d) 54 (by 87. (d) 120.(a) 153.(b) 186. (b) 219.() 252.(a) 285. (c] 318.(d)
22. () §% (b) 88. (b) 121.(c) 154. (a) 187.(h) 220.(b) 253.(a) 286. (a) 319.(d)
23. (a) 56. (b 89. (o) 122.(b) 155.(d) 188.(c) 221.(¢) 254.(b) 287. (b 320. (b
24. (b) 57. (b 90. (b) 123.(a) 156. (d) 189. (b) 222.(a) 255.(c) 288. (b 321.(d)
25. () 58. () 91. (b) 124.(b) 157.(b) 190. (b) 223.(d) 256.(c) 289. () 322, (d
26. (d) 59. (d) 02. (b) 125.(c) 158.(d) 191. (a) 224 (c) 257.(d) 290.(d) 323. (3
27. (a) 60. (o) 93. (o) 126.(c) 159.(d) 192.(c) 225.(0) 258.(a) 291.(c) 324. (a)
28. (a) 61. (d) 94. (a) 127.(d) 160. (c) 193.(c) 226.(a) 259.(¢) 292.(b) 325.(d)
29, (d) 62. (a) 95. (a) 128.(a) 161.(d) 194. (a) 227.(a) 260.(d) 293.(a 326. (¢
30. (a) 63. (d) 96. (d) 129.(a) 162.(d) 195.(d) 228.(d) 261.(a) 294. () 327.(q)
21. (a) 64. (b 97. (d) 130.(d) 163. (c) 196. (a) 229.(b) 262.(b) 295. (g 328. (al
32. (¢ 65. (b 98. (c 131.(b) 164.(d) 197.(b) 230.(b) 263.(b) 296. (c) 329. (al
33. (¢ 66. (b 99. (h) 132.(d) 165. (c) 198. (b) 231.(a) 264.(a) 297. (b) 330. (b
” 587
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331.(c) 368.(a) 405.(b) 442 .(a) 516. (b) 553.(a) 590.(a) 664. (b)
332.(c) 369.(a) 406.(b) 443.(b) 517. (b 554.(a) 591.(¢) 665.(a)
333.(q) 370.(c) 407.(b) 444 (a) 518.(c) 555.(a) 592.(d) 666. (c)
334.(d) 371.(0) 408.(b) 445.(c) 519.(a) 556.(c) 593.(b) 667.(c)
335.(d) 372.(b) 409.(a) 446.(b) 520.(a) 557.(c) 594.(d) 668. (a)
336.(a) 373.(a) 410.(c) 447 .(a) 521, (a) 558.(c) 595.(c) 669. (d)
337.(a) 374.(0) 411.(b) 448.(c) 522.(c) 559.(d) 996.(a) 670.(a)
338.(c) 375.(h) 412.(c) 449 .(c) 523. (b) 560.(d) 597.(d) 671.(c)
339.(b) 376.(b) 413.(c) 450.(c) 524, (h) 561.(d) 598.(b) 672. (b)
340.(c) 377.(b) 414.(c) 451.(d) 525, (a) 562.(a) 599.(d) 673.(c)
341.(a) 378.(h) 415.(c) 452 .(a) 526. (b) 563.(a) 600. (b) 674.(a)
342.(a) 379.(c) 416.(b) 453.(b) 527.(c) 564.(c) 601.(c) 675.(c)
343.(b) 380.(b) 417.(d) 454.(d) 528, (c) 565.(b) 602.(d) 676.(b)
344.(c) 381.(c) 418.(a) 455.(c) 529, (c) 566.(d) 603.(d) 677. (a)
345.(d) 382.(c) 419.(c) 456.(a) 530.(a) 967.(c) 604.(d) 678.(b)
346.(d) 383.(b) 420.(c) 457.(c) 531.(h) 568.(d) 605.(c) 679. (b)
347.(b) 384.(b) 421.(c) 458.(h) 532.(h) 569.(d) 606.(d) 680.(d)
348.(b) 385.(a) 422.(a) 459.(b) 533.(c) 570.(d) 607.(b) 681. (b
349.(c) 386.(d) 423.(a) 460.(a) 534, (b) S71.(d) 608.(d) | “BaOwC 682.(d)
350.(d) 387.(0) 424.(b) 461.(c) 535.(c) 972.(b) 609.0) | 683.(c)
351 (c) 388 _(c) 425 (d) 462 _(b) 536 (c) 573.(a) 61%?» 684. (c)
352.(a) 389.(b) 426.(c) 463.(d) 537.(a) 574.(c) 611.(c) 4" 685. (a)
353.(c) 390.(d) 427.(c) 464 .(b) 538.(b) 575.(a) sr2.4d 686. (b)
354.(b) 391.(a) 428.(d) 465.(c) 539. (b 576.(b) é{a 687. (b)
355.(b) 392.(a) 429.(b) 466.(c) 540, (d) S77.(b) -(a) 688. (b)
356.(b) 393.(h) 430.(c) 467.(b) 541.(c) 578,@5& 615.(d) 689._(b)
357.(c) 394.(d) 431.(b) 468.(b) 542.(c) 7%; 616.(b) 690. (b)
358.(a) 395.(b) 432.(c) 469.(d) 543.(d) b 617.(c) 691.(d)
359.(d) 396.(c) 433.(c) 470.(c) 544 (d) (d) 618.(a) 692. (d)
360.(b) 397.(d) 434.(b) 471.(c) 545, #9582, (c) 619.(c) 693. (b)
361.(b) 398.(b) 435.(a) 472.(b) 54%§»§\\9§83-{c} 620 (c) 694. (b)
362.(c) 399.(a) 436.(b) 473.(c) 547 fh) J 984.(a) 621.(b) 695. (a)
363.(d) 400.(d) 437.(d) 474 .(c) 8.1d] 585. (b) 622.(a) 696. (a)
364.(b) 401.(d) 438.(a) 475.(a) A Z:E}.(b} 586.(a) 623.(d) 697. (b)
365.(a) 402.(b) 439.(b) 476.(d) . _550.(a) 587.(a) 624.(d) 698. (a)
366.() 403.(c) 440.(b) 477.(c) )_) 551.(a) 588.(a) 625.(d) 699.(a)
367.(b) 404.(b) 441.(a) 478.(a) 552, (b) 589.(a) 626.(d)
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